

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075077	AMBEKAR MASOOD MOHSIN TAHSIN 2022016402453841 (1)Mumbai-(10)	42871 18F	8E	16		42872 14F	8E	12		MEL701 11E	26		MEL702 16E	33		MEL703 18E	38		MEP701 36E	36					Unsuccessful -- --	
		4.00	F	0.00	0.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00	3.00	B	8.00	24.00	-- --
		42874 132E	13E	45		42876 14F	8E	12		42885 138E	10E	48														
		3.00	E	5.00	15.00	3.00	F	0.00	0.00	3.00	E	5.00	15.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
7075078	SOHAIL CHAUS SHAHIN 2020016402260786 (1)Mumbai-(10)	42871 132+	9	41		42872 149+	9+	58		MEL701 10+	20		MEL702 20+	36		MEL703 20+	37		MEP701 40+	40					Successful 22.00 126.00	
		4.00	P	4.00	16.00	3.00	D	6.00	18.00	1.00	P	4.00	4.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	5.73 --
		42874 132+	11+	43		42876 144+	10+	54		42885 132+	8+	40														
		3.00	P	4.00	12.00	3.00	D	6.00	18.00	3.00	P	4.00	12.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075079	KAZI MOHAMMED MUSLIM AHMED ALI - ZINAT KHATOON 2021016402345391 (1)Mumbai-(10)	42871 1---	8E	--		42872 11E	----			MEL701 12E	---		MEL702 17E	35		MEL703 22E	44		MEP701 36E	36					UM 22.00 --	
		4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	3.00	B	8.00	24.00	-- --
		42874 1---	16E	---		42876 10E	--			42885 15E	UM															
		3.00	D	6.00	18.00	3.00	C	7.00	21.00	3.00	F	0.00	UM													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

Remark: RCC

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		Total				Total				Total				Total				Total								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075080	KHAN ABU UBAID ABDUL QAYYUM NUSRAT KHAN 2022016402454094 (1)Mumbai-(10)	42871 16F	4F	20		42872 35E	8E	43		MEL701 11E	26		MEL702 17E	34		MEL703 18E	39		MEP701 36E	36		Unsuccessful -- --				
		4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00	3.00	B	8.00	24.00	-- --
		42874 43E	11E	54		42876 34E	8E	42		42885 45E	11E	56														
		3.00	D	6.00	18.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
7075081	KHAN MOHAMED MAAZ MOHD SOHEL MAIMUNA 2021016402341756 (1)Mumbai-(10)	42871 32+	4F	36		42872 35+	9+	44		MEL701 10+	21		MEL702 20+	35		MEL703 20+	36		MEP701 41+	41		Unsuccessful 22.00 --				
		4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	P	4.00	4.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	-- --
		42874 32+	10+	42		42876 33+	8E	41		42885 44+	10+	54														
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075082	KHAN MOHD NOAMAAN FAROOQ AHMED - RAFIYA BEGUM 2020016402262093 (1)Mumbai-(10)	42871 32E	2F	34		42872 44E	9E	53		MEL701 14E	29		MEL702 16E	32		MEL703 17E	33		MEP701 37E	37		Unsuccessful -- --				
		4.00	F	0.00	0.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	3.00	B	8.00	24.00	-- --
		42874 11F	11E	22		42876 20F	11E	31		42885 55E	10E	65														
		3.00	F	0.00	0.00	3.00	F	0.00	0.00	3.00	C	7.00	21.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7075083	KHAN MOHD USMAN UBEDUR RAHMAN ASMA 2022016402453953 (1)Mumbai-(10)	42871 32+ 4.00 P 4.00 16.00	9+ 9+ 4.00 16.00	41 41 16.00	42872 46+ 3.00 D 3.00 D	9+ 9+ 6.00 18.00	55 55 18.00	MEL701 17+ 1.00 C 1.00 C	30 30 7.00 7.00	MEL702 17+ 1.00 B 1.00 B	36 36 8.00 8.00	MEL703 19+ 1.00 A 1.00 A	38 38 9.00 9.00	MEP701 38+ 3.00 A 3.00 A	38 38 9.00 27.00	Successful 22.00 139.00 6.32 --											
		42874 44+ 3.00 D	12+ 12+ 6.00 18.00	56 56 18.00	42876 42+ 3.00 D 3.00 D	8 8 6.00 18.00	50 50 18.00	42885 43+ 3.00 D 3.00 D	12+ 12+ 6.00 18.00	55 55 18.00						FINAL CGPI -- FINAL GRADE --											
7075084	KHAN NOMAAN ASHFAQUE ZUBAIDA KHAN 2020016402259187 (1)Mumbai-(10)	42871 AA 4.00 F	8E 8E 0.00 0.00	8 8 0.00 0.00	42872 AA 3.00 F	8+ 8+ 0.00 0.00	8 8 0.00 0.00	MEL701 10+ 1.00 P	21 21 4.00 4.00	MEL702 19+ 1.00 B 1.00 B	36 36 8.00 8.00	MEL703 20+ 1.00 B 1.00 B	36 36 8.00 8.00	MEP701 35+ 3.00 B 3.00 B	35 35 8.00 24.00	Unsuccessful 22.00 -- -- --											
		42874 32+ 3.00 P	8+ 8+ 4.00 12.00	40 40 12.00	42876 38+ 3.00 E 3.00 E	9E 9E 5.00 15.00	47 47 15.00	42885 36+ 3.00 E 3.00 E	9+ 9+ 5.00 15.00	45 45 15.00						FINAL CGPI -- FINAL GRADE --											
7075085	MOHAMMED UMAR ABDUL AZIZ KHATRI - NILOFER 2020016402257591 (1)Mumbai-(10)	42871 AA 4.00 F	10E 10E 0.00 0.00	10 10 0.00 0.00	42872 32+ 3.00 P	8+ 8+ 4.00 12.00	40 40 12.00	MEL701 10+ 1.00 P	21 21 4.00 4.00	MEL702 20+ 1.00 B 1.00 B	37 37 8.00 8.00	MEL703 18+ 1.00 C 1.00 C	34 34 7.00 7.00	MEP701 35+ 3.00 B 3.00 B	35 35 8.00 24.00	Unsuccessful 22.00 -- -- --											
		42874 AA 3.00 F	17E 17E 0.00 0.00	17 17 0.00 0.00	42876 AA 3.00 F	8E 8E 0.00 0.00	8 8 0.00 0.00	42885 AA 3.00 F	8 8 0.00 0.00	8 8 0.00 0.00						FINAL CGPI -- FINAL GRADE --											

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering) - B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date: 05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7075086	KUNJR BHAVESH BALASHBH SUREKHA 2021016402345874 (1)Mumbai-(10)	42871 42 4.00 D	9	51	24.00	42872 41 3.00 E	8	49	15.00	MEL701 16 7.00 C	31	7.00	7.00	MEL702 18 1.00 B	35	8.00	8.00	MEL703 17 1.00 O	40	10.00	10.00	MEP701 37 3.00 B	37	8.00	24.00	6.59	--
		42874 40 3.00 D	12	52	18.00	42876 55 3.00 C	9	64	21.00	42885 45 3.00 D	14	6.00	18.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	
7075087	IBRAHIM HUSSAIN MALATH SHEHNAZ 2020016402259237 (1)Mumbai-(10)	42871 33E 4.00 F	6F	39	0.00	42872 38+ 3.00 E	8+	46	15.00	MEL701 10+ 1.00 P	21	4.00	4.00	MEL702 20+ 1.00 B	35	8.00	8.00	MEL703 19+ 1.00 B	35	8.00	8.00	MEP701 33+ 3.00 C	33	7.00	21.00	--	--
		42874 36+ 3.00 P	8E	44	12.00	42876 36+ 3.00 P	8E	44	12.00	42885 37+ 3.00 E	11+	5.00	15.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	
7075088	MOHAMED ZAAFIR ISSAQ SHABANA 2021016402345642 (1)Mumbai-(10)	42871 38 4.00 E	8	46	20.00	42872 32 3.00 P	9	41	12.00	MEL701 14 1.00 D	29	6.00	6.00	MEL702 19 1.00 B	37	8.00	8.00	MEL703 18 1.00 O	41	10.00	10.00	MEP701 38 3.00 A	38	9.00	27.00	6.23	--
		42874 32 3.00 E	14	46	15.00	42876 43 3.00 D	9	52	18.00	42885 48 3.00 C	15	7.00	21.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7075089	PATHAN SHAHNAWAZ SALIM RASHIDA 2022016402456626 (1)Mumbai-(10)	42871 32E	0F	32	42872 36E	10E	46	MEL701 ---	10E	23	MEL702 ---	19E	37	MEL703 ---	18E	38	MEP701 ---	37E	37	Unsuccessful -- --									
		4.00	F	0.00	3.00	E	5.00	15.00	1.00	E	5.00	5.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	3.00	B	8.00	24.00	--	--			
		42874 34E	11E	45	42876 37E	10E	47	42885 55E	8E	63																			
		3.00	E	5.00	3.00	E	5.00	15.00	3.00	C	7.00	21.00																	
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
7075090	HARDIK DHIRENKUMAR PRAJAPATI DURGA 2020016402260531 (1)Mumbai-(10)	42871 32	8	40	42872 39	8+	47	MEL701 ---	10+	22	MEL702 ---	18+	33	MEL703 ---	19+	36	MEP701 ---	33+	33	Successful 22.00 110.00									
		4.00	P	4.00	3.00	E	5.00	15.00	1.00	P	4.00	4.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	C	7.00	21.00	5.00	--			
		42874 32+	8	40	42876 38	8	46	42885 35+	9+	44																			
		3.00	P	4.00	3.00	E	5.00	15.00	3.00	P	4.00	12.00																	
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			
7075091	AYUSH SANJAY RAJGURU SEEMA 2020016402257687 (1)Mumbai-(10)	42871 40	8	48	42872 42	8	50	MEL701 ---	10	28	MEL702 ---	19	38	MEL703 ---	21	44	MEP701 ---	38	38	Successful 22.00 150.00									
		4.00	E	5.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	3.00	A	9.00	27.00	6.82	--			
		42874 32	9	41	42876 49	8	57	42885 68	13	81																			
		3.00	P	4.00	3.00	D	6.00	18.00	3.00	O	10.00	30.00																	
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT				
	Mother Name	Total				CR C*G																								
	PRN.	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI GRADE																				

CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		Total				Total				Total				Total				Total								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	

7075092	REHMANI FAUZAN AHMED SHAMIR AHMED - FEHMIDA	42871	32	8	40	42872	32+	9+	41	MEL701	--	10+	21	MEL702	--	18+	36	MEL703	--	19+	35	MEP701	--	31+	31	Successful	22.00	120.00
	2022016402453825	4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	P	4.00	4.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	C	7.00	21.00	5.45	--	
	(1)Mumbai-(10)	42874	34+	10+	44	42876	49+	9+	58	42885	47+	14+	61															
		3.00	P	4.00	12.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		

7075093	FAIZAN HASAN ZIAUL HASAN SAYYED - SAEEDA BEGUM	42871	34	8	42	42872	33+	8+	41	MEL701	--	12+	24	MEL702	--	18+	33	MEL703	--	20+	36	MEP701	--	30+	30	Successful	22.00	111.00
	2020016402261967	4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	E	5.00	5.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	C	7.00	21.00	5.05	--	
	(1)Mumbai-(10)	42874	32+	9+	41	42876	32+	10	42	42885	38+	13+	51															
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		

7075094	SAYYED MOHAMMAD SAHERAN MOHD AZAD - ZEENAT PARVEEN	42871	36	8+	44	42872	32+	12+	44	MEL701	--	12+	22	MEL702	--	21+	38	MEL703	--	17+	38	MEP701	--	42+	42	Successful	22.00	122.00
	2020016402262232	4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	P	4.00	4.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00	3.00	O	10.00	30.00	5.55	--	
	(1)Mumbai-(10)	42874	33+	9+	42	42876	38+	12+	50	42885	32+	10+	42															
		3.00	P	4.00	12.00	3.00	D	6.00	18.00	3.00	P	4.00	12.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		

/ - FEMALE, # - 0.229A ,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL; NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE																	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G																		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11																									
		Total				Total				Total				Total				Total																									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G																		
7075095	VARAWDEKAR GAURANG VISHVAJIT SNEHAL 2020016402262313 (1)Mumbai-(10)	42871 32	6@2	38	40	42872 8	48	MEL701 10	24	MEL702 16	32	MEL703 21	40	MEP701 36	36	22.00	125.00	4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	E	5.00	5.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	3.00	B	8.00	24.00	5.68	--
		42874 32	8	40	36	42876 9	45	42885 15	14	69									3.00	P	4.00	12.00	3.00	E	5.00	15.00	3.00	C	7.00	21.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																																	
7075096	BHOSALE PRANAY PRAMOD RUPALI 2021016402251556 (2)Dadar-(522)	42871 32+	8+	40	32+	42872 18+	50	MEL701 15+	30	MEL702 18+	36	MEL703 17+	35	MEP701 43+	43	22.00	138.00	4.00	P	4.00	16.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	6.27	--
		42874 33+	12+	45	40	42876 17+	57	42885 42+	12+	54									3.00	E	5.00	15.00	3.00	D	6.00	18.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																																	
7075097	SHARMA RAHUL SANJAY KIRAN 2020016402088946 (2)Dadar-(522)	42871 20F	9+	29	34+	42872 10+	44	MEL701 15+	30	MEL702 22+	42	MEL703 18+	34	MEP701 42+	42	22.00	--	4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	--	--
		42874 38+	13+	51	39+	42876 16+	55	42885 32+	11+	43									3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	P	4.00	12.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7075098	ANSARI MOHAMMED RAZA MANZLOOR AZHARI	42871 40E	8+	48	42872 18F	15+	33	MEL701 ---	12+	27	MEL702 ---	19+	39	MEL703 ---	17+	31	MEP701 ---	41+	41	Unsuccessful	22.00	--					
	2022016402253765	4.00	E	5.00	20.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	--	--
	(2) Dadar- (522)	42875 133+	13+	46	42876 136+	10+	46	42885 134+	9+	43																	
		3.00	E	5.00	15.00	3.00	E	5.00	15.00	3.00	P	4.00	12.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	
7075099	KARKERA KUMARASWAMI HEMANT LAXMI	42871 44	8+	52	42872 133+	18+	51	MEL701 ---	12+	28	MEL702 ---	19+	39	MEL703 ---	16+	31	MEP701 ---	45+	45	Successful	22.00	139.00					
	2021016402259246	4.00	D	6.00	24.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	6.32	--
	(2) Dadar- (522)	42875 135+	11+	46	42876 132+	9+	41	42885 139+	13+	52																	
		3.00	E	5.00	15.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	
7075100	MISTRY MOHAMMED MAAZ SHAKEEL BILQUIS	42871 32	8+	40	42872 132+	19+	51	MEL701 ---	15+	33	MEL702 ---	19+	39	MEL703 ---	14+	30	MEP701 ---	47+	47	Successful	22.00	129.00					
	2022016402253502	4.00	P	4.00	16.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	5.86	--
	(2) Dadar- (522)	42875 134+	15+	49	42876 132+	11+	43	42885 132+	13+	45																	
		3.00	E	5.00	15.00	3.00	P	4.00	12.00	3.00	E	5.00	15.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT					
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11													
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G						
7075101	MOTIWALE SAGAR DEEPAK GEETA 2021016402257785 (2)Dadar-(522)	42871 38	8+	46	40+	18+	58	16+	21+	MEL701 1.00	B	8.00	8.00	MEL702 1.00	O	10.00	10.00	MEL703 1.00	A	9.00	9.00	MEP701 3.00	O	10.00	30.00	6.64	--	22.00	146.00		
		42875 35+	14+	49	37+	13+	50	36+	15+	42885 3.00	D	6.00	18.00	3.00	D	6.00	18.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																					
7075102	NITORE SHUBHAM SANDIP CHITRA 2021016402259207 (2)Dadar-(522)	42871 32	8+	40	40	15+	55	12+	16+	MEL701 1.00	D	6.00	6.00	MEL702 1.00	C	7.00	7.00	MEL703 1.00	B	8.00	8.00	MEP701 3.00	O	10.00	30.00	6.05	--	22.00	133.00		
		42875 41+	13+	54	32+	13+	45	32+	14+	42885 3.00	E	5.00	15.00	3.00	E	5.00	15.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																					
7075103	SHAIKH MOHD AMAAN MOHD ALI PARVEEN 2022016402253684 (2)Dadar-(522)	42871 12F	8+	20	3F	20+	23	12+	15+	MEL701 1.00	D	6.00	6.00	MEL702 1.00	A	9.00	9.00	MEL703 1.00	C	7.00	7.00	MEP701 3.00	O	10.00	30.00	--	--	22.00	--		
		42875 15F	13+	28	AA	11+	11	AA	11+	42885 3.00	F	0.00	0.00	3.00	F	0.00	0.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																					

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G																					

		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7075104	SHAIKH UZAIR ATEEQUE AHMED SHAHEDA BEGUM 2022016402253637 (2) Dadar- (522)	42871 26F	8+	34		42872 46+	9+	55		MEL701 --	11+	26		MEL702 --	19+	39		MEL703 --	17+	31		MEP701 --	45+	45	Unsuccessful 22.00 --		
		4.00	F	0.00	0.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	-- --	
		42875 36+	12+	48		42876 33+	12+	45		42885 42+	10+	52															
		3.00	E	5.00	15.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00														
		Total Credit				22.00				FINAL CGPI				--				FINAL GRADE				--					

7075105	SHIRGAONKAR SAHIL PARVEJ ZAHIRA 2022016402254165 (2) Dadar- (522)	42871 AA	8+	8		42872 38+	13+	51		MEL701 --	16+	35		MEL702 --	22+	43		MEL703 --	19+	33		MEP701 --	41+	41	ABS -- --	
		4.00	F	0.00	0.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	-- --
		42875 49+	15+	64		42876 45+	12+	57		42885 39+	12+	51														
		3.00	C	7.00	21.00	3.00	D	6.00	18.00	3.00	D	6.00	18.00													
		Total Credit				--				FINAL CGPI				--				FINAL GRADE				--				

Remark: PPR

7075106	MENDONCA KEITH OSWALD REENA 2020016402205302 (2) Dadar- (55)	42871 32	10+	42		42872 32+	11+	43		MEL701 --	18+	33		MEL702 --	18+	33		MEL703 --	10+	28		MEP701 --	30+	30	Successful 22.00 129.00	
		4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00	3.00	C	7.00	21.00	5.86 --
		42874 33	8+	41		42876 60+	16+	76		42885 47+	16+	63														
		3.00	P	4.00	12.00	3.00	A	9.00	27.00	3.00	C	7.00	21.00													
		Total Credit				22.00				FINAL CGPI				--				FINAL GRADE				--				

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT CR C*G SGPI GRADE							
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR		GP	C*G					
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11													
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G						
7075107	AREKAR SIDDHANT RAKESH SANGEETA 2020016402203091 (2) Dadar- (55)	42871 36	11+	47	42872 49+	11+	60	MEL701 --	21+	40	MEL702 --	18+	33	MEL703 --	17+	35	MEP701 --	46+	46	22.00	153.00						
		4.00	E	5.00	20.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	6.95	--
		42873 43+	15+	58	42876 44+	13+	57	42885 44+	20+	64																	
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			
7075108	ADITYA NAMADEVA SANGEETA 2020016402090326 (3) Andheri- (524)	42871 17F	8+	25	42872 36+	12+	48	MEL701 --	15+	30	MEL702 --	20+	38	MEL703 --	20+	39	MEP701 --	46+	46	22.00	--						
		4.00	F	0.00	0.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00	3.00	O	10.00	30.00	--	--
		42873 35+	12+	47	42876 32+	8+	40	42885 33+	8+	41																	
		3.00	E	5.00	15.00	3.00	P	4.00	12.00	3.00	P	4.00	12.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			
7075109	RAYEES FAIYAZ SHIKALGAR PARVEEN 2022016402191542 (3) Andheri- (524)	42871 34+	12	46	42872 42+	14+	56	MEL701 --	14+	26	MEL702 --	18+	37	MEL703 --	20+	35	MEP701 --	40+	40	22.00	150.00						
		4.00	E	5.00	20.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	6.82	--
		42873 53+	19+	72	42876 36+	11+	47	42879 54+	10+	64																	
		3.00	B	8.00	24.00	3.00	E	5.00	15.00	3.00	C	7.00	21.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE							
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G								
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11															
		Total				Total				Total				Total				Total															
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7075110	BHAMRA JAGJIT SINGH BALVINDER SINGH - JASWINDER KAUR	42871	33+	AA	33	42872	45+	15+	60	MEL701	--	16+	34	MEL702	--	18+	38	MEL703	--	20+	39	MEP701	--	42+	42	ABS	--	--	--	--	--		
	2021016402088054	4.00	F	0.00	0.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00	3.00	O	10.00	30.00	--	--	--	--	--	--		
	(3)Andheri-(524)	42873	41+	15+	56	42876	32+	8+	40	42885	32+	14+	46																				
		3.00	D	6.00	18.00	3.00	P	4.00	12.00	3.00	E	5.00	15.00																				
		Total Credit --				FINAL CGPI --				FINAL GRADE --																							
7075111	CHAVHAN KRUTIK KOMAL VANDANA	42871	32+	8	40	42872	53	10+	63	MEL701	--	15+	30	MEL702	--	20+	41	MEL703	--	20+	33	MEP701	--	38+	38	Successful	22.00	139.00					
	2021016402086956	4.00	P	4.00	16.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	3.00	A	9.00	27.00	6.32	--	--	--	--	--		
	(3)Andheri-(524)	42873	54+	12+	66	42876	34+	9+	43	42885	48+	11+	59																				
		3.00	C	7.00	21.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00																				
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																							
7075112	CHAWLE MAYUR RAJESH SANGEETA	42871	32	8	40	42872	32+	13+	45	MEL701	--	14+	28	MEL702	--	19+	39	MEL703	--	20+	33	MEP701	--	38+	38	Successful	22.00	122.00					
	2021016402085817	4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00	3.00	A	9.00	27.00	5.55	--	--	--	--	--		
	(3)Andheri-(524)	42873	43+	14+	57	42876	36+	8+	44	42885	32+	10+	42																				
		3.00	D	6.00	18.00	3.00	P	4.00	12.00	3.00	P	4.00	12.00																				
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																							

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075113	ETAM AYUSH SACHIN RUPALI	42871 AA	8E	8	8	42872 37+	19+	56	56	MEL701 --	17+	32	32	MEL702 --	19+	37	37	MEL703 --	20+	33	33	MEP701 --	48+	48	48	Unsuccessful 22.00 --
	2020016402085124	4.00	F	0.00	0.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	-- --
	(3)Andheri-(524)	42873 51+	13+	64	64	42876 46+	14+	60	60	42885 34+	10+	44	44													
		3.00	C	7.00	21.00	3.00	C	7.00	21.00	3.00	P	4.00	12.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075114	KARTIK KUMAR SHARDA	42871 37+	13	50	50	42872 32+	16+	48	48	MEL701 --	17+	34	34	MEL702 --	19+	39	39	MEL703 --	20+	34	34	MEP701 --	38+	38	38	Successful 22.00 125.00
	2021016402138102	4.00	D	6.00	24.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00	3.00	A	9.00	27.00	5.68 --
	(3)Andheri-(524)	42873 32	12+	44	44	42876 35	8+	43	43	42885 32+	10+	42	42													
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	P	4.00	12.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075115	MALI RUDRAKSH DHARMENDRA PRAMODHINI	42871 37+	8	45	45	42872 43+	20+	63	63	MEL701 --	15+	30	30	MEL702 --	20+	38	38	MEL703 --	20+	34	34	MEP701 --	45+	45	45	Successful 22.00 166.00
	2020016402096377	4.00	E	5.00	20.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	7.55 --
	(3)Andheri-(524)	42873 54+	18+	72	72	42876 59+	12+	71	71	42885 60+	13+	73	73													
		3.00	B	8.00	24.00	3.00	B	8.00	24.00	3.00	B	8.00	24.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |

42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT CR C*G SGPI GRADE								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR		GP	C*G						
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11														
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G							
7075116	MHATRE DHRUV NILESH KIRTI	42871	40+	8	48	42872	38+	13+	51	MEL701	---	15+	30	MEL702	---	19+	39	MEL703	---	20+	35	MEP701	---	44+	44	Successful	22.00	137.00
	2020016402093313	4.00	E	5.00	20.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	6.23	--	
	(3)Andheri-(524)	42873	45+	14+	59	42876	32+	11+	43	42885	35+	10+	45															
		3.00	D	6.00	18.00	3.00	P	4.00	12.00	3.00	E	5.00	15.00															
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																				
7075117	SARDAR VIKAS PRAVINCHANDRA RUPLATA	42871	37+	9+	46	42872	AA	14+	14	MEL701	---	20+	40	MEL702	---	20+	41	MEL703	---	21+	43	MEP701	---	39+	39	ABS	--	--
	2020016402100911	4.00	E	5.00	20.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	A	9.00	27.00	--	--	
	(3)Andheri-(524)	42873	35+	16+	51	42876	AA	11+	11	42885	AA	9+	9															
		3.00	D	6.00	18.00	3.00	F	0.00	0.00	3.00	F	0.00	0.00															
		Total Credit --			FINAL CGPI --			FINAL GRADE --																				
7075118	SONWANE PRAMIT SHALIKRAM KANCHAN	42871	25F	8E	33	42872	47+	11+	58	MEL701	---	14+	28	MEL702	---	21+	40	MEL703	---	20+	33	MEP701	---	36+	36	Unsuccessful	22.00	--
	2021016402086964	4.00	F	0.00	0.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	3.00	B	8.00	24.00	--	--	
	(3)Andheri-(524)	42873	39+	13+	52	42876	37+	10+	47	42885	44+	9+	53															
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00															
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																				

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		Total				Total				Total				Total				Total								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075119	GHANEKAR AAYUSH ANANT AAKANKSHA 2021016402137466 (3)Andheri-(524)	42871 32	10	42	42	42872 42	20	62	62	MEL701 ---	17	33	---	MEL702 ---	18	37	---	MEL703 ---	11	27	---	MEP701 ---	40	40	Successful 22.00 142.00	
		4.00	P	4.00	16.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	D	6.00	6.00	3.00	O	10.00	30.00	6.45 --
		42873 40	15	55	46	42876 46	8	54	54	42879 46	13	59														
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075120	AMERKAR SAHIL PRASHANT RUPALI 2019016402519717 (3)Andheri-(524)	42871 19F	8+	27	32+	42872 32+	8+	40	40	MEL701 ---	12+	25	---	MEL702 ---	19+	33	---	MEL703 ---	16+	36	---	MEP701 ---	42+	42	Unsuccessful 22.00 --	
		4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	-- --
		42874 37+	8+	45	36+	42876 36+	8+	44	44	42885 32+	9+	41														
		3.00	E	5.00	15.00	3.00	P	4.00	12.00	3.00	P	4.00	12.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075121	BAROT HARSHIL CHETAN BHAVANA BHAVANA 2021016402131914 (3)Andheri-(524)	42871 34	8	42	47	42872 47	20	67	67	MEL701 ---	15	29	---	MEL702 ---	16	33	---	MEL703 ---	13	28	---	MEP701 ---	40	40	Successful 22.00 161.00	
		4.00	P	4.00	16.00	3.00	C	7.00	21.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00	3.00	O	10.00	30.00	7.32 --
		42874 61	17	78	64	42876 64	8	72	72	42885 58	14	72														
		3.00	A	9.00	27.00	3.00	B	8.00	24.00	3.00	B	8.00	24.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		Total				Total				Total				Total				Total								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075122	CHORGHADDE DARSHAN PARAG PRIYANKA	42871				42872				MEL701				MEL702				MEL703				MEP701				Successful
		33	8		41	35	19		54	--	15	29		--	16	33		--	11	27		--	41	41		22.00 137.00
	2022016402188717																									
	(3)Andheri-(524)	42874				42876				42885																
		37	17		54	51	9		60	34	15	49														
		3.00	D	6.00	18.00	3.00	C	7.00	21.00	3.00	E	5.00	15.00													6.23 --
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075123	DEVKAR AJINKYA VIJAY VINITA	42871				42872				MEL701				MEL702				MEL703				MEP701				Successful
		32+	15		47	47+	14+		61	--	11+	24		--	19+	34		--	20+	35		--	32+	32		22.00 136.00
	2022016402188594																									
	(3)Andheri-(524)	42874				42876				42885																
		36+	12+		48	52+	14+		66	42+	9+	51														
		3.00	E	5.00	15.00	3.00	C	7.00	21.00	3.00	D	6.00	18.00													6.18 --
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075124	GAVIT KISHOR NARAYAN SANDHYA	42871				42872				MEL701				MEL702				MEL703				MEP701				ABS
		AA	8+		8	AA	10+		10	--	10+	20		--	15+	30		--	16+	27		--	35+	35		-- --
	2022016402056421																									
	(3)Andheri-(524)	42874				42876				42885																
		AA	11+		11	AA	8+		8	AA	9+	9														
		3.00	F	0.00	0.00	3.00	F	0.00	0.00	3.00	F	0.00	0.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT							
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G				
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11													
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G						
7075125	JADHAV BALASAHEB DNYANDEV MEENA 2019016402519876 (3)Andheri-(524)	42871 38	10+	48	42872 32+	12+	44	MEL701 19+	14+	33	MEL702 21+	44	MEL703 21+	43	MEP701 38+	38	Successful 22.00	131.00									
		4.00	E	5.00	20.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	A	9.00	27.00	5.95	--
		42874 32+	11+	43	42876 44+	16+	60	42885 36+	8+	44																	
		3.00	P	4.00	12.00	3.00	C	7.00	21.00	3.00	P	4.00	12.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			
7075126	JADHAV DEVANG RAJESH KIRAN 2021016402134441 (3)Andheri-(524)	42871 37	10	47	42872 40	19	59	MEL701 13	15	28	MEL702 16	33	MEL703 13	29	MEP701 41	41	Successful 22.00	144.00									
		4.00	E	5.00	20.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	3.00	O	10.00	30.00	6.55	--				
		42874 43	15	58	42876 43	9	52	42885 54	15	69																	
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			
7075127	KAHAR AMAN RAJESHBHAI SUNITA 2022016402189021 (3)Andheri-(524)	42871 19F	8E	27	42872 42E	19E	61	MEL701 12E	13E	25	MEL702 16E	33	MEL703 11E	25	MEP701 40E	40	Unsuccessful --	--									
		4.00	F	0.00	0.00	3.00	C	7.00	21.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	3.00	O	10.00	30.00	--	--				
		42874 34E	13E	47	42876 46E	8E	54	42885 59E	12E	71																	
		3.00	E	5.00	15.00	3.00	D	6.00	18.00	3.00	B	8.00	24.00														
		Total Credit --			FINAL CGPI --			FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075128	KHANVILKAR MANDAR PRAVIN PRAJKTA 2021016402134456 (3)Andheri-(524)	42871 33	8	41	159	42872 20	79	14	28	MEL701 14	19	37	MEL702 19	15	MEL703 15	27	42	42	MEP701 42	22.00	156.00	7.09	--			
		4.00	P	4.00	16.00	3.00	A	9.00	27.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00	1.00	D	6.00	6.00	3.00	O	10.00	30.00	
		42874 37	18	55	151	42876 8	59	62	14	76	42885 14	76														
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	A	9.00	27.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075129	KORE NIMESH SHEKHAR NUTAN 2022016402192085 (3)Andheri-(524)	42871 4F	8E	12	153E	42872 16E	69	16E	31	MEL701 15E	17E	33	MEL702 17E	30	MEL703 16E	30	40E	40	MEP701 40E	40	40	--	--			
		4.00	F	0.00	0.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	
		42874 45E	14E	59	143E	42876 9E	52	48E	13E	61	42885 13E	61														
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
7075130	LAKADE SUJIT VILAS SAVITA 2022016402191534 (3)Andheri-(524)	42871 39	10	49	142	42872 19	61	14	27	MEL701 13	17	33	MEL702 17	15	MEL703 15	27	40	40	MEP701 40	22.00	153.00	6.95	--			
		4.00	E	5.00	20.00	3.00	C	7.00	21.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	3.00	O	10.00	30.00	
		42874 53	17	70	145	42876 9	54	52	14	66	42885 14	66														
		3.00	B	8.00	24.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT CR C*G SGPI GRADE							
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR		GP	C*G					
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11													
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G						
7075131	MHATRE KAUSTUBH JITENDRA NILIMA MHATRE	42871	34	10	44	42872	46	17	63	MEL701	14	27	MEL702	16	33	MEL703	11	27	MEP701	40	40	Successful 22.00 146.00					
	2021016402134472	4.00	P	4.00	16.00	3.00	C	7.00	21.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00	3.00	O	10.00	30.00	6.64	--
	(3)Andheri-(524)	42874	43	12	55	42876	53	8	61	42885	59	10	69														
		3.00	D	6.00	18.00	3.00	C	7.00	21.00	3.00	C	7.00	21.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			
7075132	MORE GAURAV MILIND VRISHALI	42871	AA	8+	8	42872	32+	9+	41	MEL701	10+	20	MEL702	16+	31	MEL703	15+	26	MEP701	43+	43	ABS -- --					
	2022016402056413	4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	P	4.00	4.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00	3.00	O	10.00	30.00	--	--
	(3)Andheri-(524)	42874	45+	13+	58	42876	AA	9+	9	42885	32+	12+	44														
		3.00	D	6.00	18.00	3.00	F	0.00	0.00	3.00	P	4.00	12.00														
		Total Credit --			FINAL CGPI --			FINAL GRADE --																			
7075133	NAIKAWADI VISHAL ANANDA RADHIKA	42871	39	8	47	42872	56	14	70	MEL701	16	33	MEL702	16	33	MEL703	11	26	MEP701	41	41	Successful 22.00 145.00					
	2022016402191581	4.00	E	5.00	20.00	3.00	B	8.00	24.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00	3.00	O	10.00	30.00	6.59	--
	(3)Andheri-(524)	42874	44	11	55	42876	39	8	47	42885	46	10	56														
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT	NAME OF THE CANDIDATE	PAPER 1	PAPER 2	PAPER 3	PAPER 4	PAPER 5	PAPER 6	RESULT
------	-----------------------	---------	---------	---------	---------	---------	---------	--------

NO.	Mother Name PRN.	Total			Total			Total			Total			Total			Total			CR C*G	SGPI GRADE						
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR			GP	C*G				
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11													
		Total			Total			Total			Total			Total													
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G						
7075134	PAWAR HRISHIKESH SUNIL ARCHANA	42871				42872				MEL701				MEL702				MEL703				MEP701				Successful	
		32	8		40	42	19		61	--	14		29	--	16		33	--	10		24	--	40		40	22.00	139.00
	2022016402188393	4.00	P	4.00	16.00	3.00	C	7.00	21.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	E	5.00	5.00	3.00	O	10.00	30.00	6.32	--
	(3)Andheri-(524)	42874				42876				42885																	
		34	16		50	44	9		53	44	15		59														
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	D	6.00	18.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			
7075135	YADAV AMAN HARILAL PHOOLADEVI	42871				42872				MEL701				MEL702				MEL703				MEP701				Successful	
		33+	13		46	44+	17+		61	--	14+		28	--	19+		34	--	21+		36	--	32+		32	22.00	131.00
	2022016402191364	4.00	E	5.00	20.00	3.00	C	7.00	21.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	C	7.00	21.00	5.95	--
	(3)Andheri-(524)	42874				42876				42885																	
		32+	11+		43	46+	8+		54	48+	11+		59														
		3.00	P	4.00	12.00	3.00	D	6.00	18.00	3.00	D	6.00	18.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			
7075136	DAIT GITESH MAHESH TULSI	42871				42872				MEL701				MEL702				MEL703				MEP701				Successful	
		34+	12		46	34+	16+		50	--	15+		25	--	19+		34	--	14+		32	--	41+		41	22.00	136.00
	2022016402188644	4.00	E	5.00	20.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	6.18	--
	(3)Andheri-(524)	42874				42876				42879																	
		44+	10+		54	35+	13+		48	35+	14+		49														
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	E	5.00	15.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name	PAPER 1 Total	PAPER 2 Total	PAPER 3 Total	PAPER 4 Total	PAPER 5 Total	PAPER 6 Total	RESULT CR C*G
----------	--------------------------------------	------------------	------------------	------------------	------------------	------------------	------------------	------------------

PRN.	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI	GRADE					
CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11																		
	Total				Total				Total				Total				Total																		
	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI <td>GRADE</td>	GRADE	
7075137 MOREY SIDDHANT RAJESH SHILPA	42871				42872				MEL701				MEL702				MEL703				MEP701													Successful	
	32+	11		43	34+	17+		51	--	13+	30		--	21+	40		--	12+	30		--	46+	46											22.00	130.00
2021016402136641	4.00	P	4.00	16.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00									5.91	--	
(3)Andheri-(524)	42874				42876				42879																										
	32+	11+		43	32+	9+		41	36+	14+	50																								
	3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00																							
	Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																										
7075138 NAIKWADI VIVEK NITIN SUSHMA	42871				42872				MEL701				MEL702				MEL703				MEP701													Successful	
	40+	12		52	40+	16+		56	--	15+	32		--	22+	42		--	21+	40		--	46+	46											22.00	162.00
2022016402191291	4.00	D	6.00	24.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00									7.36	--	
(3)Andheri-(524)	42874				42876				42879																										
	48+	15+		63	54+	8+		62	54+	14+	68																								
	3.00	C	7.00	21.00	3.00	C	7.00	21.00	3.00	C	7.00	21.00																							
	Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																										
7075139 VYAVAHARE PRATIK PRAKASH VARSHA	42871				42872				MEL701				MEL702				MEL703				MEP701													Unsuccessful	
	43+	9E		52	42+	10+		52	--	12+	25		--	22+	45		--	16+	34		--	44+	44											22.00	--
2022016402191267	4.00	D	6.00	24.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00									--	--	
(3)Andheri-(524)	42874				42876				42879																										
	65+	10+		75	36+	AA		36	51+	14+	65																								
	3.00	A	9.00	27.00	3.00	F	0.00	0.00	3.00	C	7.00	21.00																							
	Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																										

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT									
PRN.	Mother Name	Total				CR C*G																													
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI	GRADE																				

CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11										
		Total				Total				Total				Total				Total										
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G			
7075140	PILANKAR AMEY RAMCHANDRA ROHINI	42871	25*	12	37	42872	33	12	45	MEL701	--	12	24	MEL702	--	14	29	MEL703	--	14	29	MEP701	--	33	33	Successful	22.00	120.00
	2019016401225026	4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	E	5.00	5.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	3.00	C	7.00	21.00	5.45	--	
	(4)Ghatkopar-(688)	42875	43	11	54	42877	40	8	48	42884	40	11	51															
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		
7075141	KHAN MOHAMMAD SAQUIB MEHBOOB SHUMAILA	42871	44	13	57	42872	56	16	72	MEL701	--	13	25	MEL702	--	18	37	MEL703	--	19	38	MEP701	--	38	38	Successful	22.00	164.00
	2022016402267556	4.00	D	6.00	24.00	3.00	B	8.00	24.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00	7.45	--	
	(4)Ghatkopar-(688)	42875	54	15	69	42877	56	14	70	42887	55	12	67															
		3.00	C	7.00	21.00	3.00	B	8.00	24.00	3.00	C	7.00	21.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		
7075142	NAGORI MOHAMMED HASSAAN ABDUL WAHEED - MEHRUNNISA	42871	35	9+	44	42872	49+	17+	66	MEL701	--	16+	33	MEL702	--	20+	36	MEL703	--	19+	35	MEP701	--	37+	37	Successful	22.00	135.00
	2022016402267726	4.00	P	4.00	16.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	B	8.00	24.00	6.14	--	
	(4)Ghatkopar-(688)	42875	42+	13+	55	42877	34+	11+	45	42887	41+	10+	51															
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT					
		Total				Total				Total				Total				Total				CR C*G									
		CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI	GRADE																				

CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11				Total	Total				
	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G			CR	GR	GP	C*G
7075143 SUFYAN WAJID SAYED SHEHNAZ	42871	35	10+	45	42872	150+	15+	65	MEL701	12+	10+	22	MEL702	15+	29	29	MEL703	20+	30	30	MEP701	37+	37	37	22.00	136.00
2022016402268977	4.00	E	5.00	20.00	3.00	C	7.00	21.00	1.00	P	4.00	4.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	3.00	B	8.00	24.00	6.18	--
(4) Ghatkopar-(688)	42875	32+	16+	48	42877	140+	17+	57	42887	152+	13+	65														
	3.00	E	5.00	15.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00														
	Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	
7075144 SAYYED SHARIK NASIR FARHAT	42871	37	10+	47	42872	132	15+	47	MEL701	18+	18+	36	MEL702	22+	45	45	MEL703	17+	35	35	MEP701	33+	33	33	22.00	130.00
2021016402324994	4.00	E	5.00	20.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00	3.00	C	7.00	21.00	5.91	--
(4) Ghatkopar-(688)	42875	42+	10+	52	42877	138+	13+	51	42887	132	10+	42														
	3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	P	4.00	12.00														
	Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	
7075145 VAKTAPURIA MOHD RAIYAN TEHSEEN - FEHMIDA	42871	39	9+	48	42872	132+	15+	47	MEL701	11+	10+	21	MEL702	17+	30	30	MEL703	17+	34	34	MEP701	41+	41	41	22.00	128.00
2022016402267595	4.00	E	5.00	20.00	3.00	E	5.00	15.00	1.00	P	4.00	4.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	5.82	--
(4) Ghatkopar-(688)	42875	32	9+	41	42877	143+	10+	53	42887	138+	9+	47														
	3.00	P	4.00	12.00	3.00	D	6.00	18.00	3.00	E	5.00	15.00														
	Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A ,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		CR	GR	GP
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											

7075155	SUJAY RAJENDRA KATHOLE RADHIKA	42871 34 14 48	42872 45 14 59	MEL701 --- 14 32	MEL702 --- 18 37	MEL703 --- 19 38	MEP701 --- 38 38	Successful 22.00 140.00
2021016402324777		4.00 E 5.00 20.00	3.00 D 6.00 18.00	1.00 C 7.00 7.00	1.00 B 8.00 8.00	1.00 A 9.00 9.00	3.00 A 9.00 27.00	6.36 --
(4)Ghatkopar-(688)		42875 44 17 61	42877 32 12 44	42881 37 17 54				
		3.00 C 7.00 21.00	3.00 P 4.00 12.00	3.00 D 6.00 18.00				
		Total Credit 22.00		FINAL CGPI --	FINAL GRADE --			

7075156	KHAN LUQMAN NAZRUL HASAN SUMAIYA	42871 25* 10 35	42872 53 16 69	MEL701 --- 12 26	MEL702 --- 14 29	MEL703 --- 14 29	MEP701 --- 33 33	Successful 22.00 118.00
2021016402322724		4.00 P 4.00 16.00	3.00 C 7.00 21.00	1.00 D 6.00 6.00	1.00 D 6.00 6.00	1.00 D 6.00 6.00	3.00 C 7.00 21.00	5.36 --
(4)Ghatkopar-(688)		42875 32 11 43	42877 32 12 44	42881 36 17 53				
		3.00 P 4.00 12.00	3.00 P 4.00 12.00	3.00 D 6.00 18.00				
		Total Credit 22.00		FINAL CGPI --	FINAL GRADE --			

7075157	SEAL ROHAN MAKHAN SUSHILA MAKHAN SEAL	42871 40 14 54	42872 46 14 60	MEL701 --- 14 28	MEL702 --- 18 37	MEL703 --- 19 38	MEP701 --- 36 36	Successful 22.00 137.00
2021016402325003		4.00 D 6.00 24.00	3.00 C 7.00 21.00	1.00 D 6.00 6.00	1.00 B 8.00 8.00	1.00 A 9.00 9.00	3.00 B 8.00 24.00	6.23 --
(4)Ghatkopar-(688)		42875 32 11 43	42877 34 12 46	42881 34 16 50				
		3.00 P 4.00 12.00	3.00 E 5.00 15.00	3.00 D 6.00 18.00				
		Total Credit 22.00		FINAL CGPI --	FINAL GRADE --			

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT								
PRN.	Mother Name	Total				Total				Total				Total				Total				Total				CR C*G								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI GRADE
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11																
		Total				Total				Total				Total				Total																
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	

7075158	KADAM MANISH MANGESH	42871	42872	MEL701	MEL702	MEL703	MEP701	Unsuccessful
---------	----------------------	-------	-------	--------	--------	--------	--------	--------------

USHA	14F	8+	22	43+	13+	56	--	12+	26	--	20+	39	--	18+	37	--	28+	28		22.00	--							
2018016400924575	4.00	F	0.00	0.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00		--	--	
(5) Thane- (17)	42875			42878			42885																					
	46+	8+	54	33+	13+	46	48+	9+	57																			
	3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00																
	Total Credit			22.00			FINAL CGPI			--			FINAL GRADE			--												
7075159 / MHATRE SEJAL JITENDRA HEMANGI	42871			42872			MEL701			MEL702			MEL703			MEP701												
2019016402301041	37	8+	45	32+	8+	40	--	19+	37	--	19+	39	--	15+	34	--	38+	38		22.00	119.00							
(5) Thane- (17)	42874			42878			42886																					
	32	12+	44	32+	12+	44	32+	11+	43																			
	3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	P	4.00	12.00																
	Total Credit			22.00			FINAL CGPI			--			FINAL GRADE			--												
7075160 SAURABH RAMESH ADELKAR MAYA	42871			42872			MEL701			MEL702			MEL703			MEP701												
2020016402001341	18F	8E	26	32E	9E	41	--	11E	23	--	18E	36	--	18E	36	--	30E	30		--	--							
(5) Thane- (17)	42875			42876			42885																					
	32E	13E	45	32E	16E	48	32E	17E	49																			
	3.00	E	5.00	15.00	3.00	E	5.00	15.00	3.00	E	5.00	15.00																
	Total Credit			--			FINAL CGPI			--			FINAL GRADE			--												

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*:G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 ac:sum of credit points GPA: acg /ac
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering) - B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT				
	Mother Name	Total				Total				Total				Total				Total				Total				CR C*G				
	PRN.	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI GRADE
	CENTRE-COLLEGE	Total				Total				Total				Total				Total				Total								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075161	BORAWADKAR TUSHAR PRAKASH PADMA	42	9	51	38+	13+	51	--	14+	30	--	18+	39	--	19+	37	--	40+	40		22.00	153.00								

2022016402346832		4.00 D	6.00	24.00		3.00 D	6.00	18.00		--	16+		--	21+		--	18+		3.00 O	10.00	30.00		6.95	--	
(5)Thane-(17)		42875				42876				42885															
		139+	16+	55		149+	11+	60		137+	15+	52													
		3.00 D	6.00	18.00		3.00 C	7.00	21.00		3.00 D	6.00	18.00													
		Total Credit				FINAL CGPI				FINAL GRADE															
7075162	GAIKWAD ADITYA VIJAY SEEMA		42871			42872				MEL701				MEL702					MEL703				MEP701	Unsuccessful	
			17F	8E	15		145E	10E	55		--	11E	24		--	17E	34		--	19E	32		--	31E	31
										--	13E				--	17E			--	13E					
2020016401997731			4.00 F	0.00	0.00		3.00 D	6.00	18.00		1.00 E	5.00	5.00		1.00 C	7.00	7.00		1.00 C	7.00	7.00		3.00 C	7.00	21.00
(5)Thane-(17)			42875			42876				42885															
			148E	10E	58		142E	14E	56		132E	13E	45												
			3.00 D	6.00	18.00		3.00 D	6.00	18.00		3.00 E	5.00	15.00												
			Total Credit				FINAL CGPI				FINAL GRADE														
7075163	GAIKWAD AVINASH VIJAY SEEMA		42871			42872				MEL701				MEL702					MEL703				MEP701	Unsuccessful	
			110F	8E	18		134E	14E	48		--	11E	24		--	19E	38		--	18E	31		--	30E	30
										--	13E				--	19E			--	13E					
2020016401997785			4.00 F	0.00	0.00		3.00 E	5.00	15.00		1.00 E	5.00	5.00		1.00 A	9.00	9.00		1.00 C	7.00	7.00		3.00 C	7.00	21.00
(5)Thane-(17)			42875			42876				42885															
			133E	14E	47		144E	18E	62		136E	17E	53												
			3.00 E	5.00	15.00		3.00 C	7.00	21.00		3.00 D	6.00	18.00												
			Total Credit				FINAL CGPI				FINAL GRADE														

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.29

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT		
PRN.	Mother Name	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G	SGPI GRADE
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11										
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G			
7075164	SAHILSUNILGAIKWAD SMITA		42871			42872				MEL701				MEL702					MEL703				MEP701	Unsuccessful				
			15F	8+	13		17F	9+	16		--	13+	32		--	22+	44		--	19+	37		--	34+	34		22.00	--
										--	19+				--	22+			--	18+								

2020016401997793	4.00 F 0.00 0.00 3.00 F 0.00 0.00 1.00 C 7.00 7.00 1.00 O 10.00 10.00 1.00 B 8.00 8.00 3.00 C 7.00 21.00 -- --
(5) Thane- (17)	42875 42876 42885 17F 13+ 30 1F 13+ 14 5F 9+ 14 3.00 F 0.00 0.00 3.00 F 0.00 0.00 3.00 F 0.00 0.00 Total Credit 22.00 FINAL CGPI -- FINAL GRADE --
7075165 JADHAV YASH VASANT MANGALA	42871 42872 MEL701 MEL702 MEL703 MEP701 Unsuccessful 32+ 9E 41 AA 9+ 9 -- 11E 26 -- 19+ 37 -- 17+ 34 -- 33+ 33 22.00 -- 3.00 F 0.00 0.00 3.00 F 0.00 0.00 1.00 D 6.00 6.00 1.00 B 8.00 8.00 1.00 C 7.00 7.00 3.00 C 7.00 21.00 -- --
2021016402304781	4.00 P 4.00 16.00 3.00 F 0.00 0.00 1.00 D 6.00 6.00 1.00 B 8.00 8.00 1.00 C 7.00 7.00 3.00 C 7.00 21.00 -- --
(5) Thane- (17)	42875 42876 42885 32+ 14+ 46 34+ 16+ 50 32+ 9+ 41 3.00 E 5.00 15.00 3.00 D 6.00 18.00 3.00 P 4.00 12.00 Total Credit 22.00 FINAL CGPI -- FINAL GRADE --
7075166 KADAM YASHRAJ PRAVIN PRERANA	42871 42872 MEL701 MEL702 MEL703 MEP701 Unsuccessful 35E 8E 43 17F 10E 27 -- 11E 23 -- 16E 32 -- 18E 36 -- 31E 31 -- -- 4.00 P 4.00 16.00 3.00 F 0.00 0.00 1.00 E 5.00 5.00 1.00 C 7.00 7.00 1.00 B 8.00 8.00 3.00 C 7.00 21.00 -- --
2021016402303731	4.00 P 4.00 16.00 3.00 F 0.00 0.00 1.00 E 5.00 5.00 1.00 C 7.00 7.00 1.00 B 8.00 8.00 3.00 C 7.00 21.00 -- --
(5) Thane- (17)	42875 42876 42885 32E 10E 42 16F 14E 30 35E 15E 50 3.00 P 4.00 12.00 3.00 F 0.00 0.00 3.00 D 6.00 18.00 Total Credit -- FINAL CGPI -- FINAL GRADE --

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.30

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT				
	Mother Name	Total				Total				Total				Total				Total				Total				CR C*G				
	PRN.	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI GRADE
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11												
		Total				Total				Total				Total				Total												
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	

7075167 KAMBLE AMIT TULSHIRAM RESHMA	42871 42872 MEL701 MEL702 MEL703 MEP701 Successful 35+ 8 43 34+ 13+ 47 -- 12 27 -- 19+ 37 -- 19+ 37 -- 31+ 31 22.00 131.00 3.00 F 0.00 0.00 3.00 E 5.00 15.00 1.00 D 6.00 6.00 1.00 B 8.00 8.00 1.00 B 8.00 8.00 3.00 C 7.00 21.00 5.95 --
2022016402346205	4.00 P 4.00 16.00 3.00 E 5.00 15.00 1.00 D 6.00 6.00 1.00 B 8.00 8.00 1.00 B 8.00 8.00 3.00 C 7.00 21.00 5.95 --

		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	
7075183	SANGRAM BHAUSAHEB DUBAL SEETA	42871	9+	60	42872	11+	61	MEL701	20+	39	MEL702	22+	43	MEL703	20+	40	MEP701	40+	40	Successful	22.00	162.00					
	2021016402103292	4.00	C	7.00	28.00	3.00	C	7.00	21.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	7.36	--
	(5) Thane- (237)	42874	15+	56	42876	12+	48	42885	10+	63																	
		41+	15+	56	36+	12+	48	53+	10+	63																	
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	C	7.00	21.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	

7075184	GIRKAR SARTHAK SUNIL SAYALI	42871	8	50	42872	11	61	MEL701	15	31	MEL702	20	40	MEL703	18	37	MEP701	36	36	Successful	22.00	157.00					
	2022016402247103	4.00	D	6.00	24.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00	3.00	B	8.00	24.00	7.14	--
	(5) Thane- (237)	42874	10	58	42876	11	65	42885	14	71																	
		48	10	58	54	11	65	57	14	71																	
		3.00	D	6.00	18.00	3.00	C	7.00	21.00	3.00	B	8.00	24.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.36

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT				
Mother Name	PRN.	Total				Total				Total				Total				Total				Total				CR C*G				
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI GRADE
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11												
		Total				Total				Total				Total				Total												
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075185	ADEELSHA AMIRSHA INAMDAR ANISA	42871	8+	8	42872	11+	44	MEL701	14+	27	MEL702	18+	34	MEL703	20+	35	MEP701	33+	33	ABS	--	--								
	2021016402130621	4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	C	7.00	21.00	--	--			
	(5) Thane- (237)	42874	9+	42	42876	10+	47	42885	12+	48																				
		33+	9+	42	37+	10+	47	36+	12+	48																				
		3.00	P	4.00	12.00	3.00	E	5.00	15.00	3.00	E	5.00	15.00																	
		Total Credit --				FINAL CGPI --				FINAL GRADE --																				

2021016402130106	4.00 F 0.00 0.00 3.00 E 5.00 15.00 1.00 D 6.00 6.00 1.00 B 8.00 8.00 1.00 O 10.00 10.00 3.00 B 8.00 24.00 -- --
(5) Thane- (237)	42874 42876 42885 36E 10E 46 33E 11E 44 68E 10E 78 3.00 E 5.00 15.00 3.00 P 4.00 12.00 3.00 A 9.00 27.00 Total Credit -- FINAL CGPI -- FINAL GRADE --
7075199 PATIL AVISHKAR JAYWANT USHA	42871 42872 MEL701 MEL702 MEL703 MEP701 Successful 46 11 57 32 10 42 -- 13 27 -- 19 38 -- 17 35 -- 36 36 22.00 146.00 3.00 D 6.00 24.00 3.00 P 4.00 12.00 1.00 D 6.00 6.00 1.00 A 9.00 9.00 1.00 B 8.00 8.00 3.00 B 8.00 24.00 6.64 --
2022016402232131 (5) Thane- (237)	42874 42876 42885 43 12 55 41 11 52 66 11 77 3.00 D 6.00 18.00 3.00 D 6.00 18.00 3.00 A 9.00 27.00 Total Credit 22.00 FINAL CGPI -- FINAL GRADE --
/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL; NULL-NULL & VOID, G:Grade C*:G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668 aC:sum of credit points GPA: aCG /aC MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100 GRADE : F P E D C B A O GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00	

University of Mumbai, Mumbai
OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering) - B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT				
		Total				Total				Total				Total				Total				Total				CR C*G				
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI GRADE
7075200	PATIL HARSHAL ANILKUMAR BHARATI	42871 42872 MEL701 MEL702 MEL703 MEP701 Unsuccessful 18F 9E 27 41E 13+ 54 -- 14+ 27 -- 18+ 30 -- 20+ 35 -- 29+ 29 22.00 --																												
2021016402119043	(5) Thane- (237)	4.00 F 0.00 0.00 3.00 D 6.00 18.00 1.00 D 6.00 6.00 1.00 C 7.00 7.00 1.00 B 8.00 8.00 3.00 D 6.00 18.00 -- --																												
		42874 42876 42885 32+ 9+ 41 32+ 10+ 42 32+ 11+ 43 3.00 P 4.00 12.00 3.00 P 4.00 12.00 3.00 P 4.00 12.00 Total Credit 22.00 FINAL CGPI -- FINAL GRADE --																												
7075201	PATIL SRUJAL MANOJ VRUSHALI MANOJ PATIL	42871 42872 MEL701 MEL702 MEL703 MEP701 Unsuccessful 39E 8E 47 32E 4F 36 -- 14E 29 -- 18E 37 -- 17E 35 -- 37E 37 -- --																												
2022016402230116	(5) Thane- (237)	4.00 E 5.00 20.00 3.00 F 0.00 0.00 1.00 D 6.00 6.00 1.00 B 8.00 8.00 1.00 B 8.00 8.00 3.00 B 8.00 24.00 -- --																												

(5)Thane-(237)

42874	42876	42885			
33E 9E 42	40E 13E 53	59E 11E 70			
3.00 P 4.00 12.00	3.00 D 6.00 18.00	3.00 B 8.00 24.00			
Total Credit --		FINAL CGPI --	FINAL GRADE --		

7075202 PATIL YUGAL KESHAV SHOBHA

42871	42872	MEL701	MEL702	MEL703	MEP701	Successful
34 10 44	45 11 56	-- 14 29	-- 20 40	-- 18 37	-- 40 40	22.00 133.00
		-- 15	-- 20	-- 19		
4.00 P 4.00 16.00	3.00 D 6.00 18.00	1.00 D 6.00 6.00	1.00 O 10.00 10.00	1.00 B 8.00 8.00	3.00 O 10.00 30.00	6.05 --

(5)Thane-(237)

42874	42876	42885			
32 10 42	38 13 51	28* 13 41			
3.00 P 4.00 12.00	3.00 D 6.00 18.00	3.00 E 5.00 15.00			
Total Credit 22.00		FINAL CGPI --	FINAL GRADE --		

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points äCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 äC:sum of credit points GPA: äCG /äC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G		CR																				

7075203	DIVYANK KRISHNA PAWAR RADHIKA	42871	42872	MEL701	MEL702	MEL703	MEP701	Unsuccessful
		27F 9E 36	41E 12E 53	-- 14E 29	-- 20E 40	-- 18E 37	-- 35E 35	-- --
				-- 15E	-- 20E	-- 19E		
		4.00 F 0.00 0.00	3.00 D 6.00 18.00	1.00 D 6.00 6.00	1.00 O 10.00 10.00	1.00 B 8.00 8.00	3.00 B 8.00 24.00	-- --
(5)Thane-(237)		42874	42876	42885				
		22F 11E 33	16F 9E 25	43E 10E 53				
		3.00 F 0.00 0.00	3.00 F 0.00 0.00	3.00 D 6.00 18.00				
		Total Credit --		FINAL CGPI --	FINAL GRADE --			

7075204	JYOTIRADITYA PRAKASH PAWAR NILAM	42871	42872	MEL701	MEL702	MEL703	MEP701	Unsuccessful
		15F 8+ 23	35+ 11+ 46	-- 13+ 26	-- 19+ 33	-- 20+ 35	-- 28+ 28	22.00 --
				-- 13+	-- 14+	-- 15+		
		4.00 F 0.00 0.00	3.00 E 5.00 15.00	1.00 D 6.00 6.00	1.00 C 7.00 7.00	1.00 B 8.00 8.00	3.00 D 6.00 18.00	-- --

7075211	ASHISH BANI SINGH SUNITA SINGH	42871 32 8 40	42872 38+ 9+ 47	MEL701 14+ 27	MEL702 13+ 12+	MEL703 18+ 30	MEL703 15+ 20+ 35	MEP701 26+ 26	Successful 22.00 112.00
2020016402131886		4.00 P 4.00 16.00	3.00 E 5.00 15.00	1.00 D 6.00 6.00	1.00 C 7.00 7.00	1.00 B 8.00 8.00	3.00 D 6.00 18.00	5.09 --	
(5) Thane- (237)		42874 32+ 8+ 40	42876 36 10 46	42885 40+ 8+ 48					
		3.00 P 4.00 12.00	3.00 E 5.00 15.00	3.00 E 5.00 15.00					
		Total Credit 22.00	FINAL CGPI --	FINAL GRADE --					

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		CR
7075212	SOLANKI PRANAV KAUSHIK VIJAYAA	42871 32 8 40	42872 40 8 48	MEL701 14 29	MEL702 19 37	MEL703 18 37	MEP701 36 36	Successful 22.00 134.00																			
2022016402232107		4.00 P 4.00 16.00	3.00 E 5.00 15.00	1.00 D 6.00 6.00	1.00 B 8.00 8.00	1.00 B 8.00 8.00	3.00 B 8.00 24.00	6.09 --																			
(5) Thane- (237)		42874 32 12 44	42876 44 12 56	42885 68 11 79																							
		3.00 P 4.00 12.00	3.00 D 6.00 18.00	3.00 A 9.00 27.00																							
		Total Credit 22.00	FINAL CGPI --	FINAL GRADE --																							

7075213	SURYAVANSHI PRANAV BALWANT MANISHA	42871 AA 8+ 8	42872 43+ 9+ 52	MEL701 15+ 28	MEL702 18+ 34	MEL703 19+ 37	MEP701 34+ 34	ABS -- --
2020016402131155		4.00 F 0.00 0.00	3.00 D 6.00 18.00	1.00 D 6.00 6.00	1.00 C 7.00 7.00	1.00 B 8.00 8.00	3.00 C 7.00 21.00	-- --
(5) Thane- (237)		42874 32+ 12+ 44	42876 32+ 12+ 44	42885 32+ 11+ 43				

		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --					
7075217	PATIL YATHARTH PRASHANT SULABHA	42871	42872	MEL701	MEL702	MEL703	MEP701					Unsuccessful	
		24F 9+ 33	46+ 14+ 60	-- 14+ 31	-- 16+ 28	-- 19+ 36	-- 35+ 35					22.00 --	
	2017016402542567	4.00 F 0.00 0.00	3.00 C 7.00 21.00	1.00 C 7.00 7.00	1.00 D 6.00 6.00	1.00 B 8.00 8.00	3.00 B 8.00 24.00					-- --	
	(5) Thane- (237)	42874	42876	42879									
		32+ 13+ 45	45+ 12+ 57	32+ 12+ 44									
		3.00 E 5.00 15.00	3.00 D 6.00 18.00	3.00 P 4.00 12.00									
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --					

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT				
Mother Name	PRN.	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G	SGPI GRADE
CENTRE-COLLEGE																								
		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11										
		Total			Total			Total			Total			Total										
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G	SGPI GRADE
7075218	BALE SAGAR CHANDRASHEKAR BHAGYA	42871	42872	MEL701	MEL702	MEL703	MEP701					Unsuccessful												
		21F 9+ 30	32+ 8+ 40	-- 16+ 33	-- 17+ 32	-- 20+ 41	-- 41+ 41					22.00 --												
	2021016402358132	4.00 F 0.00 0.00	3.00 P 4.00 12.00	1.00 C 7.00 7.00	1.00 C 7.00 7.00	1.00 O 10.00 10.00	3.00 O 10.00 30.00					-- --												
	(5) Thane- (995)	42875	42876	42885																				
		33+ 9+ 42	33+ 8+ 41	32+ 8+ 40																				
		3.00 P 4.00 12.00	3.00 P 4.00 12.00	3.00 P 4.00 12.00																				
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																
7075219	CHILE GAURAV RAJAN RASHMI	42871	42872	MEL701	MEL702	MEL703	MEP701					Unsuccessful												
		15F 9+ 24	32+ 8+ 40	-- 14+ 28	-- 16+ 31	-- 22+ 41	-- 37+ 37					22.00 --												
	2021016402363655	4.00 F 0.00 0.00	3.00 P 4.00 12.00	1.00 D 6.00 6.00	1.00 C 7.00 7.00	1.00 O 10.00 10.00	3.00 B 8.00 24.00					-- --												
	(5) Thane- (995)	42875	42876	42885																				
		37+ 8+ 45	36E 10+ 46	20F 8+ 28																				
		3.00 E 5.00 15.00	3.00 E 5.00 15.00	3.00 F 0.00 0.00																				
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																

7075220	JAGTAP KAUSHIK GAUTAM KALPANA	42871 32 9+ 41	42872 35+ 10+ 45	MEL701 17+ 34	MEL702 17+ 33	MEL703 20+ 40	MEP701 40+ 40	Successful 22.00 130.00
2021016402356102		4.00 P 4.00 16.00	3.00 E 5.00 15.00	1.00 C 7.00 7.00	1.00 C 7.00 7.00	1.00 O 10.00 10.00	3.00 O 10.00 30.00	5.91 --
(5)Thane- (995)		42875 38+ 9+ 47	42876 35+ 9+ 44	42885 36 14+ 50				
		3.00 E 5.00 15.00	3.00 P 4.00 12.00	3.00 D 6.00 18.00				
		Total Credit 22.00		FINAL CGPI --	FINAL GRADE --			

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 0.5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT				
	Mother Name	Total				Total				Total				Total				Total				Total				CR C*G				
	PRN.	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI GRADE
	CENTRE-COLLEGE	PAPER 7 Total				PAPER 8 Total				PAPER 9 Total				PAPER 10 Total				PAPER 11 Total												
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	

7075221	KAMBLE AMIT SHANKAR RANJANA	42871 32 10+ 42	42872 32+ 8+ 40	MEL701 18+ 36	MEL702 18+ 34	MEL703 19+ 41	MEP701 37+ 37	Successful 22.00 119.00
2021016402358484		4.00 P 4.00 16.00	3.00 P 4.00 12.00	1.00 B 8.00 8.00	1.00 C 7.00 7.00	1.00 O 10.00 10.00	3.00 B 8.00 24.00	5.41 --
(5)Thane- (995)		42875 39+ 10+ 49	42876 32+ 10+ 42	42885 35+ 14+ 49				
		3.00 E 5.00 15.00	3.00 P 4.00 12.00	3.00 E 5.00 15.00				
		Total Credit 22.00		FINAL CGPI --	FINAL GRADE --			

7075222	SONAVANE PRANAV ANANDA ARUNA	42871 23F 12+ 35	42872 32+ 9+ 41	MEL701 17+ 36	MEL702 20+ 37	MEL703 21+ 43	MEP701 42+ 42	Unsuccessful 22.00 --
2021016402359611		4.00 F 0.00 0.00	3.00 P 4.00 12.00	1.00 B 8.00 8.00	1.00 B 8.00 8.00	1.00 O 10.00 10.00	3.00 O 10.00 30.00	-- --
(5)Thane- (995)		42875 34+ 9+ 43	42876 35+ 10+ 45	42885 33+ 9+ 42				
		3.00 P 4.00 12.00	3.00 E 5.00 15.00	3.00 P 4.00 12.00				
		Total Credit 22.00		FINAL CGPI --	FINAL GRADE --			

7075223	WAGHCHOUDE AMAN MUKESH PRATIMA	42871	8	61	42872	10	72	MEL701	16	32	MEL702	17	34	MEL703	20	40	MEP701	40	40	Successful	22.00	175.00					
	2022016402564236	4.00	C	7.00	28.00	3.00	B	8.00	24.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	7.95	--
	(5) Thane- (995)	42875	13	72	42876	10	74	42885	12	69																	
		1.30	B	8.00	24.00	3.00	B	8.00	24.00	3.00	C	7.00	21.00														
		Total Credit 22.00 FINAL CGPI -- FINAL GRADE --																									

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - O.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT									
Mother Name	PRN.	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI	GRADE																				

7075224	HARSHWARDHAN PRITI KULKARNI PRITI	42871	8	43	42872	10	65	MEL701	16	37	MEL702	19	40	MEL703	21	42	MEP701	35	35	Successful	22.00	158.00												
	2021016402210753	4.00	P	4.00	16.00	3.00	C	7.00	21.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	B	8.00	24.00	7.18	--							
	(5) Thane- (996)	42873	18	71	42876	12	75	42885	10	54																								
		1.30	B	8.00	24.00	3.00	A	9.00	27.00	3.00	D	6.00	18.00																					
		Total Credit 22.00 FINAL CGPI -- FINAL GRADE --																																

7075225	MHATRE ARYAN UDAY PRITEE	42871	11	48	42872	13	62	MEL701	14	34	MEL702	17	35	MEL703	21	41	MEP701	35	35	Successful	22.00	150.00												
	2021016402210745	4.00	E	5.00	20.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	3.00	B	8.00	24.00	6.82	--							
	(5) Thane- (996)	42873	14	46	42876	14	71	42885	14	62																								
		1.30	E	5.00	15.00	3.00	B	8.00	24.00	3.00	C	7.00	21.00																					
		Total Credit 22.00 FINAL CGPI -- FINAL GRADE --																																

7075226	MUNJE PRATHAM SUSHIL	42871			42872			MEL701			MEL702			MEL703			MEP701			Successful		
---------	----------------------	-------	--	--	-------	--	--	--------	--	--	--------	--	--	--------	--	--	--------	--	--	------------	--	--

APARNA	43+	8+	51	46	11+	57	--	18+	39	--	21+	42	--	21+	42	--	48+	48		22.00	155.00							
2021016402210784	4.00	D	6.00	24.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00		7.05	--	
(5) Thane- (996)	42873			42876			42885																					
	50+	12+	62	33+	13+	46	43+	10+	53																			
	3.00	C	7.00	21.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00																
				Total Credit			22.00			FINAL CGPI	--																	

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - O.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		CR	C*G	SGPI
7075227	ROSHAN CHANDRAKANT NIKAM RESHMA	42871			42872			MEL701			MEL702			MEL703			MEP701											Successful	
		32	8	40	35	9	44	--	15	36	--	13	31	--	19	37	--	35	35									22.00	120.00
	2021016402207936	4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	B	8.00	24.00		5.45	--	
	(5) Thane- (996)	42873			42876			42885																					
		32	14	46	49	10	59	32	11	43																			
		3.00	E	5.00	15.00	3.00	D	6.00	18.00	3.00	P	4.00	12.00																
					Total Credit					FINAL CGPI	--																		
7075228	NIMANKAR NIRANJAN VINOD VISHAKHA	42871			42872			MEL701			MEL702			MEL703			MEP701											Unsuccessful	
		16F	12+	28	40+	9+	49	--	11+	32	--	20+	42	--	12+	34	--	42+	42									22.00	--
	2020016402173221	4.00	F	0.00	0.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00		--	--	
	(5) Thane- (996)	42873			42876			42885																					
		34+	11+	45	32+	9+	41	38+	13+	51																			
		3.00	E	5.00	15.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00																
					Total Credit					FINAL CGPI	--																		
7075229	YASH PATIL NEETA	42871			42872			MEL701			MEL702			MEL703			MEP701											Unsuccessful	
		16F	8+	24	42+	10+	52	--	18+	36	--	14+	30	--	19+	38	--	39+	39									22.00	--

2021016402348691 |4.00 P 4.00 16.00 |3.00 D 6.00 18.00 |1.00 C 7.00 7.00 |1.00 B 8.00 8.00 |1.00 A 9.00 9.00 |3.00 B 8.00 24.00 | 5.50 --

 (5) Thane- (996) |42873 |42876 |42885 |
32 9 41	35 11 46	32 9 41
3.00 P 4.00 12.00	3.00 E 5.00 15.00	3.00 P 4.00 12.00
 Total Credit 22.00 FINAL CGPI -- FINAL GRADE --

 / - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

 42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT
		CR	GR	GP																

 7075233 / SHENDGE VIDYA ASHOK HIRA
 2021016402348412
 (5) Thane- (996)
 |42871 |42872 |MEL701 |MEL702 |MEL703 |MEP701 | ABS
 |35+ 8+ 43 |33+ 11+ 44 |-- 18+ 38 |-- 18+ 36 |-- 18+ 36 |-- 40+ 40 | -- --
 | | | | | | |
 |4.00 P 4.00 16.00 |3.00 P 4.00 12.00 |1.00 A 9.00 9.00 |1.00 B 8.00 8.00 |1.00 B 8.00 8.00 |3.00 O 10.00 30.00 | -- --

42873	42876	42885
AA 8+ 8	35+ 12+ 47	32+ 11+ 43
3.00 F 0.00 0.00	3.00 E 5.00 15.00	3.00 P 4.00 12.00
 Total Credit -- FINAL CGPI -- FINAL GRADE --

 7075234 SHINDE GAURAV TUKARAM SANGITA
 2020016402177973
 (5) Thane- (996)
 |42871 |42872 |MEL701 |MEL702 |MEL703 |MEP701 | Successful
 |35 8+ 43 |45+ 10+ 55 |-- 17+ 37 |-- 18+ 39 |-- 18+ 39 |-- 40+ 40 | 22.00 138.00
 | | | | | | |
 |4.00 P 4.00 16.00 |3.00 D 6.00 18.00 |1.00 B 8.00 8.00 |1.00 A 9.00 9.00 |1.00 A 9.00 9.00 |3.00 O 10.00 30.00 | 6.27 --

42873	42876	42885
32+ 10+ 42	35+ 11+ 46	48+ 12+ 60
3.00 P 4.00 12.00	3.00 E 5.00 15.00	3.00 C 7.00 21.00
 Total Credit 22.00 FINAL CGPI -- FINAL GRADE --

 7075235 SURYAWANSHI PIYUSH SANJAY SHARAYU
 2021016402348845
 |42871 |42872 |MEL701 |MEL702 |MEL703 |MEP701 | Successful
 |38 8+ 46 |39 10+ 49 |-- 14 24 |-- 16 26 |-- 17 27 |-- 28+ 28 | 22.00 115.00
 | | | | | | |
 |4.00 E 5.00 20.00 |3.00 E 5.00 15.00 |1.00 E 5.00 5.00 |1.00 D 6.00 6.00 |1.00 D 6.00 6.00 |3.00 D 6.00 18.00 | 5.23 --

(5)Thane-(996)

42873	42876	42885			
42+	8+ 50	39+ 8+ 47	34+ 8+ 42		
3.00 D	6.00 18.00	3.00 E 5.00 15.00	3.00 P 4.00 12.00		
Total Credit 22.00		FINAL CGPI --	FINAL GRADE --		

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.53

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT CR C*G SGPI GRADE
		CR	GR	GP	CR	GR	GP	CR	GR	GP	CR	GR	GP	CR	GR	GP	CR	GR	GP	
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11						
		Total			Total			Total			Total			Total						
		CR	GR	GP	CR	GR	GP	CR	GR	GP	CR	GR	GP	CR	GR	GP	CR	GR	GP	
7075236	JORAPUR SHREYAS VARADRAJ RAJASHRI 2020016402173646 (5)Thane-(996)	42871 12F 4.00 F	8+ 20 0.00	0.00	42872 24F 3.00 F	9+ 33 0.00	0.00	MEL701 1.00 D	13+ 29 6.00	29 6.00	MEL702 1.00 D	10+ 25 6.00	25 6.00	MEL703 1.00 C	14+ 31 7.00	31 7.00	MEP701 3.00 A	38+ 38 27.00	38 27.00	Unsuccessful 22.00 -- -- --
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --												
7075237	AKSHAY TUKARAM KANEKAR SHILPA 2021016402348795 (5)Thane-(996)	42871 35+ 4.00 D	15 50 24.00		42872 34+ 3.00 P	10+ 44 12.00		MEL701 1.00 C	16+ 34 7.00	34 7.00	MEL702 1.00 C	16+ 32 7.00	32 7.00	MEL703 1.00 C	18+ 34 7.00	34 7.00	MEP701 3.00 O	40+ 40 30.00	40 30.00	Successful 22.00 135.00 6.14 --
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --												
7075238	BHOIR SURAJ SITARAM SARITA 2022016402337906	42871 AA 4.00 F	9+ 9 0.00		42872 36+ 3.00 E	9+ 45 15.00		MEL701 1.00 B	18+ 37 8.00	37 8.00	MEL702 1.00 A	19+ 39 9.00	39 9.00	MEL703 1.00 O	20+ 41 10.00	41 10.00	MEP701 3.00 O	40+ 40 30.00	40 30.00	ABS -- -- -- --
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --												

13.00 P 4.00 12.00 |3.00 F 0.00 0.00 |3.00 E 5.00 15.00 |
 Total Credit 22.00 FINAL CGPI -- FINAL GRADE --

 / - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.57

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

 42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G																					

CENTRE-COLLEGE

PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11			
CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G

7075248	GAICHOR SONU SANTOSH SANCHITA	42871	43	15+	58	42872	45	15+	60	MEL701	--	21+	42	MEL702	--	19+	39	MEL703	--	20+	39	MEP701	--	39+	39	Successful	22.00	157.00
	2022016402465254	4.00	D	6.00	24.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00	7.14	--	
	(8)Kalyan-(461)	42875	35+	16+	51	42876	41+	16+	57	42885	32+	17+	69															
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		

7075249	JADHAV SANGAM SUBHASH VANDANA	42871	32	14+	46	42872	43+	13+	56	MEL701	--	23+	45	MEL702	--	21+	42	MEL703	--	21+	42	MEP701	--	43+	43	Successful	22.00	155.00
	2021016402200944	4.00	E	5.00	20.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	7.05	--	
	(8)Kalyan-(461)	42875	50+	12+	62	42876	50+	13+	63	42885	32+	14+	46															
		3.00	C	7.00	21.00	3.00	C	7.00	21.00	3.00	E	5.00	15.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		

7075250	/ KAMBLE SNEHA SANTOSH ANURADHA SANTOSH KAMBLE	42871	32+	12+	44	42872	32+	8+	40	MEL701	--	18+	36	MEL702	--	18+	37	MEL703	--	18+	36	MEP701	--	36+	36	ABS	--	--
	2020016401984533	4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	B	8.00	24.00	--	--	
	(8)Kalyan-(461)	42875	43+	11+	54	42876	AA	8+	8	42885	33+	11+	44															
		3.00	D	6.00	18.00	3.00	F	0.00	0.00	3.00	P	4.00	12.00															

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075254	TALAT FAKHRI ZAFAR AHMED HAMIDA KHATOON 2020016402067157 (12)Panvel-(116)	42871 32	8+	40	4.00	42872 32+	8+	40	3.00	MEL701 16+	17+	33	1.00	MEL702 16+	15+	31	7.00	MEL703 18+	14+	32	1.00	MEP701 18+	39+	39	9.00	Successful 22.00 118.00 5.36 --
		4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	3.00	A	9.00	27.00	
		42874 34+	8+	42	3.00	42878 32+	8+	40	3.00	42879 46+	8+	54	3.00				6.00				18.00					
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075255	DESHEKAR VIGHNESH VASUDEV PUSHPA 2020016402062736 (12)Panvel-(116)	42871 32+	8+	40	4.00	42872 33+	8+	41	3.00	MEL701 19+	19+	40	1.00	MEL702 21+	20+	41	10.00	MEL703 18+	12+	30	1.00	MEP701 18+	42+	42	10.00	Successful 22.00 121.00 5.50 --
		4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	
		42874 32	8+	40	3.00	42878 32+	8+	40	3.00	42879 32+	8+	40	3.00				4.00				12.00					
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	P	4.00	12.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075256	DONGARKAR MOHAMMED MAAZ RAMZAN - GULZAR 2020016402066684 (12)Panvel-(116)	42871 AA	AA	AA	0.00	42872 50E	AA	50	3.00	MEL701 AA	AA	AA	0.00	MEL702 AA	AA	AA	0.00	MEL703 AA	AA	AA	0.00	MEP701 AA	AA	AA	0.00	Unsuccessful 22.00 -- -- --
		4.00	F	0.00	AB	3.00	F	0.00	0.00	1.00	F	0.00	AB	1.00	F	0.00	AB	1.00	F	0.00	AB	3.00	F	0.00	AB	
		42874 AA	AA	AA	3.00	42878 AA	AA	AA	0.00	42879 42E	AA	42	3.00				0.00				0.00					
		3.00	F	0.00	AB	3.00	F	0.00	AB	3.00	F	0.00	0.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.60

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT CR C*G SGPI GRADE						
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR		GP	C*G				
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11												
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G					
7075257	KHARAT SUMEDH SUBHASH VANDANA 2020016402067513 (12)Panvel-(116)	42871 AA	9+	9	33+	42872 AA	9+	42	51+	MEL701 AA	20+	41	MEL702 AA	20+	41	MEL703 AA	19+	37	MEP701 AA	42+	42	ABS -- --				
		4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	-- --
		42874 AA	8+	40	42878 AA	9+	9	42879 AA	11+	62																
		3.00	P	4.00	12.00	3.00	F	0.00	0.00	3.00	C	7.00	21.00													
		Total Credit --			FINAL CGPI --			FINAL GRADE --			FINAL GRADE --			FINAL GRADE --			FINAL GRADE --									
7075258	MUNAM MOHAMMED HANIF MAJGAONKAR - ZUBEDA 2020016402067834 (12)Panvel-(116)	42871 AA	8+	8	37+	42872 AA	8+	45	51+	MEL701 AA	16+	35	MEL702 AA	12+	27	MEL703 AA	12+	30	MEP701 AA	38+	38	ABS -- --				
		4.00	F	0.00	0.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	3.00	A	9.00	27.00	-- --
		42874 AA	8+	8	42878 AA	8+	8	42879 AA	8+	8																
		3.00	F	0.00	0.00	3.00	F	0.00	0.00	3.00	F	0.00	0.00													
		Total Credit --			FINAL CGPI --			FINAL GRADE --			FINAL GRADE --			FINAL GRADE --			FINAL GRADE --									
7075259	MHATRE RUSHIKESH ROHIDAS KALPANA 2020016402062705 (12)Panvel-(116)	42871 AA	8+	8	37+	42872 AA	9+	9	51+	MEL701 AA	20+	41	MEL702 AA	20+	42	MEL703 AA	17+	37	MEP701 AA	43+	43	ABS -- --				
		4.00	F	0.00	0.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	-- --
		42874 AA	10+	48	42878 AA	8+	8	42879 AA	10+	54																
		3.00	E	5.00	15.00	3.00	F	0.00	0.00	3.00	D	6.00	18.00													
		Total Credit --			FINAL CGPI --			FINAL GRADE --			FINAL GRADE --			FINAL GRADE --			FINAL GRADE --									

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*:G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.61

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11				Total				
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075260	PATIL PRASHANT NARDAS NAMRATA 2020016402062493 (12)Panvel-(116)	42871 32E	8+	40		42872 36+	8+	44		MEL701 19+	40		MEL702 20+	42		MEL703 20+	41		MEP701 42+	42					Unsuccessful 22.00 --	
		4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	-- --
		42874				42878				42879																
		32+	12+	44		AA	11+	11		38+	13+	51														
		3.00	P	4.00	12.00	3.00	F	0.00	0.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075261	SALVI DHIRAJ ANIL RASHMI 2020016402063001 (12)Panvel-(116)	42871 32+	8+	40		42872 40+	10+	50		MEL701 18+	38		MEL702 17+	36		MEL703 18+	37		MEP701 40+	40					ABS -- --	
		4.00	P	4.00	16.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	-- --
		42874				42878				42879																
		34+	8+	42		AA	8+	8		35+	11+	46														
		3.00	P	4.00	12.00	3.00	F	0.00	0.00	3.00	E	5.00	15.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
7075262	SHAIKH FAISAL KASIMUDDIN SABIHA KHATOON 2020016402062663 (12)Panvel-(116)	42871 19F	8+	27		42872 34+	8+	42		MEL701 20+	41		MEL702 19+	40		MEL703 12+	32		MEP701 41+	41					Unsuccessful 22.00 --	
		4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	-- --
		42874				42878				42879																
		32+	8+	40		32+	8+	40		32+	8+	40														
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	P	4.00	12.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*:G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.62

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7075263	TADV I ASIF KADAR SAYARA	42871	AA	8+	8	42872	32+	8+	40	MEL701	--	20+	42	MEL702	--	20+	42	MEL703	--	19+	38	MEP701	--	42+	42	ABS	--	--	--
	2020016402066796	4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	3.00	O	10.00	30.00	--	--	--	--
	(12)Panvel-(116)	42874	32+	8+	40	42878	AA	8+	8	42879	34+	8+	42																
		3.00	P	4.00	12.00	3.00	F	0.00	0.00	3.00	P	4.00	12.00																
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
7075264	SUPREET SANJEEVKUMAR KAUSHALYA	42871	32+	8+	40	42872	39+	8+	47	MEL701	--	21+	39	MEL702	--	21+	36	MEL703	--	20+	35	MEP701	--	38+	38	Successful	22.00	131.00	
	2016016400553452	4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	A	9.00	27.00	5.95	--	--	--
	(12)Panvel-(116)	42874	44+	8+	52	42876	35+	8+	43	42879	47	9+	56																
		3.00	D	6.00	18.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			
7075265	GAUD ABHISHEK BAHADUR BABY GAUD	42871	32	9	41	42872	47	8	55	MEL701	--	18	39	MEL702	--	18	35	MEL703	--	18	35	MEP701	--	38	38	Successful	22.00	131.00	
	2022016402292175	4.00	P	4.00	16.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	A	9.00	27.00	5.95	--	--	--
	(12)Panvel-(116)	42874	40	9	49	42876	25*	8	33	42879	40	11	51																
		3.00	E	5.00	15.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - O.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT																
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		CR	GR	GP	C*G	CR	GR	GP	C*G								
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11																								
		Total				Total				Total				Total				Total				Total																				
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075266	GAVADE SAGAR VALAPPA SANGITA	42871	36E	8E	44	42872	51E	8E	59	MEL701	AA	16	16E	MEL702	AA	10	10E	MEL703	AA	12	12E	MEP701	38E	38	38E																	Unsuccessful
	2022016402291005	4.00	P	4.00	16.00	3.00	D	6.00	18.00	1.00	F	0.00	0.00	1.00	F	0.00	0.00	1.00	F	0.00	0.00	3.00	A	9.00	27.00													-- --				
	(12)Panvel-(116)	42874	38E	8E	46	42876	32E	8E	40	42879	48E	8E	56																													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																																
7075267	MALI SAHIL REKHA	42871	21F	9E	30	42872	33E	8E	41	MEL701	17E	37	20E	MEL702	18E	36	18E	MEL703	19E	37	18E	MEP701	37E	37	37E																	Unsuccessful
	2022016402291825	4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	B	8.00	24.00													-- --				
	(12)Panvel-(116)	42874	22F	9E	31	42876	33E	8E	41	42879	36E	11E	47																													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																																
7075268	PRANAY JITENDRA MHATRE PRAMILA	42871	32	9+	41	42872	32+	8+	40	MEL701	18+	36	18+	MEL702	18+	36	18+	MEL703	18+	36	18+	MEP701	44+	44	44+																	Successful
	2022016402291415	4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00													5.50 --				
	(12)Panvel-(116)	42874	32+	11+	43	42876	36+	8+	44	42879	37+	10+	47																													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																																

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - O.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points äCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 äC:sum of credit points GPA: äCG /äC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.64

University of Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075269	PATIL PRAJYOT UMESH SHEETAL 2022016402285844 (12)Panvel-(116)	42871 32	9	41	41	42872 47	8	55	55	MEL701 17	19	36	36	MEL702 17	34	37	37	MEL703 19	37	40	40	MEP701 40	40	40	40	Successful 22.00 129.00 5.86 --
		4.00 P	4.00	16.00	16.00	3.00 D	6.00	18.00	18.00	1.00 B	8.00	8.00	8.00	1.00 C	7.00	7.00	7.00	1.00 B	8.00	8.00	8.00	3.00 O	10.00	30.00	30.00	
		42874 32	9	41	41	42876 34	8	42	42	42879 41	10	51	51													
		3.00 P	4.00	12.00	12.00	3.00 P	4.00	12.00	12.00	3.00 D	6.00	18.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075270	PAWAR AKHILESH BHIMRAO MEENA 2022016402296776 (12)Panvel-(116)	42871 32E	10E	42	42	42872 37E	8E	45	45	MEL701 19E	21E	40	40	MEL702 18E	36	37	37	MEL703 19E	37	40E	40	MEP701 40E	40	40	40	Unsuccessful -- --
		4.00 P	4.00	16.00	16.00	3.00 E	5.00	15.00	15.00	1.00 O	10.00	10.00	10.00	1.00 B	8.00	8.00	8.00	1.00 B	8.00	8.00	8.00	3.00 O	10.00	30.00	30.00	
		42874 35E	9E	44	44	42876 20F	8E	28	28	42879 38E	9E	47	47													
		3.00 P	4.00	12.00	12.00	3.00 F	0.00	0.00	0.00	3.00 E	5.00	15.00	15.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
7075271	SAWANT DEEPAK RAJARAM RANJANA 2021016402147774 (12)Panvel-(116)	42871 37	9	46	46	42872 50	8	58	58	MEL701 18	20	38	38	MEL702 18	35	38	38	MEL703 19	38	40	40	MEP701 40	40	40	40	Successful 22.00 136.00 6.18 --
		4.00 E	5.00	20.00	20.00	3.00 D	6.00	18.00	18.00	1.00 A	9.00	9.00	9.00	1.00 B	8.00	8.00	8.00	1.00 A	9.00	9.00	9.00	3.00 O	10.00	30.00	30.00	
		42874 32	8	40	40	42876 32	8	40	40	42879 38	14	52	52													
		3.00 P	4.00	12.00	12.00	3.00 P	4.00	12.00	12.00	3.00 D	6.00	18.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - O.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;

NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.65

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		Total				Total				Total				Total				Total								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075272	SOLKAR SANIF RAZAK SADIKA 2022016402289865 (12)Panvel-(116)	42871 AA	8E	8		42872 AA	8E	8		MEL701 --	17E	35		MEL702 --	17E	35		MEL703 --	18E	30		MEP701 --	38E	38	Unsuccessful -- --	
		4.00	F	0.00	0.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00	3.00	A	9.00	27.00	-- --
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
7075273	VAIBHAV HARISHCHANDRA SURVE ASHWINI 2022016402292891 (12)Panvel-(116)	42871 AA	8E	8		42872 AA	8E	8		MEL701 --	AA	16		MEL702 --	AA	10		MEL703 --	AA	12		MEP701 --	39E	39	Unsuccessful -- --	
		4.00	F	0.00	0.00	3.00	F	0.00	0.00	1.00	F	0.00	0.00	1.00	F	0.00	0.00	1.00	F	0.00	0.00	3.00	A	9.00	27.00	-- --
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
7075274	THAVAI VAIBHAV DINESH SULOCHANA 2021016402146747 (12)Panvel-(116)	42871 33+	8+	41		42872 33E	8+	41		MEL701 --	10+	28		MEL702 --	18+	28		MEL703 --	18+	28		MEP701 --	40+	40	Unsuccessful 22.00 --	
		4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	3.00	O	10.00	30.00	-- --
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668

MARKS	GRADE	GRADE POINT	GPA: $\frac{\text{sum of credit points}}{\text{sum of credit points}}$	40 to 44.99	45 to 49.99	50 to 59.99	60 to 69.99	70 to 74.99	75 to 79.99	80 to 100
0 to 39.99	F	0.00		4.00	5.00	6.00	7.00	8.00	9.00	10.00

5/7/2025

Page No.66

University of Mumbai, Mumbai
OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT CR C*G SGPI GRADE						
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR		GP	C*G				
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11												
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G					
7075275	FAISAL AZIM KAZI SHAGUFTA	42871	32+	12+	44	42872	33+	15+	48	MEL701	21+	42	MEL702	19+	36	MEL703	20+	39	MEP701	41+	41	Unsuccessful 22.00 --				
	2020016402150005	4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	3.00	O	10.00	30.00	-- --
	(12)Panvel-(124)	42874	35+	12+	47	42878	4F	9+	13	42885	36+	16+	52													
		3.00	E	5.00	15.00	3.00	F	0.00	0.00	3.00	D	6.00	18.00													
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																		
7075276	KAPAYA SEKHAR DHARAMA KAPAYA SUKANTI	42871	AA	8+	8	42872	42+	13+	55	MEL701	15+	32	MEL702	15+	27	MEL703	17+	36	MEP701	39+	39	ABS -- --				
	2020016402152824	4.00	F	0.00	0.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00	3.00	A	9.00	27.00	-- --
	(12)Panvel-(124)	42874	AA	10+	10	42878	AA	10+	10	42885	34+	8+	42													
		3.00	F	0.00	0.00	3.00	F	0.00	0.00	3.00	P	4.00	12.00													
		Total Credit --			FINAL CGPI --			FINAL GRADE --																		
7075277	BORSE PRATHAMESH VITHOBA YOGITA	42871	42	10+	52	42872	39+	15+	54	MEL701	16+	35	MEL702	22+	46	MEL703	17+	40	MEP701	46+	46	Successful 22.00 139.00				
	2021016402187381	4.00	D	6.00	24.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	6.32 --
	(12)Panvel-(124)	42874	32+	12+	44	42876	32+	10+	42	42885	37	11+	48													
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	E	5.00	15.00													
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																		

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC

MARKS	: 0 to 39.99	40 to 44.99	45 to 49.99	50 to 59.99	60 to 69.99	70 to 74.99	75 to 79.99	80 to 100
GRADE	: F	P	E	D	C	B	A	O
GRADE POINT	: 0.00	4.00	5.00	6.00	7.00	8.00	9.00	10.00

5/7/2025

Page No.67

University of Mumbai, Mumbai
OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075278	ADITYA ANKUSH KADAM AKSHATA 2021016402171985 (12)Panvel-(124)	42871 32+	9		41	42872 32+	15+		47	MEL701 --	20+	37		MEL702 --	23+	47		MEL703 --	21+	41		MEP701 --	39+	39	Successful 22.00 128.00 5.82 --	
		4.00 P	4.00	16.00	3.00 E	5.00	15.00	1.00 B	8.00	8.00	1.00 O	10.00	10.00	1.00 O	10.00	10.00	10.00	3.00 A	9.00	27.00						
		42874 32+				42876 32+				42885 38+																
		3.00 P	4.00	12.00	3.00 P	4.00	12.00	3.00 D	6.00	18.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075279	DEEP DILEEP KATURDE DIPALI 2022016402217603 (12)Panvel-(124)	42871 43	12		55	42872 47	18		65	MEL701 --	19	36		MEL702 --	20	41		MEL703 --	18	36		MEP701 --	36	36	Successful 22.00 176.00 8.00 --	
		4.00 D	6.00	24.00	3.00 C	7.00	21.00	1.00 B	8.00	8.00	1.00 O	10.00	10.00	1.00 B	8.00	8.00	3.00 B	8.00	24.00							
		42874 64				42876 62				42885 53																
		3.00 O	10.00	30.00	3.00 A	9.00	27.00	3.00 B	8.00	24.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075280	MATHAKAR SUSHIL SUBHASH SUCHITA 2022016402218073 (12)Panvel-(124)	42871 45	17		62	42872 57	14		71	MEL701 --	15	33		MEL702 --	19	39		MEL703 --	16	32		MEP701 --	39	39	Successful 22.00 165.00 7.50 --	
		4.00 C	7.00	28.00	3.00 B	8.00	24.00	1.00 C	7.00	7.00	1.00 A	9.00	9.00	1.00 C	7.00	7.00	3.00 A	9.00	27.00							
		42874 42				42876 57				42885 45																
		3.00 D	6.00	18.00	3.00 B	8.00	24.00	3.00 C	7.00	21.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100

GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering) - B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date: 05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7075281	PAWAR NISHAD SHARAD SUNITA 2017016400572864 (12)Panvel-(124)	42871 32	9+	41	16.00	42872 48	11+	59	18.00	MEL701 15+	33	MEL702 18+	21+	43	MEL703 19+	20+	39	MEP701 43+	43	30.00	6.55	--	Successful	22.00	144.00				
		4.00	P	4.00	16.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	3.00	O	10.00	30.00				
		42874 37+	12+	49	15.00	42876 51	9+	60	21.00	42885 39+	13+	52																	
		3.00	E	5.00	15.00	3.00	C	7.00	21.00	3.00	D	6.00	18.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			
7075282	PAWAR SAYLI SANDESH SANDHYA 2020016402142404 (12)Panvel-(385)	42871 32+	8+	40	16.00	42872 32+	8+	40	12.00	MEL701 14+	29	MEL702 15+	17+	MEL703 14+	29	MEP701 42+	42	30.00	--	--	ABS	--	--						
		4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00	1.00	D	6.00	6.00	3.00	O	10.00	30.00				
		42874 32+	9+	41	12.00	42878 AA	8+	8	0.00	42887 33+	8+	41																	
		3.00	P	4.00	12.00	3.00	F	0.00	0.00	3.00	P	4.00	12.00																
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
7075283	BHAGAT VEDANT PRADEEP VIDYA 2021016402309886 (12)Panvel-(385)	42871 46	11+	57	24.00	42872 32+	10+	42	12.00	MEL701 18+	36	MEL702 18+	21+	MEL703 20+	41	MEP701 40+	40	30.00	6.59	--	Successful	22.00	145.00						
		4.00	D	6.00	24.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00				
		42875 35+	11+	46	15.00	42876 49+	11+	60	21.00	42887 36+	9+	45																	
		3.00	E	5.00	15.00	3.00	C	7.00	21.00	3.00	E	5.00	15.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O

University of Mumbai
OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		Total				Total				Total				Total				Total								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075284	MAHIND ROHAN JAGANNATH SANGEETA	42871	25F	9+	34	42872	49+	14+	63	MEL701	--	21+	41	MEL702	--	21+	41	MEL703	--	22+	45	MEP701	--	40+	40	Unsuccessful 22.00 --
	2022016402179862	4.00	F	0.00	0.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	-- --
	(12)Panvel-(385)	42875	36+	15+	51	42876	39+	15+	54	42887	38+	10+	48													
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	E	5.00	15.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075285	NEGLUR PRASAD SURESH ANJANA	42871	48	8+	56	42872	35+	12+	47	MEL701	--	20+	40	MEL702	--	20+	39	MEL703	--	18+	37	MEP701	--	38+	38	Successful 22.00 138.00
	2021016402336055	4.00	D	6.00	24.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00	3.00	A	9.00	27.00	6.27 --
	(12)Panvel-(385)	42875	33+	8+	41	42876	38+	12+	50	42887	36+	10+	46													
		3.00	P	4.00	12.00	3.00	D	6.00	18.00	3.00	E	5.00	15.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075286	PATIL PRATHAMESH KAILASH SUNITA	42871	38	8	46	42872	42	8	50	MEL701	--	19	37	MEL702	--	19	37	MEL703	--	20	39	MEP701	--	40	40	Successful 22.00 138.00
	2021016402335647	4.00	E	5.00	20.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	3.00	O	10.00	30.00	6.27 --
	(12)Panvel-(385)	42875	37	8	45	42876	42	9	51	42887	35	8	43													
		3.00	E	5.00	15.00	3.00	D	6.00	18.00	3.00	P	4.00	12.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A ,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT CR C*G SGPI GRADE		
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR		GP	C*G
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075287	SURAJ NAMDEV SHELAR SUNANDA 2021016402336086 (12)Panvel-(385)	42871 34	8+	42	42872 32+	12+	44	MEL701 --	19+	39	MEL702 --	19+	38	MEL703 --	19+	39	MEP701 --	42+	42	22.00	136.00	
		4.00	P	4.00	3.00	P	4.00	1.00	9.00	9.00	1.00	9.00	9.00	1.00	9.00	9.00	3.00	O	10.00	30.00	6.18	--
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --														
7075288	TAPAL PRANAY MADHUKAR JAYASHRI 2018016402595493 (12)Panvel-(385)	42871 26F	9+	35	42872 33+	8+	41	MEL701 --	17+	36	MEL702 --	20+	39	MEL703 --	20+	38	MEP701 --	34+	34	22.00	--	
		4.00	F	0.00	3.00	P	4.00	1.00	8.00	8.00	1.00	9.00	9.00	1.00	9.00	9.00	3.00	C	7.00	21.00	--	--
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --														
7075289	PARDESHI AKASH DILIP PUSHPA 2022016402179974 (12)Panvel-(385)	42871 47	8+	55	42872 33+	11+	44	MEL701 --	18+	37	MEL702 --	20+	39	MEL703 --	17+	35	MEP701 --	35+	35	22.00	124.00	
		4.00	D	6.00	3.00	P	4.00	1.00	8.00	8.00	1.00	9.00	9.00	1.00	8.00	8.00	3.00	B	8.00	24.00	5.64	--
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --														

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075290	ANSARI ZAHID ZAKIR HUSSAIN KARIMUNISSA 2020016402227464 (12)Panvel-(692)	42871 38	8+	46	41+	14+	55	---	18+	36	---	23+	41	---	20+	41	---	46+	46	---	22.00	147.00	6.68	--		
		42874 32+	15+	47	46+	13+	59	40+	17+	57																
		3.00	E	5.00	15.00	3.00	D	6.00	18.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075291	ASHISH SHAHILAL CHAVAN VIMAL 2018016400240713 (12)Panvel-(692)	42871 3F	13+	16	32+	12+	44	---	16+	32	---	21+	37	---	19+	38	---	41+	41	---	22.00	--	--	--		
		42874 32+	9+	41	AA	13+	13	41+	8+	49																
		3.00	P	4.00	12.00	3.00	F	0.00	0.00	3.00	E	5.00	15.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075292	GAWDE YASH SHRINIVAS SHRUTI 2021016402278537 (12)Panvel-(692)	42871 38+	8+	46	38+	13+	51	---	18+	37	---	18+	35	---	18+	38	---	42+	42	---	ABS	--	--	--		
		42874 43+	10+	53	AA	13+	13	37+	AA	37																
		3.00	D	6.00	18.00	3.00	F	0.00	0.00	3.00	F	0.00	0.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075293	SOHAM SHARAD GHAG SHRADDHA SHARAD GHAG 2021016402275945 (12)Panvel-(692)	42871 13F	9+	12		42872 135+	11+	46		MEL701 15+	30		MEL702 17+	36		MEL703 20+	41		MEP701 39+	39		Unsuccessful 22.00 --				
		4.00	F	0.00	0.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	3.00	A	9.00	27.00	-- --
		42874 132+	10+	42		42876 132+	13+	45		42879 138+	8+	46														
		3.00	P	4.00	12.00	3.00	E	5.00	15.00	3.00	E	5.00	15.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075294	GHOSALKAR SURAJ MANOJ SIDDHI 2018016400239861 (12)Panvel-(692)	42871 18F	9+	27		42872 139+	16+	55		MEL701 18+	32		MEL702 20+	34		MEL703 21+	41		MEP701 44+	44		Unsuccessful 22.00 --				
		4.00	F	0.00	0.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	-- --
		42874 139+	9+	48		42876 142+	15+	57		42879 153+	14+	67														
		3.00	E	5.00	15.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075295	HATAMKAR AYUSH SUDHIR MANISHA 2021016402267911 (12)Panvel-(692)	42871 1AA	15E	15		42872 132+	0F	32		MEL701 16+	33		MEL702 19+	37		MEL703 19+	39		MEP701 40+	40		Unsuccessful 22.00 --				
		4.00	F	0.00	0.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	3.00	O	10.00	30.00	-- --
		42874 132+	9+	41		42876 134+	12E	46		42879 1AA	14E	14														
		3.00	P	4.00	12.00	3.00	E	5.00	15.00	3.00	F	0.00	0.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075296	JADHAV KIRAN PRAVIN VIJAYA 2021016402277236 (12)Panvel-(692)	42871 22F	14E	36	43+	10+	53	18+	36	MEL701 ---	18+	36	MEL702 ---	19+	37	MEL703 ---	19+	39	MEP701 ---	40+	40	22.00	Unsuccessful --			
		4.00	F	0.00	0.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	3.00	O	10.00	30.00	--
		42874 34+	12+	46	32+	10E	42	35+	15E	50																
		3.00	E	5.00	15.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075297	JADHAV OMKAR ANANT ANKITA 2020016402226534 (12)Panvel-(692)	42871 AA	11+	11	32+	15+	47	21+	41	MEL701 ---	21+	41	MEL702 ---	22+	42	MEL703 ---	21+	41	MEP701 ---	44+	44		ABS --			
		4.00	F	0.00	0.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	--
		42874 33+	16+	49	32+	12+	44	32+	9+	41																
		3.00	E	5.00	15.00	3.00	P	4.00	12.00	3.00	P	4.00	12.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
7075298	KOLI ROCKY PRALHAD GULAB 2021016402271077 (12)Panvel-(692)	42871 AA	AA	AA	32+	AA	32	15+	32	MEL701 ---	17+	32	MEL702 ---	19+	37	MEL703 ---	20+	40	MEP701 ---	40+	40		ABS --			
		4.00	F	0.00	AB	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	--
		42874 AA	AA	AA	32+	AA	32	32+	AA	32																
		3.00	F	0.00	AB	3.00	F	0.00	0.00	3.00	F	0.00	0.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		Total				Total				Total				Total				Total											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7075299	KOLI RONIT NANDKUMAR KANCHAN 2022016402239734 (12)Panvel-(692)	42871 34	14	48	42	15	57	42872 42	15	57	MEL701 --	12	27	MEL702 --	15	28	MEL703 --	21	41	MEP701 --	40	40	22.00	141.00	Successful				
		4.00	E	5.00	20.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	6.41 --			
		42874 43	11	54	42	9	51	42876 42	9	51	42879 32	13	45																
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	E	5.00	15.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			
7075300	NAIDU SUSHILKUMAR SADANAND GEETANJALI S NAIDU 2020016402226372 (12)Panvel-(692)	42871 6F	12+	18	AA	14+	14	42872 AA	14+	14	MEL701 --	14+	28	MEL702 --	20+	34	MEL703 --	21+	43	MEP701 --	45+	45	22.00	--	Unsuccessful				
		4.00	F	0.00	0.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	-- --			
		42874 32+	15+	47	AA	11+	11	42876 AA	11+	11	42879 AA	12+	12																
		3.00	E	5.00	15.00	3.00	F	0.00	0.00	3.00	F	0.00	0.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			
7075301	PATEKAR SUMEDH ANIL ALKA 2022016402227702 (12)Panvel-(692)	42871 AA	AA	AA	AA	AA	AA	42872 AA	AA	AA	MEL701 --	11E	27	MEL702 --	15E	28	MEL703 --	AA	AA	MEP701 --	41E	41	--	--	Unsuccessful				
		4.00	F	0.00	AB	3.00	F	0.00	AB	1.00	D	6.00	6.00	1.00	D	6.00	6.00	1.00	F	0.00	AB	3.00	O	10.00	30.00	-- --			
		42874 AA	AA	AA	AA	AA	AA	42876 AA	AA	AA	42879 AA	AA	AA																
		3.00	F	0.00	AB	3.00	F	0.00	AB	3.00	F	0.00	AB																
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075302	PATOLE KAUSTUB NANA MANISHA NANA PATOLE 2021016402268574 (12)Panvel-(692)	42871 32+ 4.00 P	8+ 8 4.00	40 16.00	42872 7F 3.00 F	13+ 20 0.00	20 0.00	42873 19+ 8.00	42874 18+ 8.00	42875 37 8.00	42876 18+ 8.00	42877 36 8.00	42878 18+ 8.00	42879 20+ 10.00	42880 41 10.00	42881 42 10.00	42882 42 30.00	42883 3.00 O	42884 10.00	42885 10.00	42886 3.00 O	42887 10.00	42888 30.00	Unsuccessful 22.00 -- -- --		
		42874 32+ 3.00 P	10E 10 4.00	42 12.00	42876 32E 3.00 P	8+ 40 4.00	40 12.00	42879 33E 3.00 E	12E 45 5.00	45 15.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075303	PAWAR PRATAP YUVRAJ ARUNA 2021016402270333 (12)Panvel-(692)	42871 AA 4.00 F	8+ 8 0.00	8 0.00	42872 AA 3.00 F	14+ 14 0.00	14 0.00	42873 17+ 7.00	42874 17+ 7.00	42875 34 7.00	42876 15+ 7.00	42877 31 7.00	42878 16+ 7.00	42879 20+ 10.00	42880 40 10.00	42881 AA 3.00 F	42882 AA 0.00	42883 AB	42884 0.00	42885 0.00	42886 0.00	42887 0.00	ABS -- -- -- --			
		42874 AA 3.00 F	10+ 10 0.00	10 0.00	42876 AA 3.00 F	15+ 15 0.00	15 0.00	42879 AA 3.00 F	8+ 8 0.00	8 0.00																
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
7075304	/ SONALI DIPAK ROKADE JYOTI 2022016402230317 (12)Panvel-(692)	42871 39 4.00 D	13 6.00	52 24.00	42872 52+ 3.00 C	8+ 60 7.00	60 21.00	42873 15+ 7.00	42874 17+ 7.00	42875 32 7.00	42876 23+ 10.00	42877 41 10.00	42878 18+ 10.00	42879 21+ 10.00	42880 42 10.00	42881 45+ 3.00 O	42882 45 10.00	42883 3.00 O	42884 10.00	42885 10.00	42886 30.00	42887 30.00	Successful 22.00 156.00 7.09 --			
		42874 35+ 3.00 P	9+ 9 4.00	44 12.00	42876 54+ 3.00 C	8+ 62 7.00	62 21.00	42879 57+ 3.00 C	8+ 65 7.00	65 21.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering) - B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date: 05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7075305	SAKHARLE YASH ARUN APARNA APARNA 2021016402269805 (12)Panvel-(692)	42871 1F	13E	14	42872 32E	13E	45	MEL701 11E	27	MEL702 14E	27	MEL703 19E	39	MEP701 40E	40	Unsuccessful											
		4.00	F	0.00	0.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00	3.00	O	10.00	30.00	--	--
		42874 5F	8E	13	42876 32E	10E	42	42879 32E	13E	45																	
		3.00	F	0.00	0.00	3.00	P	4.00	12.00	3.00	E	5.00	15.00														
		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
7075306	SHINDE ADITYA MANOHAR ASHA 2021016402270905 (12)Panvel-(692)	42871 AA	8+	8	42872 43+	14+	57	MEL701 17+	35	MEL702 22+	42	MEL703 22+	44	MEP701 46+	46	ABS											
		4.00	F	0.00	0.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	--	--
		42874 32+	8+	40	42876 32+	11+	43	42879 45+	11+	56																	
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00														
		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
7075307	SHINDE YASH ANAND PRAMILA 2021016402273486 (12)Panvel-(692)	42871 20F	10+	30	42872 33+	8+	41	MEL701 17+	36	MEL702 20+	40	MEL703 21+	43	MEP701 48+	48	Unsuccessful											
		4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	--	--
		42874 43+	14+	57	42876 35+	10+	45	42879 40+	10+	50																	
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7075308	SHIRODKAR RAHUL RAMAKANT RASHMI 2021016402278514 (12)Panvel-(692)	42871 10F	AA	0		42872 14F	AA	4		MEL701 ---	AA	AA		MEL702 ---	16+	31		MEL703 ---	AA	AA		MEP701 ---	AA	AA	Unsuccessful 22.00 --				
		4.00	F	0.00	0.00	3.00	F	0.00	0.00	1.00	F	0.00	AB	1.00	C	7.00	7.00	1.00	F	0.00	AB	3.00	F	0.00	AB	-- --			
		42874 15F	15+	20		42876 19F	AA	9		42879 15F	8+	23																	
		3.00	F	0.00	0.00	3.00	F	0.00	0.00	3.00	F	0.00	0.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			
7075309	SURYAWANSHI SAGAR PRALHAD REKHA - REKHA 2015016402451137 (12)Panvel-(692)	42871 1AA	8+	8		42872 1AA	11E	11		MEL701 ---	15+	31		MEL702 ---	18+	36		MEL703 ---	18+	36		MEP701 ---	44+	44	Unsuccessful 22.00 --				
		4.00	F	0.00	0.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	-- --			
		42874 1AA	9+	9		42876 1AA	8E	8		42879 1AA	12E	12																	
		3.00	F	0.00	0.00	3.00	F	0.00	0.00	3.00	F	0.00	0.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			
7075310	TANAJI SAHIL SHAMER PARVEEN 2021016402277244 (12)Panvel-(692)	42871 124F	8+	32		42872 132+	14E	46		MEL701 ---	16+	34		MEL702 ---	17+	32		MEL703 ---	18+	37		MEP701 ---	38+	38	Unsuccessful 22.00 --				
		4.00	F	0.00	0.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	A	9.00	27.00	-- --			
		42874 132+	9E	41		42876 133+	10E	43		42879 137+	13E	50																	
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075311	TARE ADITYA ARUN SANGITA 2021016402274385 (12)Panvel-(692)	42871 28F 4.00 F 0.00 0.00	8+	36	39+	10+	49	17+	35	18+	36	19+	40	42+	42	22.00 --										
		42874 32+	8+	40	46+	9+	55	42879 13E	65																	
		3.00 P 4.00 12.00			3.00 D 6.00 18.00			3.00 C 7.00 21.00																		
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075312	ANANDU THULASEEDHARAN USHA 2018016400241337 (12)Panvel-(692)	42871 AA 4.00 F 0.00 0.00	8+	8	AA 32+	10+	10	11+	25	21+	35	19+	31	42+	42	-- --										
		42874 AA 3.00 F 0.00 0.00	14+	14	32+	12+	44	AA 10+	10																	
		3.00 F 4.00 12.00			3.00 P 4.00 12.00			3.00 F 0.00 0.00																		
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
7075313	TAMIL AHMAD ZAHIRY RUKHSANA 2021016402277526 (12)Panvel-(692)	42871 AA 4.00 F 0.00 0.00	8+	8	32+	9+	41	12+	24	17+	34	21+	42	39+	39	-- --										
		42874 32+	12+	44	AA 35+	8+	8	35+	8+	43																
		3.00 P 4.00 12.00			3.00 F 0.00 0.00			3.00 P 4.00 12.00																		
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A ,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G																					

CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		

7075314	GUPTA MANISH RAMCHARAN PUSHPA 2021016402275342 (12)Panvel-(692)	42871 32 4.00 P	9+ 41 4.00	16.00	42872 43 3.00 D	14+ 57 6.00	18.00	MEL701 18+ 1.00 B	35 17+ 8.00	8.00	MEL702 17+ 1.00 B	35 18+ 8.00	8.00	MEL703 18+ 1.00 B	37 19+ 8.00	8.00	MEP701 42+ 3.00 O	42 30.00	10.00	30.00	5.91	--	Successful	22.00	130.00
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --															

7075315	DHARNEKAR SWAPNIL JAGANNATH RAJASHREE 2021016402306064 (12)Panvel-(822)	42871 AA 4.00 F	8+ 8 0.00	0.00	42872 AA 3.00 F	8+ 8 0.00	0.00	MEL701 AA 1.00 F	13 13+ 0.00	0.00	MEL702 12+ 1.00 P	22 10+ 4.00	4.00	MEL703 17+ 1.00 C	34 17+ 7.00	7.00	MEP701 37+ 3.00 B	37 24.00	8.00	24.00	--	--	ABS	--	--
		Total Credit --				FINAL CGPI --				FINAL GRADE --															

7075316	HADAWALE OMKAR BHASKAR SHAKUNTALA 2021016402313733 (12)Panvel-(822)	42871 AA 4.00 F	12+ 12 0.00	0.00	42872 51+ 3.00 D	8+ 59 6.00	18.00	MEL701 14+ 1.00 C	32 18+ 7.00	7.00	MEL702 16+ 1.00 C	30 14+ 7.00	7.00	MEL703 20+ 1.00 B	36 16+ 8.00	8.00	MEP701 27+ 3.00 D	27 18.00	6.00	18.00	--	--	ABS	--	--
		Total Credit --				FINAL CGPI --				FINAL GRADE --															

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC

MARKS	: 0 to 39.99	40 to 44.99	45 to 49.99	50 to 59.99	60 to 69.99	70 to 74.99	75 to 79.99	80 to 100
GRADE	: F	P	E	D	C	B	A	O
GRADE POINT	: 0.00	4.00	5.00	6.00	7.00	8.00	9.00	10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075317	JALGAONKAR MOHAMMAD BAN MD KHALID - TAZEEN	42871	8+	40	132+	42872	8+	42	134+	MEL701	10+	22	---	MEL702	12	22	---	MEL703	11+	23	---	MEP701	22+	22	---	Successful 22.00 92.00
	2021016402309043	4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	P	4.00	4.00	1.00	P	4.00	4.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	4.18 --
	(12)Panvel-(822)	42874	8+	40	132+	42876	8+	45	137+	42885	8+	40	---				---				---				---	
		3.00	P	4.00	12.00	3.00	E	5.00	15.00	3.00	P	4.00	12.00				---				---				---	
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075318	KATWATE PRANAV SHRIKANT MADHUWANTI	42871	9+	17	18F	42872	11+	43	132+	MEL701	14+	31	---	MEL702	23+	45	---	MEL703	19+	38	---	MEP701	31+	31	---	Unsuccessful 22.00 --
	2017016402397136	4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	3.00	C	7.00	21.00	-- --
	(12)Panvel-(822)	42874	8+	41	133+	42876	8+	40	132+	42885	9+	41	---				---				---				---	
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	P	4.00	12.00				---				---				---	
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075319	KAZI ADNAN AYUB SHABANA	42871	8	46	138+	42872	8+	40	132+	MEL701	13+	29	---	MEL702	16+	32	---	MEL703	18+	36	---	MEP701	37+	37	---	Successful 22.00 113.00
	2021016402301515	4.00	E	5.00	20.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	B	8.00	24.00	5.14 --
	(12)Panvel-(822)	42874	8+	40	132+	42876	8+	41	133+	42885	9+	41	---				---				---				---	
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	P	4.00	12.00				---				---				---	
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G	CR	GR																				

CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11										
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G			
7075320	PATIL APURV ANANT VIMAL	42871	AA	10+	10	42872	45+	8+	53	MEL701	19+	39	19+	MEL702	20+	40	20+	MEL703	20+	39	19+	MEP701	40+	40	40	ABS	--	--
	2018016401945575	4.00	F	0.00	0.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	3.00	O	10.00	30.00	--	--	--
	(12)Panvel-(822)	42874	AA	10+	10	42876	32+	8+	40	42885	32+	9+	41															
		3.00	F	0.00	0.00	3.00	P	4.00	12.00	3.00	P	4.00	12.00															
		Total Credit --				FINAL CGPI --				FINAL GRADE --																		

7075321	ANSARI AMMAR SAJEED NAJMA	42871	32	11	43	42872	57	18	75	MEL701	15	33	15	MEL702	19	35	19	MEL703	22	40	22	MEP701	38	38	38	Successful	22.00	146.00
	2022016402323887	4.00	P	4.00	16.00	3.00	A	9.00	27.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	3.00	A	9.00	27.00	6.64	--	--
	(12)Panvel-(944)	42874	37	16	53	42877	34	14	48	42885	44	14	58															
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		

7075322	BAGDADI MUSAB HANIF SURAIYA	42871	38E	10E	48	42872	53E	18E	71	MEL701	15E	33	15E	MEL702	16E	33	16E	MEL703	22E	39	22E	MEP701	38E	38	38	Unsuccessful	--	--
	2020016401971583	4.00	E	5.00	20.00	3.00	B	8.00	24.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00	--	--	--
	(12)Panvel-(944)	42874	39E	10E	49	42877	10F	11E	11	42885	61E	14E	75															
		3.00	E	5.00	15.00	3.00	F	0.00	0.00	3.00	A	9.00	27.00															
		Total Credit --				FINAL CGPI --				FINAL GRADE --																		

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		Total				Total				Total				Total				Total								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075323	BOBRE SHAARIF SAAD SHABNAM	42871	38+	10E	48	42872	35+	17+	52	MEL701	--	14E	24	MEL702	--	17+	34	MEL703	--	22+	34	MEP701	--	30+	30	Unsuccessful 22.00 --
	2021016402223572	4.00	E	5.00	20.00	3.00	D	6.00	18.00	1.00	E	5.00	5.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	3.00	C	7.00	21.00	-- --
	(12)Panvel-(944)	42874	34E	10+	44	42877	16F	13E	29	42885	43+	13+	56													
		3.00	P	4.00	12.00	3.00	F	0.00	0.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075324	GOLANAZ MOHD SAIF FAIYAD AHMED - SHAHNAZ	42871	56	13	69	42872	37	16	53	MEL701	--	18	36	MEL702	--	18	35	MEL703	--	21	38	MEP701	--	38	38	Successful 22.00 149.00
	2022016402319495	4.00	C	7.00	28.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00	6.77 --
	(12)Panvel-(944)	42874	46	12	58	42877	33	13	46	42885	47	10	57													
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075325	IDRISI MOHD IRFAN MOHD NASEEM SHAHJAHANNISA	42871	18F	8E	26	42872	42E	9E	51	MEL701	--	14E	32	MEL702	--	14E	30	MEL703	--	21E	38	MEP701	--	38E	38	Unsuccessful -- --
	2021016402207171	4.00	F	0.00	0.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00	-- --
	(12)Panvel-(944)	42874	33E	11E	44	42877	35E	11E	46	42885	55E	9E	64													
		3.00	P	4.00	12.00	3.00	E	5.00	15.00	3.00	C	7.00	21.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A ,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT CR C*G							
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR		GP	C*G					
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11													
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI GRADE					
7075326	MOMIN TULAIB AKIL AHMED SEEMA 2021016402218435 (12)Panvel-(944)	42871 35+	8	43	42872 32+	16+	48	MEL701 --	16	26	MEL702 --	16+	33	MEL703 --	22+	34	MEP701 30+	30	22.00	117.00	5.32	--					
		4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	3.00	C	7.00	21.00	5.32	--
		42874 32	8+	40	42877 32+	13	45	42885 43+	9+	52																	
		3.00	P	4.00	12.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			
7075327	NIYAZI MOHAMMED DANISH MOHAMMED ASIF - GULNAR 2021016402222611 (12)Panvel-(944)	42871 32	9	41	42872 42+	16+	58	MEL701 --	16	26	MEL702 --	18+	35	MEL703 --	22+	34	MEP701 40+	40	22.00	133.00	6.05	--					
		4.00	P	4.00	16.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	6.05	--
		42874 32+	8+	40	42877 40+	13	53	42885 50+	9+	59																	
		3.00	P	4.00	12.00	3.00	D	6.00	18.00	3.00	D	6.00	18.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			
7075328	SAYYED ADNAN AZIM SABINA SAYYED 2022016402323102 (12)Panvel-(944)	42871 36	13	49	42872 47	16	63	MEL701 --	18	36	MEL702 --	19	35	MEL703 --	22	39	MEP701 38	38	22.00	150.00	6.82	--					
		4.00	E	5.00	20.00	3.00	C	7.00	21.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00	6.82	--
		42874 43	10	53	42877 46	12	58	42885 47	14	61																	
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		Total				Total				Total				Total				Total											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7075329	SHAIKH ARSHAD MEHBOOB SHABANA	42871	32	12	44	42872	48	16	64	MEL701	--	17	35	MEL702	--	18	35	MEL703	--	22	39	MEP701	--	38	38	Successful	22.00	140.00	
	2022016402319514	4.00	P	4.00	16.00	3.00	C	7.00	21.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00	6.36	--		
	(12)Panvel-(944)	42874	38	12	50	42877	32	12	44	42885	49	11	60																
		3.00	D	6.00	18.00	3.00	P	4.00	12.00	3.00	C	7.00	21.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			
7075330	SHAIKH NAWAZ IQUBAL MEHTAB	42871	32	11	43	42872	33	16	49	MEL701	--	17	35	MEL702	--	14	31	MEL703	--	22	40	MEP701	--	38	38	Successful	22.00	131.00	
	2021016402207921	4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	3.00	A	9.00	27.00	5.95	--		
	(12)Panvel-(944)	42874	41	10	51	42877	32	12	44	42885	45	13	58																
		3.00	D	6.00	18.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			
7075331	SHAIKH MOHAMMED TAIYAB MOHAMMED ASIF - KHATIJA	42871	46+	11+	57	42872	45+	18+	63	MEL701	--	18	28	MEL702	--	17+	34	MEL703	--	23+	35	MEP701	--	40+	40	Successful	22.00	153.00	
	2021016402221097	4.00	D	6.00	24.00	3.00	C	7.00	21.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	6.95	--		
	(12)Panvel-(944)	42874	38+	14+	52	42877	40+	8+	48	42885	56+	14+	70																
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	B	8.00	24.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075332	SHAIKH ZEESHAN SALIM SHAHEEN	42871				42872				MEL701				MEL702				MEL703				MEP701				Successful
		32+	8+		40	57	14+		71	---	16+		34	---	20+		42	---	21+		41	---	44+		44	22.00 145.00
	2021016402223711	4.00	P	4.00	16.00	3.00	B	8.00	24.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	6.59 --
	(12)Panvel-(944)	42874				42877				42885																
		33+	16+		49	32+	15+		47	44+	11+		55													
		3.00	E	5.00	15.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075333	FARIS RIZWAN AHMED NASEEMA	42871				42872				MEL701				MEL702				MEL703				MEP701				Successful
		41	14		55	53	15		68	---	15		33	---	18		35	---	21		39	---	38		38	22.00 144.00
	2021016402207422	4.00	D	6.00	24.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00	6.55 --
	(12)Panvel-(944)	42874				42877				42883																
		37	13		50	32	14		46	32	13		45													
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	E	5.00	15.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075334	FAZLUR REHMAN MEHFOOZUR REHMAN - AFSANA KHATOON	42871				42872				MEL701				MEL702				MEL703				MEP701				Unsuccessful
		20F	8E		28	57E	8+		65	---	10+		20	---	20E		30	---	22E		37	---	44+		44	22.00 --
	2018016401960307	4.00	F	0.00	0.00	3.00	C	7.00	21.00	1.00	P	4.00	4.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	-- --
	(12)Panvel-(944)	42874				42877				42883																
		32E	16E		48	41E	19E		60	33E	16E		49													
		3.00	E	5.00	15.00	3.00	C	7.00	21.00	3.00	E	5.00	15.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075335	SINGH RAHUL ABHAYKUMAR SUMAN 2020016401971471 (12)Panvel-(944)	42871 32+	8	40		42872 32	12+	44		MEL701 13+	23			MEL702 15+	33			MEL703 20+	33			MEP701 44+	44			Successful 22.00 125.00 5.68 --
		4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	E	5.00	5.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	
		42874 32+	9+	41		42877 36+	15	51		42883 39+	12+	51														
		3.00	P	4.00	12.00	3.00	D	6.00	18.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075336	ZHOMBARKAR TAHA TALHA PARVEEN 2022016402323407 (12)Panvel-(944)	42871 12F	11E	23		42872 44E	18E	62		MEL701 16E	34			MEL702 19E	35			MEL703 22E	39			MEP701 38E	38			Unsuccessful -- --
		4.00	F	0.00	0.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00	
		42874 32E	10E	42		42877 32E	15E	47		42883 0F	16E	16														
		3.00	P	4.00	12.00	3.00	E	5.00	15.00	3.00	F	0.00	0.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
7075337	PAWASKAR SHOUNAK NILESH SHUBHADA 2020016401997417 (13)Ratnagiri-(525)	42871 32+	AA	32		42872 34+	15+	49		MEL701 14+	24			MEL702 16+	34			MEL703 12+	28			MEP701 24+	24			ABS -- --
		4.00	F	0.00	0.00	3.00	E	5.00	15.00	1.00	E	5.00	5.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	
		42875 35+	8+	43		42877 32+	8+	40		42885 34+	12+	46														
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	E	5.00	15.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |

42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11																	
		Total				Total				Total				Total				Total																	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7075338	BUDYE MEHRAN RIZWAN SHAGUFTA	42871	32+	8+	40	42872	32+	9+	41	MEL701	--	15+	32	MEL702	--	18+	36	MEL703	--	15+	27	MEP701	--	25+	25					Successful					
	2021016402175913	4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00					5.36	--				
	(13)Ratnagiri-(525)	42875	39+	9	48	42877	36+	13+	49	42879	49+	13+	62																						
		3.00	E	5.00	15.00	3.00	E	5.00	15.00	3.00	C	7.00	21.00																						
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																									
7075339	CHAKRANARAYAN AMAR MAHENDRA VIDYA	42871	32	9	41	42872	38	14	52	MEL701	--	18	31	MEL702	--	17	35	MEL703	--	14	28	MEP701	--	29	29					Successful					
	2022016402185441	4.00	P	4.00	16.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00					5.50	--				
	(13)Ratnagiri-(525)	42875	32	8	40	42877	38	13	51	42879	36	14	50																						
		3.00	P	4.00	12.00	3.00	D	6.00	18.00	3.00	D	6.00	18.00																						
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																									
7075340	KEER MANAS SANDESH HEMALI	42871	32+	8+	40	42872	32+	11+	43	MEL701	--	16+	32	MEL702	--	19+	37	MEL703	--	18+	32	MEP701	--	46+	46					Successful					
	2021016402112422	4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00					6.23	--				
	(13)Ratnagiri-(525)	42875	45	11+	56	42877	40+	12+	52	42879	46+	17+	63																						
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00																						
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																									

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		Total				Total				Total				Total				Total								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075341	MADRE SAMEE SHAHIL SABAH 2022016402185707 (13)Ratnagiri-(525)	42871 41E	9E	50		42872 49E	13E	62		MEL701 --	10E	20		MEL702 --	14E	29		MEL703 --	14E	24		MEP701 --	20E	20		Unsuccessful -- --
		4.00	D	6.00	24.00	3.00	C	7.00	21.00	1.00	P	4.00	4.00	1.00	D	6.00	6.00	1.00	E	5.00	5.00	3.00	P	4.00	12.00	-- --
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
7075342	MAJGAONKAR FARHAN TANWEER DILSHAD 2022016402185592 (13)Ratnagiri-(525)	42871 37	9	46		42872 35	15	50		MEL701 --	17	30		MEL702 --	18	37		MEL703 --	16	29		MEP701 --	20	20		Successful 22.00 125.00
		4.00	E	5.00	20.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	5.68 --
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075343	MHASKAR SHAIQUE MUBEEN MINAZ MUBEEN MHASKAR 2022016402185417 (13)Ratnagiri-(525)	42871 41+	8+	49		42872 32+	15+	47		MEL701 --	14+	28		MEL702 --	20+	38		MEL703 --	14+	30		MEP701 --	30+	30		Successful 22.00 123.00
		4.00	E	5.00	20.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00	3.00	C	7.00	21.00	5.59 --
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT							
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G				
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11													
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G						
7075344	MUKADAM MUNIB RAZAMURAD SABRINA	42871	27*	11	38	42872	32	16	48	MEL701	--	18	33	MEL702	--	19	38	MEL703	--	16	34	MEP701	--	22	22	22.00	111.00
	2021016402111241	4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	5.05	--
	(13)Ratnagiri-(525)	42875	41	11	52	42877	32	12	44	42879	35	12	47														
		3.00	D	6.00	18.00	3.00	P	4.00	12.00	3.00	E	5.00	15.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			
7075345	PALANDE SOHAM PALANDE SHIVANI	42871	8F	9E	17	42872	40+	12+	52	MEL701	--	16+	30	MEL702	--	18+	30	MEL703	--	13+	24	MEP701	--	25+	25	22.00	--
	2021016402189581	4.00	F	0.00	0.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	E	5.00	5.00	3.00	D	6.00	18.00	--	--
	(13)Ratnagiri-(525)	42875	28F	AA	28	42877	32+	14+	46	42879	32E	11+	43														
		3.00	F	0.00	0.00	3.00	E	5.00	15.00	3.00	P	4.00	12.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			
7075346	VAISHNAV SANTOSH RAHATE JYOTI	42871	40	12	52	42872	32+	15+	47	MEL701	--	16+	32	MEL702	--	18+	30	MEL703	--	14+	28	MEP701	--	40+	40	22.00	137.00
	2020016401994276	4.00	D	6.00	24.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00	3.00	O	10.00	30.00	6.23	--
	(13)Ratnagiri-(525)	42875	32+	10	42	42877	35+	12+	47	42879	45+	15+	60														
		3.00	P	4.00	12.00	3.00	E	5.00	15.00	3.00	C	7.00	21.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075347	SAYYED FAIZAN HANIF FATIMA	42871	35+	9	44	42872	38+	13+	51	MEL701	--	16+	28	MEL702	--	18	29	MEL703	--	10	20	MEP701	--	25+	25	Successful 22.00 122.00
	2022016402185464	4.00	P	4.00	16.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00	3.00	D	6.00	18.00	5.55 --
	(13)Ratnagiri-(525)	42875	43+	8+	51	42877	38+	11+	49	42879	49+	15+	64													
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	C	7.00	21.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075348	SHINDE SAURABH VINOD VIDYA	42871	32+	13	45	42872	35+	15+	50	MEL701	--	18+	33	MEL702	--	18+	30	MEL703	--	13+	27	MEP701	--	40+	40	Successful 22.00 145.00
	2020016401994261	4.00	E	5.00	20.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00	3.00	O	10.00	30.00	6.59 --
	(13)Ratnagiri-(525)	42875	42+	8+	50	42877	40+	12+	52	42879	44+	16+	60													
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075349	SHIRGAONKAR ADNAN AYAZ NADEEMA	42871	AA	AA	AA	42872	AA	AA	AA	MEL701	--	14E	26	MEL702	--	19E	31	MEL703	--	11E	21	MEP701	--	25+	25	Unsuccessful 22.00 --
	2021016402189542	4.00	F	0.00	AB	3.00	F	0.00	AB	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	P	4.00	4.00	3.00	D	6.00	18.00	-- --
	(13)Ratnagiri-(525)	42875	39+	9E	48	42877	AA	AA	AA	42879	42+	15E	57													
		3.00	E	5.00	15.00	3.00	F	0.00	AB	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT CR C*G SGPI GRADE		
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR		GP	C*G
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075350	VICHARE SAIRAJ RISHIKESH RUTIKA	42871	12	62	42872	16	62	MEL701	18	31	MEL702	17	35	MEL703	14	29	MEP701	22	22	22	148.00	
	2022016402185104	4.00	C	7.00	28.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	D	6.00	6.00	12.00
	(13)Ratnagiri-(525)	42875	10	53	42877	11	62	42879	18	79												
		43			51			61														
		3.00	D	6.00	18.00	3.00	C	7.00	21.00	3.00	A	9.00	27.00									
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --														
7075351	DHURI KAUSTUBH SANTOSH SAMPADA	42871	15	57	42872	8	40	MEL701	16	31	MEL702	15	32	MEL703	21	44	MEP701	35	35	35	138.00	
	2022016402338697	4.00	D	6.00	24.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	13.00
	(17)Kankavli-(533)	42875	14	64	42876	9	49	42885	14	57												
		50			40			43														
		3.00	C	7.00	21.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00									
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --														
7075352	SIDDHESH SUDHAKAR DHURI SUVARNA	42871	14	54	42872	8+	47	MEL701	10+	23	MEL702	17+	32	MEL703	18+	37	MEP701	25+	25	25	119.00	
	2021016402235526	4.00	D	6.00	24.00	3.00	E	5.00	15.00	1.00	E	5.00	5.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	13.00
	(17)Kankavli-(533)	42875	9+	41	42876	8+	42	42885	8+	53												
		32+			34+			45														
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00									
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --														

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering) - B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT
----------	-----------------------	---------	--	--	---------	--	--	---------	--	--	---------	--	--	---------	--	--	---------	--	--	--------

NO.	Mother Name PRN.	Total			Total			Total			Total			Total			Total			CR C*G	SGPI GRADE								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR			GP	C*G						

CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11															
		Total			Total			Total			Total			Total															
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G								

7075353	GODKAR SAHADEV AJIT ANJALI	42871				42872				MEL701				MEL702					MEL703				MEP701					Successful	
		32	14	46	46	32+	8+	40	40	--	10+	25	25	--	17+	34	34	--	16+	37	37	--	25+	25	25	25	22.00	110.00	
	2021016402234113	4.00	E	5.00	20.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	5.00	--	--	
	(17)Kankavli-(533)	42875				42876				42885																			
		40	9+	49	49	32+	8+	40	40	32+	9+	41	41																
		3.00	E	5.00	15.00	3.00	P	4.00	12.00	3.00	P	4.00	12.00																
		Total Credit			22.00			FINAL CGPI			--			FINAL GRADE			--												

7075354	JANGALE SARVESH SHAMRAO SHARMILA	42871				42872				MEL701				MEL702					MEL703				MEP701					Unsuccessful	
		28F	13E	41	41	26F	8E	34	34	--	15E	29	29	--	12E	25	25	--	20E	41	41	--	35E	35	35	35	--	--	
	2022016402339325	4.00	F	0.00	0.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00	3.00	B	8.00	24.00	--	--		
	(17)Kankavli-(533)	42875				42876				42885																			
		32E	12E	44	44	16F	8E	24	24	51E	15E	66	66																
		3.00	P	4.00	12.00	3.00	F	0.00	0.00	3.00	C	7.00	21.00																
		Total Credit			--			FINAL CGPI			--			FINAL GRADE			--												

7075355	MR.KADAM BHAVESH VINAYAK VISHAKHA	42871				42872				MEL701				MEL702					MEL703				MEP701					Unsuccessful	
		21F	15E	36	36	37E	8E	45	45	--	17E	35	35	--	13E	30	30	--	19E	41	41	--	35E	35	35	35	--	--	
	2022016402338987	4.00	F	0.00	0.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	3.00	B	8.00	24.00	--	--		
	(17)Kankavli-(533)	42875				42876				42885																			
		39E	13E	52	52	38E	9E	47	47	48E	13E	61	61																
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	C	7.00	21.00																
		Total Credit			--			FINAL CGPI			--			FINAL GRADE			--												

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name	PAPER 1 Total	PAPER 2 Total	PAPER 3 Total	PAPER 4 Total	PAPER 5 Total	PAPER 6 Total	RESULT CR C*G
----------	--------------------------------------	------------------	------------------	------------------	------------------	------------------	------------------	------------------

PRN.	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI	GRADE
CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11													
	Total				Total				Total				Total				Total													
7075356	42871	44	13	57	42872	35	8	43	MEL701	---	16	30	MEL702	---	14	31	MEL703	---	21	42	MEP701	---	35	35	22.00	150.00				
PARSHURAM SAKHARAM NAIK SUNANDA	4.00	D	6.00	24.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	3.00	B	8.00	24.00	6.82	--				
2022016402338964																														
(17)Kankavli-(533)	42875	62	13	75	42876	59	8	67	42885	42	15	57																		
	3.00	A	9.00	27.00	3.00	C	7.00	21.00	3.00	D	6.00	18.00																		
	Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																					
7075357	42871	33	15	48	42872	45	13	58	MEL701	---	13	31	MEL702	---	15	31	MEL703	---	18	35	MEP701	---	43	43	22.00	153.00				
GAWADE VISHNU PRAMOD PRANITA	4.00	E	5.00	20.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	6.95	--				
2022016402197345																														
(18)Malvan-(949)	42874	52	13	65	42877	41	10	51	42885	57	15	72																		
	3.00	C	7.00	21.00	3.00	D	6.00	18.00	3.00	B	8.00	24.00																		
	Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																					
7075358	42871	25F	8E	33	42872	32E	9E	41	MEL701	---	AA	10	MEL702	---	AA	10	MEL703	---	AA	10	MEP701	---	25E	25	--	--				
NAIK MOHIT GIRISH GEETA	4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	F	0.00	0.00	1.00	F	0.00	0.00	1.00	F	0.00	0.00	3.00	D	6.00	18.00	--	--				
2021016402101494																														
(18)Malvan-(949)	42874	32E	8E	40	42877	33E	9E	42	42885	50E	8E	58																		
	3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00																		
	Total Credit --				FINAL CGPI --				FINAL GRADE --																					

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT					
	Mother Name	Total				CR C*G																									
	PRN.	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI	GRADE																				

	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G						
7075362 PUSALKAR DEVANSH SAMIR RIA	42871	14	50	36+	42872	9	41	32+	MEL701	12+	25	13+	MEL702	10+	24	14+	MEL703	15+	34	19+	MEP701	37+	37	22.00	126.00	Successful
2022016402378837	4.00	D	6.00	24.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	E	5.00	5.00	1.00	C	7.00	7.00	3.00	B	8.00	24.00	5.73	--
(22)Vasai-(466)	42875	10+	55	45+	42876	8+	49	41+	42884	10+	47	37+														
	3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	E	5.00	15.00														
	Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	
7075363 UPADHYAY UJJWAL RAJESH KUMAR SHAILKUMARI	42871	8+	8	37+	42872	10+	42	32+	MEL701	13+	28	15+	MEL702	10+	22	12+	MEL703	18+	35	17+	MEP701	35+	35	--	--	ABS
2021016402183054	4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00	1.00	B	8.00	8.00	3.00	B	8.00	24.00	--	--
(22)Vasai-(466)	42875	8+	45	37+	42876	8+	8	AA	42884	8+	42	34+														
	3.00	E	5.00	15.00	3.00	F	0.00	0.00	3.00	P	4.00	12.00														
	Total Credit --				FINAL CGPI --				FINAL GRADE --																	
7075364 PATIL ANUJ SHAILEN AAKANKSHA	42871	8	45	37+	42872	12	44	32+	MEL701	11+	23	12+	MEL702	14+	30	16+	MEL703	13+	28	15+	MEP701	38+	38	22.00	128.00	Successful
2020016401976947	4.00	E	5.00	20.00	3.00	P	4.00	12.00	1.00	E	5.00	5.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00	3.00	A	9.00	27.00	5.82	--
(22)Vasai-(466)	42874	12+	47	35+	42876	9+	51	42+	42885	13+	50	37+														
	3.00	E	5.00	15.00	3.00	D	6.00	18.00	3.00	D	6.00	18.00														
	Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
	Mother Name PRN.	Total				Total				Total				Total				Total				Total				
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								

7075374	SINGH PRIANSU KUMAR ANAND KUMAR - SHASHIDEVI	42871 33+ 13 46	42872 37+ 11 48	MEL701 --- 15+ 27	MEL702 --- 17+ 35	MEL703 --- 14+ 33	MEP701 --- 36+ 36	Successful 22.00 131.00
2022016402384014		4.00 E 5.00 20.00	3.00 E 5.00 15.00	1.00 D 6.00 6.00	1.00 B 8.00 8.00	1.00 C 7.00 7.00	3.00 B 8.00 24.00	5.95 --
(22)Vasai-(466)		42875 50 8 58	42876 38+ 8+ 46	42885 48+ 11+ 59				
		3.00 D 6.00 18.00	3.00 E 5.00 15.00	3.00 D 6.00 18.00				
		Total Credit 22.00		FINAL CGPI --		FINAL GRADE --		

7075375	CHAUGULE AKASH SUNIL SUREKHA	42871 32+ 8+ 40	42872 32+ 9+ 41	MEL701 --- 18+ 36	MEL702 --- 21+ 43	MEL703 --- 19+ 38	MEP701 --- 38+ 38	ABS -- --
2020016402039664		4.00 P 4.00 16.00	3.00 P 4.00 12.00	1.00 B 8.00 8.00	1.00 O 10.00 10.00	1.00 A 9.00 9.00	3.00 A 9.00 27.00	-- --
(22)Vasai-(466)		42875 AA 10+ 10	42876 44+ 8+ 52	42886 34+ 13+ 47				
		3.00 F 0.00 0.00	3.00 D 6.00 18.00	3.00 E 5.00 15.00				
		Total Credit --		FINAL CGPI --		FINAL GRADE --		

7075376	YANGAR VEDANT BALASAHEB VARSHA	42871 32+ 8+ 40	42872 35+ 8+ 43	MEL701 --- 17+ 35	MEL702 --- 19+ 40	MEL703 --- 17+ 34	MEP701 --- 39+ 39	ABS -- --
2020016402032567		4.00 P 4.00 16.00	3.00 P 4.00 12.00	1.00 B 8.00 8.00	1.00 O 10.00 10.00	1.00 C 7.00 7.00	3.00 A 9.00 27.00	-- --
(22)Vasai-(466)		42875 32+ 12+ 44	42876 AA 9+ 9	42886 39+ 13+ 52				
		3.00 P 4.00 12.00	3.00 F 0.00 0.00	3.00 D 6.00 18.00				
		Total Credit --		FINAL CGPI --		FINAL GRADE --		

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*:G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT								
PRN.	Mother Name	Total				Total				Total				Total				Total				Total				CR C*G								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI GRADE
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11																
		Total				Total				Total				Total				Total																
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	

7075377	ANUJ VINOD GUPTA	42871	42872	MEL701	MEL702	MEL703	MEP701	Successful
---------	------------------	-------	-------	--------	--------	--------	--------	------------

ASHA	42	10+	52	52+	12+	64	--	14+	29	--	19+	36	--	20+	39	--	24+	24		22.00	143.00						
2020016402042152	4.00	D	6.00	24.00	3.00	C	7.00	21.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00		6.50	--
(22)Vasai-(823)	42874			42876			42885																				
	51+	9+	60	45+	15+	60	45+	13+	58																		
	3.00	C	7.00	21.00	3.00	C	7.00	21.00	3.00	D	6.00	18.00															
	Total Credit			22.00	FINAL CGPI			--	FINAL GRADE			--															
7075378 CHAUDHARI PREM RAJESH SANGITA	42871			42872			MEL701			MEL702			MEL703			MEP701											Successful
2021016402283941	40	9+	49	39+	15+	54	--	13+	29	--	19+	42	--	23+	45	--	23+	23		22.00	133.00						
(22)Vasai-(823)	42875			42876			42885																				
	45+	13+	58	46+	12+	58	47+	12+	59																		
	3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	D	6.00	18.00															
	Total Credit			22.00	FINAL CGPI			--	FINAL GRADE			--															
7075379 CHIKHALE OMKAR VISHWANATH SUREKHA	42871			42872			MEL701			MEL702			MEL703			MEP701											Unsuccessful
2020016402040702	20F	8+	28	32+	12+	44	--	15+	31	--	21+	37	--	10+	24	--	30+	30		22.00	--						
(22)Vasai-(823)	42875			42876			42885																				
	43+	11+	54	32+	11+	43	37+	14+	51																		
	3.00	D	6.00	18.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00															
	Total Credit			22.00	FINAL CGPI			--	FINAL GRADE			--															

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT				
	Mother Name	Total				Total				Total				Total				Total				Total				CR C*G				
	PRN.	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI GRADE
	CENTRE-COLLEGE	Total				Total				Total				Total				Total				Total								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075380	KALEKAR SUYOG SHASHIKANT SHITAL	14F	9+	23	32+	10+	42	--	17+	34	--	14+	34	--	20+	38	--	41+	41		22.00	--								

2021016402289326	4.00 P 4.00 16.00 3.00 P 4.00 12.00 1.00 B 8.00 8.00 1.00 C 7.00 7.00 1.00 C 7.00 7.00 3.00 O 10.00 30.00 -- --
(22)Vasai-(823)	42875 42876 42885 AA 9+ 9 33+ 9+ 42 32+ 8+ 40 3.00 F 0.00 0.00 3.00 P 4.00 12.00 3.00 P 4.00 12.00 Total Credit -- FINAL CGPI -- FINAL GRADE --
7075384 NAIR INDRAJIT HARIKUMAR SINI	42871 42872 MEL701 MEL702 MEL703 MEP701 Successful 44 12 56 47 16 63 19 38 17 30 21 41 36 36 22.00 167.00 3.00 F 0.00 0.00 3.00 P 4.00 12.00 3.00 P 4.00 12.00 1.00 C 7.00 7.00 1.00 O 10.00 10.00 3.00 B 8.00 24.00 7.59 --
2021016402280463	4.00 D 6.00 24.00 3.00 C 7.00 21.00 1.00 A 9.00 9.00 1.00 C 7.00 7.00 1.00 O 10.00 10.00 3.00 B 8.00 24.00 7.59 --
(22)Vasai-(823)	42875 42876 42885 51 10 61 62 15 77 58 12 70 3.00 C 7.00 21.00 3.00 A 9.00 27.00 3.00 B 8.00 24.00 Total Credit 22.00 FINAL CGPI -- FINAL GRADE --
7075385 PARAS ANIL PAGDHARE GEETA	42871 42872 MEL701 MEL702 MEL703 MEP701 Successful 32 8+ 40 32+ 8+ 40 17+ 32 14+ 33 20+ 39 29+ 29 22.00 114.00 4.00 P 4.00 16.00 3.00 P 4.00 12.00 1.00 C 7.00 7.00 1.00 C 7.00 7.00 1.00 A 9.00 9.00 3.00 D 6.00 18.00 5.18 --
2021016402288957	4.00 P 4.00 16.00 3.00 P 4.00 12.00 1.00 C 7.00 7.00 1.00 C 7.00 7.00 1.00 A 9.00 9.00 3.00 D 6.00 18.00 5.18 --
(22)Vasai-(823)	42875 42876 42885 43+ 8+ 51 37+ 8+ 45 32+ 10+ 42 3.00 D 6.00 18.00 3.00 E 5.00 15.00 3.00 P 4.00 12.00 Total Credit 22.00 FINAL CGPI -- FINAL GRADE --

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*:Credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT				
	Mother Name	Total				Total				Total				Total				Total				Total				CR C*G				
	PRN.	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI GRADE
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11												
		Total				Total				Total				Total				Total												
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	

7075386 PANCHAL TANMAY CHANDRASHEKHAR SNEHA	42871 42872 MEL701 MEL702 MEL703 MEP701 Unsuccessful 23F 12+ 35 32+ 12+ 44 19+ 39 20+ 43 22+ 44 40+ 40 22.00 -- 3.00 F 0.00 0.00 3.00 P 4.00 12.00 1.00 A 9.00 9.00 1.00 O 10.00 10.00 1.00 O 10.00 10.00 3.00 O 10.00 30.00 -- --
2021016402289791	4.00 F 0.00 0.00 3.00 P 4.00 12.00 1.00 A 9.00 9.00 1.00 O 10.00 10.00 1.00 O 10.00 10.00 3.00 O 10.00 30.00 -- --

		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --														
7075402	KAMATKAR VIVEK ASHOK ARATI	42871	42872	MEL701	MEL702	MEL703	MEP701	Successful														
		56+	12+	68	46+	13+	59	--	20+	42	--	20+	42	--	22+	44	--	44+	44	22.00	163.00	
	2022016402311333	4.00	C	7.00	28.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	30.00	7.41 --
	(30)Shahapur-(751)	42874	42876	42885																		
		36+	16+	52	41+	16+	57	47	16+	63												
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00									
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --														

7075403	KEDARE ESHAN KAILAS SHAILA	42871	42872	MEL701	MEL702	MEL703	MEP701	Successful														
		33	13+	46	32+	10+	42	--	22+	45	--	20+	41	--	20+	40	--	44+	44	22.00	134.00	
	2021016402295443	4.00	E	5.00	20.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	6.09 --
	(30)Shahapur-(751)	42874	42876	42885																		
		41+	12+	53	32+	10+	42	32+	9+	41												
		3.00	D	6.00	18.00	3.00	P	4.00	12.00	3.00	P	4.00	12.00									
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --														

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT		
Mother Name	PRN.	Total				Total				Total				Total				Total				Total				CR C*G		
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI GRADE		
	CENTRE-COLLEGE	PAPER 7 Total				PAPER 8 Total				PAPER 9 Total				PAPER 10 Total				PAPER 11 Total										
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G			
7075404	SHIROSE JAGADISH SANJAY SARITA	42871	42872	MEL701	MEL702	MEL703	MEP701	Successful																				
		35+	8+	43	32+	13+	45	--	21+	41	--	20+	40	--	21+	42	--	45+	45	22.00	139.00							
	2022016402312456	4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	6.32 --		
	(30)Shahapur-(751)	42874	42876	42885																								
		44+	12+	56	32+	13+	45	32	15+	47																		
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	E	5.00	15.00															
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																				

7075405	SURYARAO VIPUL ASHOK ASHWINI	42871 32 8+ 40 	42872 35+ 9+ 44 	MEL701 --- 12+ 22 	MEL702 --- 20+ 40 	MEL703 --- 20+ 35 	MEP701 --- 38+ 38 	Successful 22.00 125.00
	2020016402079924	4.00 P 4.00 16.00 	3.00 P 4.00 12.00 	1.00 P 4.00 4.00 	1.00 O 10.00 10.00 	1.00 B 8.00 8.00 	3.00 A 9.00 27.00 	5.68 --
	(30)Shahapur-(751)	42874 44+ 8+ 52 	42876 43+ 8+ 51 	42885 32+ 8+ 40 				
		3.00 D 6.00 18.00 	3.00 D 6.00 18.00 	3.00 P 4.00 12.00 				
		Total Credit 22.00		FINAL CGPI --	FINAL GRADE --			

7075406	WARGHADE KALPESH ANKUSH NANDA	42871 34 12+ 46 	42872 37+ 16+ 53 	MEL701 --- 21+ 43 	MEL702 --- 21+ 42 	MEL703 --- 21+ 42 	MEP701 --- 45+ 45 	Successful 22.00 140.00
	2021016402295385	4.00 E 5.00 20.00 	3.00 D 6.00 18.00 	1.00 O 10.00 10.00 	1.00 O 10.00 10.00 	1.00 O 10.00 10.00 	3.00 O 10.00 30.00 	6.36 --
	(30)Shahapur-(751)	42874 32+ 10+ 42 	42876 32+ 14+ 46 	42885 33+ 15+ 48 				
		3.00 P 4.00 12.00 	3.00 E 5.00 15.00 	3.00 E 5.00 15.00 				
		Total Credit 22.00		FINAL CGPI --	FINAL GRADE --			

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 ac:sum of credit points GPA: acg /ac
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT
PRN.	Mother Name	CR	GR	GP	CR	GR	GP	CR	GR	GP	CR	GR	GP	CR	GR	GP	CR	GR	GP	CR C*G
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11						
		CR	GR	GP	CR	GR	GP	CR	GR	GP	CR	GR	GP	CR	GR	GP	CR	GR	GP	SGPI GRADE
7075407	ABDUL ALEEM MOMIN NASREEN MOMIN	42871 19F 11+ 30 	42872 15F 13+ 28 	MEL701 --- 18+ 33 	MEL702 --- 13+ 29 	MEL703 --- 16+ 32 	MEP701 --- 26+ 26 	Unsuccessful 22.00 -- 												
	2021016402382494	4.00 F 0.00 0.00 	3.00 F 0.00 0.00 	1.00 C 7.00 7.00 	1.00 D 6.00 6.00 	1.00 C 7.00 7.00 	3.00 D 6.00 18.00 	-- -- 												
	(30)Shahapur-(776)	42874 24F 10+ 34 	42876 17F 9+ 26 	42885 41E 9E 50 																
		3.00 F 0.00 0.00 	3.00 F 0.00 0.00 	3.00 D 6.00 18.00 																
		Total Credit 22.00		FINAL CGPI --	FINAL GRADE --															

7075408 ANIKET HEMANT DHANGAR SADHANA	42871 22F 13+ 35	42872 32+ 16+ 48	MEL701 --- 17+ 32	MEL702 --- 16+ 32	MEL703 --- 17+ 34	MEP701 --- 30+ 30	Unsuccessful 22.00 --
2021016402382424	4.00 F 0.00 0.00	3.00 E 5.00 15.00	1.00 C 7.00 7.00	1.00 C 7.00 7.00	1.00 C 7.00 7.00	3.00 C 7.00 21.00	-- --
(30)Shahapur-(776)	42874 34+ 10+ 44	42876 32+ 12+ 44	42885 33E 10+ 43				
	3.00 P 4.00 12.00	3.00 P 4.00 12.00	3.00 P 4.00 12.00				
	Total Credit 22.00		FINAL CGPI --	FINAL GRADE --			

7075409 JADHAV ASHISH ANANTA BHARATI	42871 25F 11+ 36	42872 32+ 16+ 48	MEL701 --- 18+ 32	MEL702 --- 13+ 28	MEL703 --- 16+ 33	MEP701 --- 30+ 30	Unsuccessful 22.00 --
2021016402382254	4.00 F 0.00 0.00	3.00 E 5.00 15.00	1.00 C 7.00 7.00	1.00 D 6.00 6.00	1.00 C 7.00 7.00	3.00 C 7.00 21.00	-- --
(30)Shahapur-(776)	42874 34+ 8+ 42	42876 32E 10+ 42	42885 32+ 9+ 41				
	3.00 P 4.00 12.00	3.00 P 4.00 12.00	3.00 P 4.00 12.00				
	Total Credit 22.00		FINAL CGPI --	FINAL GRADE --			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G																					

7075410 JAGTAP SWAPNIL SHATRUGHNA MANISHA	42871 32+ 9+ 41	42872 32+ 15+ 47	MEL701 --- 19+ 36	MEL702 --- 17+ 34	MEL703 --- 16+ 34	MEP701 --- 30+ 30	ABS -- --
2021016402382343	4.00 P 4.00 16.00	3.00 E 5.00 15.00	1.00 B 8.00 8.00	1.00 C 7.00 7.00	1.00 C 7.00 7.00	3.00 C 7.00 21.00	-- --
(30)Shahapur-(776)	42874 32+ 11+ 43	42876 AA 13+ 13	42885 32+ 12+ 44				
	3.00 P 4.00 12.00	3.00 F 0.00 0.00	3.00 P 4.00 12.00				
	Total Credit --		FINAL CGPI --	FINAL GRADE --			

7075411 KARKHANIS VEDANT VINAY	42871	42872	MEL701	MEL702	MEL703	MEP701	Successful
--------------------------------	-------	-------	--------	--------	--------	--------	------------

2021016402382505	4.00 F	0.00 0.00	3.00 E	5.00 15.00	1.00 C	7.00 7.00	1.00 D	6.00 6.00	1.00 B	8.00 8.00	3.00 D	6.00 18.00	-- --
(30)Shahapur-(776)	42874		42876		42885								
	33+	14+ 47	32+	13+ 45	22F	11+ 33							
	3.00 E	5.00 15.00	3.00 E	5.00 15.00	3.00 F	0.00 0.00							
		Total Credit 22.00		FINAL CGPI --		FINAL GRADE --							
7075418 POTE ROHIT RAVINDRA ROHINI	42871		42872		MEL701		MEL702		MEL703		MEP701		Unsuccessful
	19F	8E 27	27F	8E 35	--	19E 38	--	20E 39	--	19E 39	--	35E 35	-- --
						19E		19E		20E			
2020016401975654	4.00 F	0.00 0.00	3.00 F	0.00 0.00	1.00 A	9.00 9.00	1.00 A	9.00 9.00	1.00 A	9.00 9.00	3.00 B	8.00 24.00	-- --
(30)Shahapur-(776)	42874		42876		42885								
	19F	9E 28	32E	10E 42	25F	11E 36							
	3.00 F	0.00 0.00	3.00 P	4.00 12.00	3.00 F	0.00 0.00							
		Total Credit --		FINAL CGPI --		FINAL GRADE --							

5/7/2025

Page No.114

University of Mumbai, Mumbai
OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		Total				Total				Total				Total				Total								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075419	QURESHI YUSUF RIYAZ YASMEEN	42871			42872				MEL701				MEL702				MEL703				MEP701				Unsuccessful	
		10F	AA	10	50E	AA	50		--	AA	11		--	AA	11		--	AA	12		--	21+	21		22.00 --	
										11+				11+				12+								
2018016402136544		4.00 F	0.00 0.00		3.00 F	0.00 0.00			1.00 F	0.00 0.00			1.00 F	0.00 0.00			1.00 F	0.00 0.00			3.00 P	4.00 12.00			-- --	
(30)Shahapur-(776)		42874			42876				42885																	
		32E	AA	32	32E	AA	32		33E	AA	33															
		3.00 F	0.00 0.00		3.00 F	0.00 0.00			3.00 F	0.00 0.00																
			Total Credit 22.00			FINAL CGPI --				FINAL GRADE --																
7075420	SALMAN SHAIKH NASEEMA SHAIKH	42871			42872				MEL701				MEL702				MEL703				MEP701				Successful	
		33+	8	41	44+	8	52		--	17+	31		--	16+	30		--	17+	33		--	22+	22		22.00 121.00	
										14+				14+				16+								
2022016402326263		4.00 P	4.00 16.00		3.00 D	6.00 18.00			1.00 C	7.00 7.00			1.00 C	7.00 7.00			1.00 C	7.00 7.00			3.00 P	4.00 12.00			5.50 --	

(30)Shahapur-(776)

42874	42876	42885			
40 9 49	45+ 8 53	55 8 63			
3.00 E	5.00 15.00	3.00 D	6.00 18.00	3.00 C	7.00 21.00
Total Credit 22.00		FINAL CGPI --	FINAL GRADE --		

7075421 SHANBHAG PRASHANT SHIVANAND SHUBHANGI

42871	42872	MEL701	MEL702	MEL703	MEP701	ABS				
32+ AA 32	41+ AA 41	-- AA 11	-- AA 12	-- AA 11	-- 22+ 22	-- --				
		-- 11+	-- 12+	-- 11+						
4.00 F	0.00 0.00	3.00 F	0.00 0.00	1.00 F	0.00 0.00	1.00 F	0.00 0.00	3.00 P	4.00 12.00	-- --

(30)Shahapur-(776)

42874	42876	42885			
AA AA AA	AA AA AA	49+ AA 49			
3.00 F	0.00 AB	3.00 F	0.00 AB	3.00 F	0.00 0.00
Total Credit --		FINAL CGPI --	FINAL GRADE --		

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points äCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 äC:sum of credit points GPA: äCG /äC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G		CR																				

7075422 SHUKLA SURAJ BHANUKAR MEERA

42871	42872	MEL701	MEL702	MEL703	MEP701							
32+ 8+ 40	50+ 13+ 63	-- 17+ 30	-- 14+ 29	-- 16+ 32	-- 22+ 22	Successful						
		-- 13+	-- 15+	-- 16+								
4.00 P	4.00 16.00	3.00 C	7.00 21.00	1.00 C	7.00 7.00	1.00 D	6.00 6.00	1.00 C	7.00 7.00	3.00 P	4.00 12.00	5.45 --

(30)Shahapur-(776)

42874	42876	42885			
38+ 8+ 46	49 8+ 57	44+ 9+ 53			
3.00 E	5.00 15.00	3.00 D	6.00 18.00	3.00 D	6.00 18.00
Total Credit 22.00		FINAL CGPI --	FINAL GRADE --		

7075423 SOMARDE ONAKR RAJARM MAYA

42871	42872	MEL701	MEL702	MEL703	MEP701							
32+ 8+ 40	32E 12+ 44	-- 18+ 33	-- 14+ 30	-- 16+ 34	-- 30+ 30	Unsuccessful						
		-- 15+	-- 16+	-- 18+								
4.00 P	4.00 16.00	3.00 P	4.00 12.00	1.00 C	7.00 7.00	1.00 C	7.00 7.00	1.00 C	7.00 7.00	3.00 C	7.00 21.00	-- --

7075433	RAUT GANESH SURESH SUREKHA	2022016402172684	(30)Shahapur-(945)	42871 126F	15+	41	42872 148+	16+	64	MEL701 23+	47	MEL702 23+	46	MEL703 20+	40	MEP701 44+	44	Unsuccessful	22.00	--				
				4.00	F	0.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	--	--
				42875 132+	12+	44	42876 151+	16+	67	42879 135+	15+	50												
				3.00	P	4.00	3.00	C	7.00	21.00	3.00	D	6.00	18.00										
				Total Credit		22.00	FINAL CGPI		--	FINAL GRADE		--												

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - O.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7075434	KUNJAN NITENDRA RAUT JAGRUTI	42871 132	14+	46	42872 152+	14+	66	MEL701 22+	45	MEL702 23+	45	MEL703 21+	39	MEP701 45+	45	Successful	22.00	145.00									
	2022016402173196	4.00	E	5.00	20.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	3.00	O	10.00	30.00	6.59	--
	(30)Shahapur-(945)	42875 132+	12+	44	42876 141+	14+	55	42879 136+	12+	48																	
		3.00	P	4.00	12.00	3.00	D	6.00	18.00	3.00	E	5.00	15.00														
		Total Credit		22.00	FINAL CGPI		--	FINAL GRADE		--																	
7075435	UTTAM MANOHAR SHELKE ROSHANA	42871 19F	9E	28	42872 133E	10E	43	MEL701 20E	40	MEL702 20E	40	MEL703 20E	42	MEP701 44E	44	Unsuccessful	--	--									
	2021016402367073	4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	--	--
	(30)Shahapur-(945)	42875 141E	9E	50	42876 142E	12E	54	42879 144E	11E	55																	
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	D	6.00	18.00														

		Total Credit --			FINAL CGPI --			FINAL GRADE --											
7075436	SOKANDE RUPESH KRISHNA KALPANA	42871	42872	MEL701	MEL702	MEL703	MEP701	Successful											
		32 10+ 42	32+ 10+ 42	-- 21+ 42	-- 22+ 42	-- 19+ 37	-- 42+ 42	22.00 122.00											
	2017016400395516	4.00 P 4.00 16.00	3.00 P 4.00 12.00	1.00 O 10.00 10.00	1.00 O 10.00 10.00	1.00 B 8.00 8.00	3.00 O 10.00 30.00	5.55 --											
	(30)Shahapur-(945)	42875	42876	42879															
		32+ 12+ 44	32+ 11+ 43	32+ 11+ 43															
		3.00 P 4.00 12.00	3.00 P 4.00 12.00	3.00 P 4.00 12.00															
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --											

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT						
Mother Name	PRN.	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G	SGPI	GRADE	
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11												
		Total			Total			Total			Total			Total												
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	

7075437	GAMNE YOGESH RAMESH HIRA	42871	42872	MEL701	MEL702	MEL703	MEP701	Unsuccessful											
		19F 12+ 31	11F 12+ 23	-- 18+ 35	-- 17+ 35	-- 20+ 40	-- 42+ 42	22.00 --											
	2024016400137485	4.00 F 0.00 0.00	3.00 F 0.00 0.00	1.00 B 8.00 8.00	1.00 B 8.00 8.00	1.00 O 10.00 10.00	3.00 O 10.00 30.00	-- --											
	(36)Karjat-(438)	42874	42876	42885															
		11F 12+ 23	36E 10+ 46	51E 11+ 62															
		3.00 F 0.00 0.00	3.00 E 5.00 15.00	3.00 C 7.00 21.00															
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --											

7075438	ADHIKARI ABHINANDAN ANIL ARCHANA	42871	42872	MEL701	MEL702	MEL703	MEP701	Successful											
		34 16 50	49 17 66	-- 20 41	-- 20 40	-- 21 42	-- 35 35	22.00 171.00											
	2022016402455886	4.00 D 6.00 24.00	3.00 C 7.00 21.00	1.00 O 10.00 10.00	1.00 O 10.00 10.00	1.00 O 10.00 10.00	3.00 B 8.00 24.00	7.77 --											
	(36)Karjat-(438)	42874	42876	42885															
		51 17 68	57 18 75	53 17 70															
		3.00 C 7.00 21.00	3.00 A 9.00 27.00	3.00 B 8.00 24.00															
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --											

7075439	KHARAT SWAPNIL SIDHARTH MANGAL	2021016402249743	(36)Karjat-(438)	42871 38+ 11+ 49	42872 34+ 12+ 46	MEL701 19+ 20+ 39	MEL702 19+ 20+ 38	MEL703 20+ 21+ 41	MEP701 20+ 45+ 45	Successful 22.00 147.00						
				4.00 E	5.00 20.00	3.00 E	5.00 15.00	1.00 A	9.00 9.00	1.00 A	9.00 9.00	1.00 O	10.00 10.00	3.00 O	10.00 30.00	6.68 --
				42874 41 9+ 50	42876 39+ 12+ 51	42885 40+ 12+ 52										
				3.00 D	6.00 18.00	3.00 D	6.00 18.00	3.00 D	6.00 18.00							
				Total Credit 22.00			FINAL CGPI --			FINAL GRADE --						

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G		CR																				

7075440	SHEWALE ABHIJEET VIJAY SUNITA	2018016401167287	(36)Karjat-(438)	42871 AA 8+ 8	42872 42+ 12+ 54	MEL701 17+ 19+ 36	MEL702 18+ 15+ 33	MEL703 18+ 17+ 35	MEP701 45+ 45	ABS -- --						
				4.00 F	0.00 0.00	3.00 D	6.00 18.00	1.00 B	8.00 8.00	1.00 C	7.00 7.00	1.00 B	8.00 8.00	3.00 O	10.00 30.00	-- --
				42874 AA 9+ 9	42876 AA 11+ 11	42885 38+ 15+ 53										
				3.00 F	0.00 0.00	3.00 F	0.00 0.00	3.00 D	6.00 18.00							
				Total Credit --			FINAL CGPI --			FINAL GRADE --						

7075441	MAHAJAN SUKDEO PUNJU VIMALBAI PUNJU MAHAJAN	2022016402414263	(36)Karjat-(734)	42871 23F 13+ 36	42872 44+ 17+ 61	MEL701 22+ 21+ 43	MEL702 21+ 21+ 42	MEL703 21+ 21+ 42	MEP701 45+ 45	Unsuccessful 22.00 --						
				4.00 F	0.00 0.00	3.00 C	7.00 21.00	1.00 O	10.00 10.00	1.00 O	10.00 10.00	1.00 O	10.00 10.00	3.00 O	10.00 30.00	-- --
				42874 32+ 17+ 49	42876 46+ 18+ 64	42885 42+ 18+ 60										
				3.00 E	5.00 15.00	3.00 C	7.00 21.00	3.00 C	7.00 21.00							
				Total Credit 22.00			FINAL CGPI --			FINAL GRADE --						

7075442	BHALERAO KESHAV RAJESH FULAN	42871 33	11+	44	36+	9+	45	--	22+	44	--	23+	46	--	20+	43	--	39+	39		Successful	22.00	133.00					
	2021016402378191								22+			23+			23+													
		4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	A	9.00	27.00		6.05	--
	(36)Karjat-(807)	42874 32+	10+	42	40+	8+	48	44+	9+	53																		
		3.00	P	4.00	12.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00															
		Total Credit 22.00 FINAL CGPI -- FINAL GRADE --																										

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT			
Mother Name	PRN.	CR	GR	GP	C*G	CR	C*G	SGPI	GRADE																				

7075443	KOILKAR MOHAMMAD KAIF SHAKIL FARZANA	42871 AA	8+	8	35+	8+	43	--	20+	41	--	19+	39	--	19+	39	--	37+	37		ABS	--	--					
	2021016402378577								21+			20+			20+													
		4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00	3.00	B	8.00	24.00		--	--
	(36)Karjat-(807)	42874 34+	11+	45	32+	8+	40	45+	8+	53																		
		3.00	E	5.00	15.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00															
		Total Credit -- FINAL CGPI -- FINAL GRADE --																										

7075444	KAMBLE VIKRANT RAMESH VIMAL	42871 AA	13+	13	35+	14+	49	--	19+	38	--	20+	42	--	19+	38	--	39+	39		ABS	--	--					
	2021016402377535								19+			22+			19+													
		4.00	F	0.00	0.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00		--	--
	(36)Karjat-(807)	42875 37+	16+	53	AA	12+	12	32+	15+	47																		
		3.00	D	6.00	18.00	3.00	F	0.00	0.00	3.00	E	5.00	15.00															
		Total Credit -- FINAL CGPI -- FINAL GRADE --																										

7075445	SUBODH SHRIDHAR DESHMUKH	42871			42872			MEL701			MEL702			MEL703			MEP701				Unsuccessful		
---------	--------------------------	-------	--	--	-------	--	--	--------	--	--	--------	--	--	--------	--	--	--------	--	--	--	--------------	--	--

(36)Karjat-(857)

42874	42876	42885			
35+	12+ 47	37+ 11+ 48	44+ 11+ 55		
3.00 E	5.00 15.00	3.00 E 5.00 15.00	3.00 D 6.00 18.00		
Total Credit 22.00		FINAL CGPI --	FINAL GRADE --		

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.126

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT CR C*G SGPI GRADE					
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR		GP	C*G			
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7075455	SAFIULLAH ABDUL HASAN ZARINA 2020016402207564 (36)Karjat-(857)	42871 32+ 4.00 P	11+ 	43 	42872 32+ 3.00 E	17+ 	49 	5.00 15.00	MEL701 -- 1.00 O	22+ 19+ 	41 	10.00 10.00	MEL702 -- 1.00 C	19+ 15+ 	34 	7.00 7.00	MEL703 -- 1.00 A	19+ 20+ 	39 	9.00 9.00	MEP701 -- 3.00 B	36+ 	36 	24.00 	-- --
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																	
7075456	/ THORAT AISHWARYA YOGESH REKHA 2021016402239234 (36)Karjat-(857)	42871 18F	18+ 	36 	42872 33+ 	15+ 	48 	5.00 15.00	MEL701 -- 1.00 O	20+ 20+ 	40 	10.00 10.00	MEL702 -- 1.00 O	20+ 20+ 	40 	10.00 10.00	MEL703 -- 1.00 B	18+ 19+ 	37 	8.00 8.00	MEP701 -- 3.00 O	40+ 	40 	30.00 	-- --
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																	
7075457	KADAM ADITYA RAJENDRA RIKITA 2020016402193546	42871 40+	12+ 	52 	42872 35+ 	8+ 	43 	4.00 12.00	MEL701 -- 1.00 A	18+ 20+ 	38 	9.00 9.00	MEL702 -- 1.00 D	11+ 14+ 	25 	6.00 6.00	MEL703 -- 1.00 C	14+ 16+ 	30 	7.00 7.00	MEP701 -- 3.00 O	41+ 	41 	30.00 	6.45 --
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																	

(40)Khed-(742)

42875	42878	42885
139+ 14+ 53	133 12+ 45	152+ 8+ 60
13.00 D 6.00 18.00	13.00 E 5.00 15.00	13.00 C 7.00 21.00
Total Credit 22.00 FINAL CGPI -- FINAL GRADE --		

/ - FEMALE, # - 0.229A ,@ - O.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - O.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.127

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075458	KADAM PRATIK RAJENDRA ROHINI 2020016402131387 (40)Khed-(742)	42871 135+ 4.00 E	14+ 14+ 5.00	49 49 20.00	42872 142 3.00 D	12+ 12+ 6.00	54 54 18.00	1.00 O	MEL701 20+ 10.00	43 43 10.00	1.00 O	MEL702 23+ 10.00	46 46 10.00	1.00 B	MEL703 15+ 8.00	36 36 8.00	43+ 43+ 10.00	43 43 30.00	6.00	Successful 22.00 132.00 --						
7075459	MOHITE ANKUSH AKSHAY VAISHALI 2019016401393326 (40)Khed-(742)	42871 133+ 4.00 P	10+ 10+ 4.00	43 43 16.00	42872 132+ 3.00 P	8+ 8+ 4.00	40 40 12.00	1.00 D	MEL701 11+ 6.00	27 27 6.00	1.00 E	MEL702 11+ 5.00	23 23 5.00	1.00 P	MEL703 11+ 4.00	22 22 4.00	38+ 38+ 9.00	38 38 27.00	--	Unsuccessful 22.00 -- --						
7075460	PARKAR ANAS ALTAF HUSAIN NAZIMA 2022016402204676 (40)Khed-(742)	42871 141 4.00 D	9+ 9+ 6.00	50 50 24.00	42872 157 3.00 B	13+ 13+ 8.00	70 70 24.00	1.00 C	MEL701 16+ 7.00	32 32 7.00	1.00 O	MEL702 22+ 10.00	42 42 10.00	1.00 B	MEL703 17+ 8.00	37 37 8.00	43+ 43+ 10.00	43 43 30.00	7.68	Successful 22.00 169.00 --						

|3.00 F 0.00 0.00 |3.00 F 0.00 0.00 |3.00 P 4.00 12.00 |
 Total Credit 22.00 FINAL CGPI -- FINAL GRADE --

 / - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.129

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

 42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE																															
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G																																
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11																																							
		Total				Total				Total				Total				Total																																							
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G																																
7075464	DHAMNASKAR PARTH VIVEK MANASI MANASI 2020016402244516 (41)Guhaghar-(978)	42871 18F	12+	30	32+	11+	43	42872 32+	11+	43	MEL701 --	16+	35	MEL702 --	19+	37	MEL703 --	18+	38	MEP701 --	37+	37	22.00	--																																	
		4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	3.00	B	8.00	24.00	--																															
		42874				42877				42884																																															
		37E				15+				52				32+				12+				44				32+				11+				43																							
		3.00				D				6.00				18.00				3.00				P				4.00				12.00				3.00				P				4.00				12.00											
		Total Credit				22.00				FINAL CGPI				--				FINAL GRADE				--																																			
7075465	REDEKAR AKASH RAVINDRA RESHMA 2022016402054163 (41)Guhaghar-(978)	42871 25F	13+	38	35+	14+	49	42872 35+	14+	49	MEL701 --	16+	32	MEL702 --	19+	37	MEL703 --	16+	34	MEP701 --	38+	38	22.00	--																																	
		4.00	F	0.00	0.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00	3.00	A	9.00	27.00	--																															
		42874				42877				42884																																															
		35E				12+				47				13F				12+				25				40+				9+				49																							
		3.00				E				5.00				15.00				3.00				F				0.00				0.00				3.00				E				5.00				15.00											
		Total Credit				22.00				FINAL CGPI				--				FINAL GRADE				--																																			
7075466	SHIRKE ATHARVA SUDHAKAR NITA 2020016402244563 (41)Guhaghar-(978)	42871 32	12+	44	51+	11+	62	42872 51+	11+	62	MEL701 --	17+	37	MEL702 --	20+	40	MEL703 --	16+	34	MEP701 --	38+	38	22.00	128.00																																	
		4.00	P	4.00	16.00	3.00	C	7.00	21.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	3.00	A	9.00	27.00	5.82	--																														
		42874				42877				42879																																															
		32+				12+				44				34+				8+				42				36+				12+				48																							
		3.00				D				6.00				18.00				3.00				P				4.00				12.00				3.00				P				4.00				12.00											

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.131

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE														
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G															
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11																						
		Total				Total				Total				Total				Total				Total																		
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G			
7075470	ANSARI MOHAMMAD ADNAN ARIF MEHMOOD - SHAHIDA 2021016402101552 (47)Bhayandar--(890)	42871 16F	11+	27	35+	11+	46	---	19+	40	---	23+	39	---	22+	43	---	40+	40	---	22.00	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	
		4.00	F	0.00	0.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	---	---	---	---	---	---	---	---	---	---	---	---	---		
		42875 38+	13+	51	42+	11+	53	---	36+	13+	49	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	E	5.00	15.00	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																														
7075471	AYARE AKSHAT VIKAS ANJALI VIKAS AYARE 2021016402103543 (47)Bhayandar--(890)	42871 38	15	53	40	13	53	---	20	40	---	14	28	---	16	36	---	32	32	---	22.00	144.00	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	
		4.00	D	6.00	24.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00	3.00	C	7.00	21.00	6.55	---	---	---	---	---	---	---	---	---	---	---	---	---	
		42875 36	14	50	49	16	65	---	39	18	57	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	
		3.00	D	6.00	18.00	3.00	C	7.00	21.00	3.00	D	6.00	18.00	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																														
7075472	BHIMANI KEVAL MANOJ VARSHA 2022016402313927 (47)Bhayandar--(890)	42871 32	16	48	39	16	55	---	22	44	---	16	30	---	17	37	---	35	35	---	22.00	141.00	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	
		4.00	E	5.00	20.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	B	8.00	24.00	6.41	---	---	---	---	---	---	---	---	---	---	---	---	---	---
		42875 32	15	47	40	16	56	---	48	14	62	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---
		3.00	E	5.00	15.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---	---
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																														

/ - FEMALE, # - 0.229A ,@ - O.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - O.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT				
	Mother Name	Total				Total				Total				Total				Total				Total				CR C*G				
	PRN.	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI GRADE
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11												
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G					
7075473	CHAURASIYA RAKESH SAMARNATH DURGAVATI	42871	40E	15E	55	42872	48E	11E	59	MEL701	--	21E	42	MEL702	--	12E	27	MEL703	--	18E	39	MEP701	--	30E	30					Unsuccessful
	2021016402100893	4.00	D	6.00	24.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	D	15E	6.00	1.00	A	9.00	9.00	3.00	C	7.00	21.00					-- --
	(47)Bhayandar-(890)	42875	11F	17E	28	42876	33E	14E	47	42885	38E	15E	53																	
		3.00	F	0.00	0.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00																	
		Total Credit --				FINAL CGPI --				FINAL GRADE --																				
7075474	GAWAS SADANAND ULHAS URMILA	42871	34	13	47	42872	32+	10	42	MEL701	--	19+	42	MEL702	--	18+	36	MEL703	--	22+	44	MEP701	--	41+	41					Successful
	2022016402315725	4.00	E	5.00	20.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	6.41	--			
	(47)Bhayandar-(890)	42875	43+	11+	54	42876	38+	9+	47	42885	41+	12+	53																	
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00																	
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																				
7075475	GUPTA ROHIT BHIMSEN RADHIKA	42871	32+	8+	40	42872	35+	13+	48	MEL701	--	15+	31	MEL702	--	19+	38	MEL703	--	21+	42	MEP701	--	34+	34					Successful
	2021016402100243	4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	3.00	C	7.00	21.00	5.32	--			
	(47)Bhayandar-(890)	42875	32+	11+	43	42876	35	8+	43	42885	37+	8+	45																	
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	E	5.00	15.00																	
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																				

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.133

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT CR C*G SGPI GRADE						
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR		GP	C*G				
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11												
		Total			Total			Total			Total			Total												
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G					
7075476	JAISWAR SHIVKUMAR GHANSHYAM USHA 2020016402070353 (47)Bhayandar-(890)	42871 36E	12+	48	45+	9+	54	20E	40	MEL701 20E	40	MEL702 18+	36	MEL703 18+	36	MEP701 AA	AA	AA	AA	AA	Unsuccessful 22.00 --					
		4.00	E	5.00	20.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	F	0.00	AB	-- --
		42875 55+	16+	71	42876 58+	12+	70	42885 60+	15+	75																
		3.00	B	8.00	24.00	3.00	B	8.00	24.00	3.00	A	9.00	27.00													
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --			FINAL GRADE --			FINAL GRADE --												
7075477	KADAM JAY VIKAS ARCHANA 2021016402102772 (47)Bhayandar-(890)	42871 36+	11+	47	42872 36+	13+	49	MEL701 21+	41	MEL702 20+	41	MEL703 18+	37	MEL703 23+	46	MEP701 40+	40	40	40	40	Successful 22.00 153.00					
		4.00	E	5.00	20.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	6.95 --
		42875 39+	15+	54	42876 37+	14	51	42885 53+	17+	70																
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	B	8.00	24.00													
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --			FINAL GRADE --			FINAL GRADE --												
7075478	PATIL VARUN JITENDRA MANISHA 2021016402102787 (47)Bhayandar-(890)	42871 27F	15E	42	42872 32E	10E	42	MEL701 22E	44	MEL702 22E	44	MEL703 14E	30	MEL703 16E	36	MEP701 30E	30	30	30	30	Unsuccessful -- --					
		4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	C	7.00	21.00	-- --
		42875 11F	9E	20	42876 35E	17E	52	42885 40E	14E	54																
		3.00	F	0.00	0.00	3.00	D	6.00	18.00	3.00	D	6.00	18.00													
		Total Credit --			FINAL CGPI --			FINAL GRADE --			FINAL GRADE --			FINAL GRADE --												

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.134

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		Total				Total				Total				Total				Total								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075479	PAWAR MEHEER HEERASINGH ANUSHA	42871	32E	13E	45	42872	37+	10E	47	MEL701	--	19+	39	MEL702	--	18+	34	MEL703	--	20+	40	MEP701	--	32+	32	Unsuccessful 22.00 --
	2021016402095336	4.00	E	5.00	20.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	3.00	C	7.00	21.00	-- --
	(47)Bhayandar-(890)	42875	6F	11E	17	42876	32+	10E	42	42885	36+	14E	50													
		3.00	F	0.00	0.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075480	SHAIKH ADNAN ZAFAR FARZANA	42871	21F	15E	36	42872	33E	8E	41	MEL701	--	19E	38	MEL702	--	15E	29	MEL703	--	12E	27	MEP701	--	30E	30	Unsuccessful -- --
	2021016402095313	4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	3.00	C	7.00	21.00	-- --
	(47)Bhayandar-(890)	42875	32E	11E	43	42876	44E	11E	55	42885	51E	13E	64													
		3.00	P	4.00	12.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
7075481	SHAIKH WASIM NIYAZ AHMED HUSANARA	42871	42E	16E	58	42872	61E	13E	74	MEL701	--	22E	44	MEL702	--	10E	20	MEL703	--	17E	34	MEP701	--	35E	35	Unsuccessful -- --
	2022016402317465	4.00	D	6.00	24.00	3.00	B	8.00	24.00	1.00	O	10.00	10.00	1.00	P	4.00	4.00	1.00	C	7.00	7.00	3.00	B	8.00	24.00	-- --
	(47)Bhayandar-(890)	42875	11F	18E	29	42876	59E	15E	74	42885	53E	15E	68													
		3.00	F	0.00	0.00	3.00	B	8.00	24.00	3.00	C	7.00	21.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.135

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075482	SHARMA SUNNY AJAY POONAM 2021016402099601 (47)Bhayandar-(890)	42871 17F	14+	21	32+	42872 13+	45	MEL701 1--	22+	41	MEL702 1--	19+	35	MEL703 1--	22+	44	MEP701 1--	40+	40	Unsuccessful 22.00 --						
		4.00 F	0.00 0.00	3.00 E	5.00 15.00	1.00 O	10.00 10.00	1.00 B	8.00 8.00	1.00 O	10.00 10.00	3.00 O	10.00 30.00													
		42875 110F	10+	20	42876 32E	12+	44	42885 32E	13+	45																
		3.00 F	0.00 0.00	3.00 P	4.00 12.00	3.00 E	5.00 15.00																			
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075483	SINGH ASHISH SANJAY MEERA 2020016402070345 (47)Bhayandar-(890)	42871 119F	12+	31	42872 36E	14+	50	MEL701 1--	18+	37	MEL702 1--	19+	35	MEL703 1--	21+	42	MEP701 1--	40+	40	Unsuccessful 22.00 --						
		4.00 F	0.00 0.00	3.00 D	6.00 18.00	1.00 B	8.00 8.00	1.00 B	8.00 8.00	1.00 O	10.00 10.00	3.00 O	10.00 30.00													
		42875 143+	16+	59	42876 32+	13+	45	42885 49+	19+	68																
		3.00 D	6.00 18.00	3.00 E	5.00 15.00	3.00 C	7.00 21.00																			
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075484	THENGAL DEV DHARMENDRA CHAITALI THENGAL 2021016402102443 (47)Bhayandar-(890)	42871 120F	14E	34	42872 48E	11E	59	MEL701 1--	20E	40	MEL702 1--	14E	28	MEL703 1--	18E	36	MEP701 1--	32E	32	Unsuccessful -- --						
		4.00 F	0.00 0.00	3.00 D	6.00 18.00	1.00 O	10.00 10.00	1.00 D	6.00 6.00	1.00 B	8.00 8.00	3.00 C	7.00 21.00													
		42875 124F	18E	42	42876 48E	13E	61	42885 60E	14E	74																
		3.00 F	0.00 0.00	3.00 C	7.00 21.00	3.00 B	8.00 24.00																			
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - O.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.136

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering) - B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		Total				Total				Total				Total				Total								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075485	BHAGAT BHUSHAN VIKAS KESHAR	32	17+	49	49	50+	11+	61	61	---	20+	41	41	---	19+	38	38	---	23+	44	44	---	44+	44	44	Successful 22.00 160.00
	2021016402349222	4.00	E	5.00	20.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	7.27 --
	(62)Tala-(946)	38+	11+	49	49	56+	15+	71	71	46+	16+	62	62													
		3.00	E	5.00	15.00	3.00	B	8.00	24.00	3.00	C	7.00	21.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075486	CHAVARKAR SIDDHARTH BHAGWAN JAYASHRI	56	14	70	70	40+	15	55	55	---	20+	41	41	---	18	38	38	---	20+	41	41	---	44+	44	44	Successful 22.00 166.00
	2022016402109692	4.00	B	8.00	32.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	7.55 --
	(62)Tala-(946)	47	8+	55	55	56+	8+	64	64	48+	10+	58	58													
		3.00	D	6.00	18.00	3.00	C	7.00	21.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075487	DESHMUKH ROHAN NARENDRA MEGHA	32+	11+	43	43	32+	9+	41	41	---	20+	41	41	---	16+	32	32	---	22+	42	42	---	41+	41	41	Successful 22.00 130.00
	2021016402349245	4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	5.91 --
	(62)Tala-(946)	38	11+	49	49	32+	13+	45	45	35+	13+	48	48													
		3.00	E	5.00	15.00	3.00	E	5.00	15.00	3.00	E	5.00	15.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - O.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points äCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 äC:sum of credit points GPA: äCG /äC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.137

University of Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11				Total				
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075488	/ DHADVE SAMIKSHA DILIP SUREKHA 2021016402349686 (62)Tala-(946)	42871 32+ 4.00 P	9+ 9+ 4.00	41 41 16.00	42872 32 3.00 P	9+ 9+ 4.00	41 41 12.00	MEL701 --- 1.00 A	19+ 19+ 9.00	39 39 9.00	MEL702 --- 1.00 B	18+ 18+ 8.00	36 36 8.00	MEL703 --- 1.00 O	22+ 22+ 10.00	42 42 10.00	MEP701 --- 3.00 O	41+ 41+ 10.00	41 41 30.00	Successful 22.00 130.00 5.91 --						
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075489	GAVAND RUTIK VILAS NITA 2022016402085625 (62)Tala-(946)	42871 58 4.00 C	10+ 10+ 7.00	68 68 28.00	42872 32+ 3.00 P	11+ 11+ 4.00	43 43 12.00	MEL701 --- 1.00 O	21+ 21+ 10.00	43 43 10.00	MEL702 --- 1.00 O	20+ 20+ 10.00	41 41 10.00	MEL703 --- 1.00 O	21+ 21+ 10.00	43 43 10.00	MEP701 --- 3.00 O	43+ 43+ 10.00	43 43 30.00	Successful 22.00 157.00 7.14 --						
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075490	KHADTAR SAHIL PANDHARINATH PRANALI 2022016402110053 (62)Tala-(946)	42871 35 4.00 E	10+ 10+ 5.00	45 45 20.00	42872 36+ 3.00 D	14 14 6.00	50 50 18.00	MEL701 --- 1.00 O	21+ 21+ 10.00	43 43 10.00	MEL702 --- 1.00 O	20+ 20+ 10.00	41 41 10.00	MEL703 --- 1.00 O	21+ 21+ 10.00	43 43 10.00	MEP701 --- 3.00 O	43+ 43+ 10.00	43 43 30.00	Successful 22.00 149.00 6.77 --						
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - O.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;

NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.138

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT CR C*G SGPI GRADE						
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR		GP	C*G				
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11												
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G					
7075491	KODE SAHIL GANESH MALTI 2022016402085486 (62)Tala-(946)	42871 AA	15+	15	42872 39+	14+	53	MEL701 --	20+	41	MEL702 --	20+	40	MEL703 --	20+	41	MEP701 --	45+	45		ABS -- --					
		4.00	F	0.00	0.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	-- --				
		Total Credit --			FINAL CGPI --			FINAL GRADE --																		
7075492	MAPKAR NABIL ANWAR DILNAWZ 2021016402349922 (62)Tala-(946)	42871 32+	10+	42	42872 AA	8+	8	MEL701 --	20+	41	MEL702 --	17+	33	MEL703 --	22+	42	MEP701 --	38+	38		ABS -- --					
		4.00	P	4.00	16.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	3.00	A	9.00	27.00	-- --
		Total Credit --			FINAL CGPI --			FINAL GRADE --																		
7075493	PATIL HARSH NASHIKET SUVARNA 2022016402110014 (62)Tala-(946)	42871 33E	14E	47	42872 37+	15E	52	MEL701 --	20+	41	MEL702 --	21+	42	MEL703 --	20+	41	MEP701 --	42+	42		Unsuccessful 22.00 --					
		4.00	E	5.00	20.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	-- --				
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																		

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668

MARKS	GRADE	GRADE POINT	GPA: aCG /aC	40 to 44.99	45 to 49.99	50 to 59.99	60 to 69.99	70 to 74.99	75 to 79.99	80 to 100
: 0 to 39.99	: F	: 0.00		4.00	5.00	6.00	7.00	8.00	9.00	10.00

5/7/2025

Page No.139

University of Mumbai, Mumbai
OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT CR C*G SGPI GRADE								
		CR	GR	GP	CR	GR	GP	CR	GR	GP	CR	GR	GP	CR	GR	GP	CR	GR	GP									
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11														
		Total			Total			Total			Total			Total														
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G							
7075494	PATIL SAHIL MANOHAR SUJATA	42871	39	12+	51	42872	35+	13+	48	MEL701	--	21+	43	MEL702	--	20+	41	MEL703	--	21+	43	MEP701	--	43+	43	22.00	147.00	Successful
	2022016402294603	4.00	D	6.00	24.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	6.68	--	--
	(62)Tala-(946)	42874	42+	9+	51	42877	36+	10+	46	42879	32+	14+	46															
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	E	5.00	15.00															
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																				
7075495	RAHATWILKAR AWAIS SHAMIM	42871	41	8+	49	42872	32+	8+	40	MEL701	--	16+	33	MEL702	--	16+	32	MEL703	--	21+	40	MEP701	--	35+	35	22.00	122.00	Successful
	2021016402349214	4.00	E	5.00	20.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	3.00	B	8.00	24.00	5.55	--	--
	(62)Tala-(946)	42874	36	8+	44	42877	32+	8+	40	42879	44+	8+	52															
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00															
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																				
7075496	RANE OMKAR MANOHER RANJANA	42871	52	9+	61	42872	38+	8+	46	MEL701	--	22+	45	MEL702	--	22+	44	MEL703	--	22+	45	MEP701	--	40+	40	22.00	154.00	Successful
	2021016402277461	4.00	C	7.00	28.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	7.00	--	--
	(62)Tala-(946)	42874	38+	16	54	42877	32+	16	48	42879	41+	14+	55															
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00															
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																				

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL=NULL & VOID, G:Grade C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC

MARKS	: 0 to 39.99	40 to 44.99	45 to 49.99	50 to 59.99	60 to 69.99	70 to 74.99	75 to 79.99	80 to 100
GRADE	: F	P	E	D	C	B	A	O
GRADE POINT	: 0.00	4.00	5.00	6.00	7.00	8.00	9.00	10.00

5/7/2025

Page No.140

University of Mumbai, Mumbai
OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7075497	SALVI OMKAR NANDKUMAR NISHA	48	12+	60	35+	11+	46	---	22+	45	---	21+	43	---	22+	45	---	45+	45	22.00	151.00	Successful					
	2022016402085513	4.00	C	7.00	28.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	6.86	--
	(62)Tala-(946)	42874	38+	14+	52	42877	32+	14+	46	42879	34+	15+	49														
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	E	5.00	15.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	
7075498	JAY SURESH WALAPKAR SAYALI	35	12+	47	37+	10+	47	---	20+	41	---	20+	40	---	20+	41	---	42+	42	22.00	140.00	Successful					
	2022016402419337	4.00	E	5.00	20.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	6.36	--
	(62)Tala-(946)	42874	48+	10+	58	42877	36	12+	48	42879	32+	10+	42														
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	P	4.00	12.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	
7075499	BHAGADE NIKHIL JAYRAM PALLAVI	36	9+	45	32+	11+	43	---	19+	37	---	18+	37	---	20+	38	---	41+	41	22.00	126.00	Successful					
	2021016402197971	4.00	E	5.00	20.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	3.00	O	10.00	30.00	5.73	--
	(76)Navi Mumbai-(403)	42874	32+	11+	43	42876	32	11+	43	42885	37+	10+	47														
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	E	5.00	15.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100

GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

5/7/2025

Page No.141

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering) - B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date: 05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT						
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G	SGPI GRADE
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11														
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G							
7075500	BHOI SANDESH MACHHINDRANATH VISHAKHA 2021016402196967 (76)Navi Mumbai-(403)	42871 32	9+	41	16.00	42872 34	15+	49	15.00	MEL701 1.00	B	8.00	8.00	MEL702 1.00	D	6.00	6.00	MEL703 1.00	B	8.00	8.00	MEP701 3.00	A	9.00	27.00	5.27	--	Successful	22.00	116.00		
		42874 32+	9+	41	12.00	42876 35	8+	43	12.00	42885 32+	8+	40	12.00																			
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																						
7075501	GHARAT SUYASH DEEPAK MEENA 2021016402198185 (76)Navi Mumbai-(403)	42871 32	9+	41	16.00	42872 40	16+	56	18.00	MEL701 1.00	A	9.00	9.00	MEL702 1.00	D	6.00	6.00	MEL703 1.00	C	7.00	7.00	MEP701 3.00	A	9.00	27.00	5.82	--	Successful	22.00	128.00		
		42874 32+	12+	44	12.00	42876 34+	12+	46	15.00	42885 45	8+	53	18.00																			
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																						
7075502	JADHAV SHRUTESH SANDEEP SANDHYA 2021016402197715 (76)Navi Mumbai-(403)	42871 19F	10+	29	0.00	42872 32+	15+	47	15.00	MEL701 1.00	A	9.00	9.00	MEL702 1.00	C	7.00	7.00	MEL703 1.00	B	8.00	8.00	MEP701 3.00	B	8.00	24.00	--	--	Unsuccessful	22.00	--		
		42874 34+	12+	46	15.00	42876 32+	12+	44	12.00	42885 55E	8+	63	21.00																			
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																						

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O

University of Mumbai, Mumbai
 OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		Total				Total				Total				Total				Total											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7075503	JHA SHIVAMKUMAR SANJAY KUMAR SARITA 2021016402197994 (76)Navi Mumbai-(403)	42871 11F	9+	20	32+	42872 12+	44	44	18+	MEL701 17+	35	35	16+	MEL702 17+	33	33	20+	MEL703 17+	37	37	39+	39	39	22.00	--	22.00	--		
		4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	A	9.00	27.00	--	--		
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			
7075504	KADAM AMIT ANIL NAMRATA 2021016402198081 (76)Navi Mumbai-(403)	42871 33	8+	41	44+	42872 11+	55	55	19+	MEL701 17+	36	36	20+	MEL702 23+	43	43	18+	MEL703 16+	34	34	38+	38	38	22.00	134.00	6.09	--		
		4.00	P	4.00	16.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	3.00	A	9.00	27.00	6.09	--		
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			
7075505	KHANE SAURABH BABAN BHARATI 2020016401998212 (76)Navi Mumbai-(403)	42871 41	16	57	60	42872 17	77	77	21	MEL701 17	38	38	15	MEL702 15	30	30	20	MEL703 20	40	40	47	47	47	22.00	173.00	7.86	--		
		4.00	D	6.00	24.00	3.00	A	9.00	27.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	7.86	--		
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT CR C*G SGPI GRADE						
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR		GP	C*G				
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11												
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G					
7075506	KOKANE OMKAR GANPATRAO SANGITA 2021016402198347 (76)Navi Mumbai-(403)	42871 24F	14+	38	42872 34E	14+	48	MEL701 --	20+	38	MEL702 --	20+	40	MEL703 --	19+	36	MEP701 --	40+	40		Unsuccessful 22.00 --					
		4.00	F	0.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	-- --	
		42874 32+	12+	44	42876 35E	15+	50	42885 35+	9+	44																
		3.00	P	4.00	12.00	3.00	D	6.00	18.00	3.00	P	4.00	12.00													
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																		
7075507	NAGOTKAR SHRADDHESH YASHWANT ROHINI 2014016400589492 (76)Navi Mumbai-(403)	42871 19F	13+	32	42872 32+	14+	46	MEL701 --	18+	35	MEL702 --	11+	21	MEL703 --	19+	35	MEP701 --	38+	38		Unsuccessful 22.00 --					
		4.00	F	0.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	P	4.00	4.00	1.00	B	8.00	8.00	3.00	A	9.00	27.00	-- --	
		42874 37+	17+	54	42876 41+	13+	54	42885 40+	9+	49																
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	E	5.00	15.00													
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																		
7075508	PAL SANDEEP DAYARAM SARASWATI PAL 2020016401999784 (76)Navi Mumbai-(403)	42871 32+	13+	45	42872 50+	16+	66	MEL701 --	14+	29	MEL702 --	15+	34	MEL703 --	17+	35	MEP701 --	37+	37		Successful 22.00 140.00					
		4.00	E	5.00	20.00	3.00	C	7.00	21.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	B	8.00	24.00	6.36 --
		42874 41+	8+	49	42876 49	16+	65	42885 39+	16+	55																
		3.00	E	5.00	15.00	3.00	C	7.00	21.00	3.00	D	6.00	18.00													
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																		

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G					
7075509	PALSHETKAR TANAY KIAN POOJA 2022016402114492 (76)Navi Mumbai-(403)	42871 32	9	41		42872 32	16	48		MEL701 --	20	38		MEL702 --	16	32		MEL703 --	17	36		MEP701 --	45	45	Successful 22.00 136.00	
		4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	6.18 --
		42874 32	9	41		42876 51	13	64		42885 49	9	58														
		3.00	P	4.00	12.00	3.00	C	7.00	21.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075510	PATIL CHINMAY RAJENDRA SARITA 2021016402198475 (76)Navi Mumbai-(403)	42871 39	9+	48		42872 37+	8+	45		MEL701 --	16+	33		MEL702 --	16+	33		MEL703 --	23+	44		MEP701 --	40+	40	Successful 22.00 137.00	
		4.00	E	5.00	20.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	6.23 --
		42874 33+	11+	44		42876 45+	13+	58		42885 40+	11+	51														
		3.00	P	4.00	12.00	3.00	D	6.00	18.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075511	PATIL SIDDHESH VASANT NANDA 2021016402198235 (76)Navi Mumbai-(403)	42871 32E	11+	43		42872 38E	13+	51		MEL701 --	18+	35		MEL702 --	12+	27		MEL703 --	19+	35		MEP701 --	37+	37	Unsuccessful 22.00 --	
		4.00	P	4.00	16.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00	3.00	B	8.00	24.00	-- --
		42874 10F	12+	22		42876 40E	11+	51		42885 38E	8+	46														
		3.00	F	0.00	0.00	3.00	D	6.00	18.00	3.00	E	5.00	15.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7075512	SHAIKH SHANWAZ NIKAIL RAJINA 2020016401998684 (76)Navi Mumbai-(403)	42871 32	10+	42	42872 33	16+	49	MEL701 ---	18+	34	MEL702 ---	18+	38	MEL703 ---	19+	33	MEP701 ---	40+	40	Successful 22.00	129.00						
		4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	5.86	--
		42874 32+	14+	46	42876 37+	14+	51	42885 32+	10+	42																	
		3.00	E	5.00	15.00	3.00	D	6.00	18.00	3.00	P	4.00	12.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	
7075513 /	SHINDE SNEHA DHARMA SADHANA 2022016402110285 (76)Navi Mumbai-(403)	42871 32+	10+	42	42872 37+	13+	50	MEL701 ---	16+	32	MEL702 ---	18+	38	MEL703 ---	19+	38	MEP701 ---	39+	39	Successful 22.00	143.00						
		4.00	P	4.00	16.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00	6.50	--
		42874 32+	18+	50	42876 50	11+	61	42885 47	10+	57																	
		3.00	D	6.00	18.00	3.00	C	7.00	21.00	3.00	D	6.00	18.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	
7075514	SHIRKE TANMAY JITENDRA NEHA 2021016402197804 (76)Navi Mumbai-(403)	42871 5F	9+	14	42872 26F	11+	37	MEL701 ---	15+	31	MEL702 ---	13+	29	MEL703 ---	16+	31	MEP701 ---	36+	36	Unsuccessful 22.00	--						
		4.00	F	0.00	0.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	3.00	B	8.00	24.00	--	--
		42874 33+	13+	46	42876 36+	13+	49	42885 48E	8+	56																	
		3.00	E	5.00	15.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075515	SHIVARAME ADITYA ISHWAR JYOTI 2021016402197046 (76)Navi Mumbai-(403)	42871 21F	11+	32		42872 25F	12+	37		MEL701 ---	17+	33		MEL702 ---	13+	28		MEL703 ---	20+	38		MEP701 ---	38+	38	Unsuccessful 22.00 --	
		4.00	F	0.00	0.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00	-- --
		42874 33+	12+	45		42876 37+	10+	47		42885 32+	8+	40														
		3.00	E	5.00	15.00	3.00	E	5.00	15.00	3.00	P	4.00	12.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075516	CHOUDHARI BHAVARTH SUDHIR MEGHNA 2019016402379543 (76)Navi Mumbai-(426)	42871 26F	8+	34		42872 52+	9+	61		MEL701 ---	14+	24		MEL702 ---	16+	28		MEL703 ---	20+	32		MEP701 ---	24+	24	Unsuccessful 22.00 --	
		4.00	F	0.00	0.00	3.00	C	7.00	21.00	1.00	E	5.00	5.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	-- --
		42874 36+	10+	46		42876 32E	10+	42		42885 32+	9+	41														
		3.00	E	5.00	15.00	3.00	P	4.00	12.00	3.00	P	4.00	12.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075517	DONDE RAHUL SANJAY VANDANA SANJAY DONDE 2022016402293097 (76)Navi Mumbai-(428)	42871 27*	16	43		42872 38	15	53		MEL701 ---	14	33		MEL702 ---	20	39		MEL703 ---	21	37		MEP701 ---	36	36	Successful 22.00 137.00	
		4.00	E	5.00	20.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00	3.00	B	8.00	24.00	6.23 --
		42873 41	11	52		42876 34	8	42		42885 52	11	63														
		3.00	D	6.00	18.00	3.00	P	4.00	12.00	3.00	C	7.00	21.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai
OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		Total				Total				Total				Total				Total											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7075518	KHOBRAGADE VRUSHAL VIJAY SHALINI 2021016402177355 (76)Navi Mumbai-(428)	42871 35+	12	47	32+	11+	43	42872 16+	MEL701 21+	37	MEL702 12+	24	MEL703 17+	38	MEP701 43+	43	22.00	138.00	6.27	--	Successful								
		4.00	E	5.00	20.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	E	5.00	5.00	1.00	A	9.00	9.00	3.00	O	10.00	30.00				
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			
7075519	ATHARVA SANTOSH SAWANT SANJANA 2020016401963653 (76)Navi Mumbai-(428)	42871 AA	11+	11	32+	10+	42	42872 18+	MEL701 20+	38	MEL702 20+	40	MEL703 17+	34	MEP701 47+	47	--	--	--	--	ABS								
		4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00				
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
7075520	ZAINABA ABDUL RAUF SAJIDA ABDUL RAUF 2022016402274347 (76)Navi Mumbai-(428)	42871 38	15	53	68	15	83	42872 67	MEL701 17	40	MEL702 20	39	MEL703 20	37	MEP701 40	40	22.00	183.00	8.32	--	Successful								
		4.00	D	6.00	24.00	3.00	O	10.00	30.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00				
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE		
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G			
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11										
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G			
7075521	BHAGAT SHUBHARYA SHAILENDRA SAROJ 2022016402287127 (76)Navi Mumbai-(428)	42871 133	13	46	42872 149	16	65	MEL701 13	34	MEL702 16	37	MEL703 22	40	MEP701 40	40	Successful 22.00	165.00											
		4.00	E	5.00	20.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	10.00	3.00	O	10.00	30.00	7.50	--
		42874 141	18	59	42876 159	8	67	42885 14	82																			
		3.00	D	6.00	18.00	3.00	C	7.00	21.00	3.00	O	10.00	30.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		
7075522	BHOIR DEVDUTT MANOJ REKHA 2021016402183963 (76)Navi Mumbai-(428)	42871 137E	14E	51	42872 144E	12E	56	MEL701 12E	28	MEL702 12E	24	MEL703 21E	37	MEP701 36E	36	Unsuccessful --	--											
		4.00	D	6.00	24.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	E	5.00	5.00	1.00	B	8.00	8.00	3.00	B	8.00	24.00	--	--	
		42874 19F	12E	21	42876 163E	8E	71	42885 154E	11E	65																		
		3.00	F	0.00	0.00	3.00	B	8.00	24.00	3.00	C	7.00	21.00															
		Total Credit --				FINAL CGPI --				FINAL GRADE --																		
7075523	BHOIR RUPAM SUNIL REKHA 2022016402274297 (76)Navi Mumbai-(428)	42871 132	16	48	42872 133	15	48	MEL701 13	33	MEL702 17	37	MEL703 21	38	MEP701 40	40	Successful 22.00	146.00											
		4.00	E	5.00	20.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	3.00	O	10.00	30.00	6.64	--	
		42874 140	12	52	42876 148	9	57	42885 158	10	68																		
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Mechanical Engineering) - B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date: 05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT																				
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G																			
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11																												
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G																					
7075524	AIMAN RASHID BHUNDA MEENAZ 2021016402141793 (76)Navi Mumbai-(428)	42871 39+	8+	47	32+	9+	41	12+	22+	34	12+	25	17+	38	38+	38	12+	13+	21+	3.00	E	5.00	20.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00	5.59	--	
		42874 32+	10+	42	48	8+	56	36+	8+	44										3.00	P	4.00	12.00	3.00	D	6.00	18.00	3.00	P	4.00	12.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																																				
7075525	BINNAR SANTOSH BHAUSAHEB ALKA 2021016402181635 (76)Navi Mumbai-(428)	42871 38	14	52	60	17	77	12	33	18	36	21	37	40	40	40	18	18	16	3.00	D	6.00	24.00	3.00	A	9.00	27.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	7.18	--	
		42874 32	14	46	48	8	56	50	10	60											3.00	E	5.00	15.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																																				
7075526	BOLYE SAHIL VILAS VIBHA 2022016402275111 (76)Navi Mumbai-(428)	42871 35	16	51	42	12	54	13	33	19	37	21	37	40	40	40	20	18	16	3.00	D	6.00	24.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	7.05	--	
		42874 42	12	54	58	9	67	54	10	64											3.00	D	6.00	18.00	3.00	C	7.00	21.00	3.00	C	7.00	21.00														
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																																				

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7075527	BOMBLE PRATIK AJAY ANAGHA 2022016402275304 (76)Navi Mumbai-(428)	42871 34+	8+	42	42872 42	12+	54	MEL701 ---	22+	46	MEL702 ---	21+	45	MEL703 ---	21+	44	MEP701 ---	36+	36	Successful 22.00 136.00							
		4.00 P	4.00	16.00	3.00 D	6.00	18.00	1.00 O	10.00	10.00	1.00 O	10.00	10.00	1.00 O	10.00	10.00	3.00 B	8.00	24.00	6.18	--						
		42874 38+	10+	48	42876 38+	9+	47	42885 48	8+	56																	
		3.00 E	5.00	15.00	3.00 E	5.00	15.00	3.00 D	6.00	18.00																	
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	
7075528	GAIKAR SIDDHESH VINAYAK VAISHALI 2022016402274324 (76)Navi Mumbai-(428)	42871 51	17	68	42872 59	16	75	MEL701 ---	16	37	MEL702 ---	19	39	MEL703 ---	22	40	MEP701 ---	39	39	Successful 22.00 187.00							
		4.00 C	7.00	28.00	3.00 A	9.00	27.00	1.00 B	8.00	8.00	1.00 A	9.00	9.00	1.00 O	10.00	10.00	3.00 A	9.00	27.00	8.50	--						
		42874 58	18	76	42876 70	8	78	42885 62	11	73																	
		3.00 A	9.00	27.00	3.00 A	9.00	27.00	3.00 B	8.00	24.00																	
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	
7075529	SARVESH MILIND GOLE MANDA 2022016402274742 (76)Navi Mumbai-(428)	42871 45	9+	54	42872 36	15+	51	MEL701 ---	20+	37	MEL702 ---	19+	39	MEL703 ---	18+	34	MEP701 ---	42+	42	Successful 22.00 153.00							
		4.00 D	6.00	24.00	3.00 D	6.00	18.00	1.00 B	8.00	8.00	1.00 A	9.00	9.00	1.00 C	7.00	7.00	3.00 O	10.00	30.00	6.95	--						
		42874 44+	17	61	42876 48+	9+	57	42885 39+	12+	51																	
		3.00 C	7.00	21.00	3.00 D	6.00	18.00	3.00 D	6.00	18.00																	
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT				
Mother Name	PRN.	CR	GR	GP	C*G	CR	GR	GP	C*G	CR C*G																				

CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		

7075530	GONDHALI ROHIT RAGHUNATH BHARTI	42871	34	8+	42	42872	33	14+	47	MEL701	--	10+	26	MEL702	--	19+	37	MEL703	--	12+	30	MEP701	--	44+	44	Successful	22.00	124.00
	2021016402136061	4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	5.64	--	
	(76)Navi Mumbai-(428)	42874	32+	10+	42	42876	36+	9+	45	42885	37+	12+	49															
		3.00	P	4.00	12.00	3.00	E	5.00	15.00	3.00	E	5.00	15.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		

7075531	GUNALE KIRAN RAJU MANGAL	42871	40	13	53	42872	60	14	74	MEL701	--	14	37	MEL702	--	18	41	MEL703	--	22	39	MEP701	--	36	36	Successful	22.00	171.00
	2022016402274951	4.00	D	6.00	24.00	3.00	B	8.00	24.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	3.00	B	8.00	24.00	7.77	--	
	(76)Navi Mumbai-(428)	42874	48	13	61	42876	64	8	72	42885	67	12	79															
		3.00	C	7.00	21.00	3.00	B	8.00	24.00	3.00	A	9.00	27.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		

7075532	JADHAV SANDESH SURESH SEEMA	42871	28F	12E	40	42872	34E	13E	47	MEL701	--	14E	30	MEL702	--	16E	33	MEL703	--	21E	37	MEP701	--	35E	35	Unsuccessful	--	--
	2022016402288057	4.00	F	0.00	0.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	B	8.00	24.00	--	--	
	(76)Navi Mumbai-(428)	42874	17F	16E	33	42876	32E	8E	40	42885	45E	11E	56															
		3.00	F	0.00	0.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00															
		Total Credit --				FINAL CGPI --				FINAL GRADE --																		

/ - FEMALE, # - 0.229A ,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		Total				Total				Total				Total				Total											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7075533	SHANDIPKUMAR SUDHA JAISWAL	42871	20F	9+	29	42872	52+	13+	65	MEL701	--	22+	41	MEL702	--	21+	42	MEL703	--	20+	38	MEP701	--	39+	39	Unsuccessful		22.00	--
	2021016402138817	4.00	F	0.00	0.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00	-- --			
	(76)Navi Mumbai-(428)	42874	42+	15+	57	42876	32+	8+	40	42885	38+	14+	52																
		3.00	D	6.00	18.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			
7075534	KAMBLE HARSH GAUTAM JYOTI	42871	AA	8+	8	42872	32+	8+	40	MEL701	--	11+	23	MEL702	--	11+	21	MEL703	--	10+	20	MEP701	--	20+	20	ABS		-- --	
	2018016401732882	4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	E	5.00	5.00	1.00	P	4.00	4.00	1.00	P	4.00	4.00	3.00	P	4.00	12.00	-- --			
	(76)Navi Mumbai-(428)	42874	32+	8+	40	42876	38+	11+	49	42885	32+	9+	41																
		3.00	P	4.00	12.00	3.00	E	5.00	15.00	3.00	P	4.00	12.00																
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
7075535	SHREYAS BHAGYWAN KAMBLE REKHA	42871	33+	11	44	42872	38	8+	46	MEL701	--	15+	38	MEL702	--	18+	34	MEL703	--	20+	42	MEP701	--	41+	41	Successful		22.00	144.00
	2021016402133751	4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	6.55 --			
	(76)Navi Mumbai-(428)	42874	47+	8+	55	42876	42+	9	51	42885	55+	9+	64																
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075536	KARALE PRATIK DWARKANATH PRAGATI	42871	42	14	56	42872	44	14	58	MEL701	--	13	33	MEL702	--	17	35	MEL703	--	20	36	MEP701	--	40	40	Successful
	2021016402177742	4.00	D	6.00	24.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	6.91 --
	(76)Navi Mumbai-(428)	42874	41	12	53	42876	46	9	55	42885	51	12	63													
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075537	KAVACHE SAPREM SHIVPUTRA DHANNAMA	42871	36+	17	53	42872	42+	15+	57	MEL701	--	21+	40	MEL702	--	21+	36	MEL703	--	20+	40	MEP701	--	35+	35	Successful
	2022016402271047	4.00	D	6.00	24.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	3.00	B	8.00	24.00	7.00 --
	(76)Navi Mumbai-(428)	42874	46+	9+	55	42876	52+	11+	63	42885	48+	15+	63													
		3.00	D	6.00	18.00	3.00	C	7.00	21.00	3.00	C	7.00	21.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075538	MAHALE HARSH VIJAY URMILA	42871	37	15	52	42872	60	17	77	MEL701	--	16	32	MEL702	--	20	40	MEL703	--	21	38	MEP701	--	39	39	Successful
	2022016402287441	4.00	D	6.00	24.00	3.00	A	9.00	27.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00	7.45 --
	(76)Navi Mumbai-(428)	42874	44	17	61	42876	53	8	61	42885	43	15	58													
		3.00	C	7.00	21.00	3.00	C	7.00	21.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT	
		CR	GR	GP	C*G	CR	C*G																				

CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11										
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G			
7075539	PANDA AADITYA DURGACHARAN SUKANTI	42871	40	12	52	42872	155	17	72	MEL701	--	20	36	MEL702	--	21	43	MEL703	--	22	39	MEP701	--	39	39	Successful	22.00	162.00
	2022016402286186	4.00	D	6.00	24.00	3.00	B	8.00	24.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00	7.36	--	
	(76)Navi Mumbai-(428)	42874	138	16	54	42876	41	8	49	42885	59	18	77															
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	A	9.00	27.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		

7075540	PATIL SWARAJ RAJEEV VIJAYA	42871	32	8+	40	42872	36+	12+	48	MEL701	--	17+	38	MEL702	--	21+	38	MEL703	--	19+	42	MEP701	--	43+	43	Successful	22.00	137.00
	2022016402288274	4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	6.23	--	
	(76)Navi Mumbai-(428)	42874	35+	13+	48	42876	40+	9+	49	42885	43+	16+	59															
		3.00	E	5.00	15.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		

7075541	RASAL UMESH RAMESH RESHMA	42871	33	13	46	42872	38	17	55	MEL701	--	16	32	MEL702	--	21	42	MEL703	--	21	38	MEP701	--	39	39	Successful	22.00	142.00
	2022016402287901	4.00	E	5.00	20.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00	6.45	--	
	(76)Navi Mumbai-(428)	42874	39	17	56	42876	38	9	47	42885	40	15	55															
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 | MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 | 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 | 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 | 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 | 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 | 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075542	SHINGADE OM SHIVAJI KALPANA 2021016402143761 (76)Navi Mumbai-(428)	42871 34E	8+	42		42872 32+	9+	41		MEL701 --	13+	27		MEL702 --	18+	33		MEL703 --	16+	37		MEP701 --	40+	40	22.00 --	
		4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	-- --
		42874 6F	12+	18		42876 32+	8+	40		42885 40+	9+	49														
		3.00	F	0.00	0.00	3.00	P	4.00	12.00	3.00	E	5.00	15.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075543	SINGH AKASH SHYAMSUNDAR SANDHYA 2021016402188674 (76)Navi Mumbai-(428)	42871 37	11	48		42872 47	13	60		MEL701 --	12	27		MEL702 --	13	32		MEL703 --	20	37		MEP701 --	42	42	22.00 149.00	
		4.00	E	5.00	20.00	3.00	C	7.00	21.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	6.77 --
		42874 41	14	55		42876 44	10	54		42885 52	11	63														
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	C	7.00	21.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075544	SINGH VARUN VIJAYPRATAP ANJU SINGH 2021016402137137 (76)Navi Mumbai-(428)	42871 32+	8+	40		42872 57	14+	71		MEL701 --	15+	38		MEL702 --	16+	37		MEL703 --	19+	41		MEP701 --	38+	38	22.00 142.00	
		4.00	P	4.00	16.00	3.00	B	8.00	24.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	3.00	A	9.00	27.00	6.45 --
		42874 36+	8+	44		42876 46	10+	56		42885 45+	13+	58														
		3.00	P	4.00	12.00	3.00	D	6.00	18.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT CR C*G SGPI GRADE							
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR		GP	C*G					
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11													
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G						
7075545	THAMPY SOURABH RAJMOHAN LATA 2021016402178103 (76)Navi Mumbai-(428)	42871 51	11	62	42872 17	74	42873 15	11	26	42874 14	32	42875 17	20	37	42876 40	40	42877 40	40	40	40	40	Successful 22.00 169.00 7.68 --					
		4.00	C	7.00	28.00	3.00	B	8.00	24.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	7.68	--
		42874 32	14	46	42876 11	62	42885 18	83																			
		3.00	E	5.00	15.00	3.00	C	7.00	21.00	3.00	O	10.00	30.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			
7075546	WAGHELA HARSH RAMESH RANJAN 2021016402191622 (76)Navi Mumbai-(428)	42871 32	13	45	42872 14	62	42873 16	12	28	42874 18	37	42875 17	22	39	42876 42	42	42877 42	42	42	42	42	Successful 22.00 154.00 7.00 --					
		4.00	E	5.00	20.00	3.00	C	7.00	21.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	3.00	O	10.00	30.00	7.00	--
		42874 44	15	59	42876 11	66	42885 18	64																			
		3.00	D	6.00	18.00	3.00	C	7.00	21.00	3.00	C	7.00	21.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			
7075547	YADAV NIRAJ RAMESH MEENA 2021016402175372 (76)Navi Mumbai-(428)	42871 37	11	48	42872 16	70	42873 15	14	29	42874 21	39	42875 17	20	37	42876 42	42	42877 42	42	42	42	42	Successful 22.00 166.00 7.55 --					
		4.00	E	5.00	20.00	3.00	B	8.00	24.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	7.55	--
		42874 49	16	65	42876 10	73	42885 17	74																			
		3.00	C	7.00	21.00	3.00	B	8.00	24.00	3.00	B	8.00	24.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		Total				Total				Total				Total				Total								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075548	JADHAV AKASH MARUTI MANISHA 2019016401667731 (76)Navi Mumbai-(428)	42871 AA	8+	8		42872 AA	10+	10		MEL701 --	14+	29		MEL702 --	18+	40		MEL703 --	22+	44		MEP701 --	45+	45	ABS	
		4.00	F	0.00	0.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	-- --
		42874 32+	12+	44		42877 AA	11+	11		42883 39+	12+	51														
		3.00	P	4.00	12.00	3.00	F	0.00	0.00	3.00	D	6.00	18.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
7075549	SURWADE OMKAR SANJAY DURGA 2021016402261984 (76)Navi Mumbai-(442)	42871 45+	13+	58		42872 32+	10+	42		MEL701 --	14+	34		MEL702 --	20+	41		MEL703 --	18+	38		MEP701 --	38+	38	Unsuccessful	
		4.00	D	6.00	24.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00	3.00	A	9.00	27.00	-- --
		42874 32+	14+	46		42876 18F	8+	26		42885 32+	9+	41														
		3.00	E	5.00	15.00	3.00	F	0.00	0.00	3.00	P	4.00	12.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075550	RANE YATIN ANIL ASHWINI 2020016402156965 (76)Navi Mumbai-(442)	42871 AA	8+	8		42872 52+	10+	62		MEL701 --	19+	42		MEL702 --	21+	36		MEL703 --	13+	33		MEP701 --	40+	40	Unsuccessful	
		4.00	F	0.00	0.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00	3.00	O	10.00	30.00	-- --
		42874 35E	8+	43		42876 32+	10+	42		42883 35+	10+	45														
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	E	5.00	15.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075551	PRASAD SANJAY SALUNKE SAVITA 2017016402395474 (76)Navi Mumbai-(442)	42871 32+	8+	40	42872 32+	8+	40	MEL701 19+	16+	35	MEL702 17+	21+	38	MEL703 18+	17+	35	MEP701 40+	40	40	22.00	128.00	5.82	--			
		4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	
		42874 32+	8+	40	42876 50	8+	58	42883 41+	8+	49																
		3.00	P	4.00	12.00	3.00	D	6.00	18.00	3.00	E	5.00	15.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075552	MOMIN MOHAMMED HAMDAD GAUSE MOHAMMED - NASRIN BANO 2020016402157624 (76)Navi Mumbai-(442)	42871 38+	11+	49	42872 32+	9+	41	MEL701 19+	19+	39	MEL702 18+	18+	36	MEL703 22+	22+	45	MEP701 43+	43	43	22.00	--	--	--			
		4.00	E	5.00	20.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00	
		42875 36+	8+	44	42876 0F	8+	8	42883 33+	9+	42																
		3.00	P	4.00	12.00	3.00	F	0.00	0.00	3.00	P	4.00	12.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075553	SHAIKH MOHAMMED FAHEE JAHEER HUSSAIN - RESHMA BI 2021016402192006 (76)Navi Mumbai-(690)	42871 AA	11+	11	42872 39+	16+	55	MEL701 19+	19+	38	MEL702 18+	18+	36	MEL703 22+	22+	42	MEP701 35+	35	35	--	--	--	--			
		4.00	F	0.00	0.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00	3.00	B	8.00	24.00	
		42874 AA	8+	8	42877 34+	9+	43	42879 AA	16+	16																
		3.00	F	0.00	0.00	3.00	P	4.00	12.00	3.00	F	0.00	0.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT CR C*G SGPI GRADE							
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR		GP	C*G					
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11													
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G						
7075554	BADAD MANDAR NANDKUMAR PRIYANKA 2020016402180484 (121)Sangameshwar-(523)	42871 33+	10+	43	42872 37+	10+	47	MEL701 20+	37	MEL702 19+	33	MEL703 18+	36	MEP701 43+	43	22.00	--	Unsuccessful									
		4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	--	--
		42874 39+	12+	51	42878 7F	12+	19	42879 34+	11+	45																	
		3.00	D	6.00	18.00	3.00	F	0.00	0.00	3.00	E	5.00	15.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			
7075555	CHAVAN HARDIK NITIN SHRADDHA 2020016402180395 (121)Sangameshwar-(523)	42871 32+	8+	40	42872 17F	8+	25	MEL701 19+	35	MEL702 18+	33	MEL703 18+	37	MEP701 38+	38	22.00	--	Unsuccessful									
		4.00	P	4.00	16.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00	3.00	A	9.00	27.00	--	--
		42874 14F	8+	22	42878 32+	8+	40	42879 42+	10+	52																	
		3.00	F	0.00	0.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			
7075556	DALVI SAHARSH UMESH ARCHANA 2022016402323036 (121)Sangameshwar-(523)	42871 40+	8+	48	42872 32+	8+	40	MEL701 17+	29	MEL702 16+	28	MEL703 19+	31	MEP701 32+	32	22.00	114.00	Successful									
		4.00	E	5.00	20.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	3.00	C	7.00	21.00	5.18	--	--	--		
		42874 32	8	40	42878 35+	9+	44	42879 47+	8+	55																	
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	D	6.00	18.00														
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																			

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11				Total							
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
7075557	KHAMKAR AKSHAY VISHNU SHRADDHA 2022016402323075 (121) Sangameshwar-(523)	42871 32+	9+	41		42872 36+	8+	44		MEL701 --	17+	31		MEL702 --	18+	30		MEL703 --	14+	27		MEP701 --	31+	31	22.00 --	Unsuccessful			
		4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00	3.00	C	7.00	21.00	-- --			
		42874 32+	8+	40		42878 7F	10+	17		42879 32+	9+	41																	
		3.00	P	4.00	12.00	3.00	F	0.00	0.00	3.00	P	4.00	12.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			
7075558	MOHITE TEJAS VIJAY VAISHNAVI 2021016402270325 (121) Sangameshwar-(523)	42871 37E	9E	46		42872 34E	9E	43		MEL701 --	18E	29		MEL702 --	14E	28		MEL703 --	20E	37		MEP701 --	40E	40	-- --	Unsuccessful			
		4.00	E	5.00	20.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	-- --			
		42874 43E	15E	58		42878 1F	11E	12		42879 43E	12E	55																	
		3.00	D	6.00	18.00	3.00	F	0.00	0.00	3.00	D	6.00	18.00																
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
7075559	PATIL SAMEER SATAPPA SARITA 2021016402276295 (121) Sangameshwar-(523)	42871 32+	8+	40		42872 32+	8+	40		MEL701 --	17+	32		MEL702 --	16+	27		MEL703 --	18+	33		MEP701 --	33+	33	22.00 --	Unsuccessful			
		4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00	1.00	C	7.00	7.00	3.00	C	7.00	21.00	-- --			
		42874 23F	9+	32		42878 42+	11+	53		42879 40+	9+	49																	
		3.00	F	0.00	0.00	3.00	D	6.00	18.00	3.00	E	5.00	15.00																
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																			

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR		GP	C*G	
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11									
		Total			Total			Total			Total			Total									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
7075560	KHAN AMAN ALIF RESHMA 2021016402144795 (98)Bhoisar-(802)	42871 39E	10+	49	49	42872 35+	12+	47	47	MEL701 --	21+	43	43	MEL702 --	21+	43	43	MEL703 --	21+	40	40	40	Unsuccessful 22.00 --
		4.00	E	5.00	20.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O 10.00 30.00
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --															
7075561	YADAV SATYENDRA RAMESH RAMAVATI 2017016401839216 (98)Bhoisar-(802)	42871 32	8+	40	40	42872 37+	13+	50	50	MEL701 --	17+	36	36	MEL702 --	14+	27	27	MEL703 --	14+	28	28	28	Successful 22.00 135.00
		4.00	P	4.00	16.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	3.00	A 9.00 27.00
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --															
7075562	SHAIKH ALTAMASH JAMIL TABASSUM - SANA 2020016402037634 (98)Bhoisar-(802)	42871 32	10+	42	42	42872 33+	9+	42	42	MEL701 --	22+	45	45	MEL702 --	23+	45	45	MEL703 --	24+	44	44	44	Successful 22.00 130.00
		4.00	P	4.00	16.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O 10.00 30.00
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --															

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1			PAPER 2			PAPER 3			PAPER 4			PAPER 5			PAPER 6			RESULT					
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR C*G	SGPI GRADE		
CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
7075563	ASHUTOSH DILIP BHOYE ASHA	42871				42872				MEL701				MEL702				MEL703				MEP701	ABS		
		AA	8+	8		46+	13+	59		--	21+	43		--	21+	43		--	22+	41		--	40+	40	
	2019016401827094	4.00	F	0.00	0.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00
	(98)Bhoisar-(802)	42874				42876				42879															
		38+	14+	52		AA	14+	14		AA	9+	9													
		3.00	D	6.00	18.00	3.00	F	0.00	0.00	3.00	F	0.00	0.00												
		Total Credit --			FINAL CGPI --			FINAL GRADE --																	
7075564	CHAUHAN PRITAM DINESH SUNITA	42871				42872				MEL701				MEL702				MEL703				MEP701	Successful		
		32	8+	40		33+	12+	45		--	21+	42		--	20+	41		--	24+	44		--	40+	40	
	2019016401827314	4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	O	10.00	30.00
	(98)Bhoisar-(802)	42874				42876				42879															
		32+	11+	43		38+	10+	48		33+	14+	47													
		3.00	P	4.00	12.00	3.00	E	5.00	15.00	3.00	E	5.00	15.00												
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																	
7075565	PRASAD NISHURANJAN RAMASHRAY POOJADEVI	42871				42872				MEL701				MEL702				MEL703				MEP701	Unsuccessful		
		26F	8+	34		32+	8+	40		--	21+	41		--	21+	42		--	22+	42		--	37+	37	
	2018016400506236	4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	B	8.00	24.00
	(98)Bhoisar-(802)	42874				42876				42879															
		41+	11+	52		42E	10+	52		43+	8+	51													
		3.00	D	6.00	18.00	3.00	D	6.00	18.00	3.00	D	6.00	18.00												
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
7075566	ROHIT DIPAK AUTI MANISHA	42871	32+	9+	41	42872	42+	9+	51	MEL701	--	18+	37	MEL702	--	19+	39	MEL703	--	20+	40	MEP701	--	29+	29	Successful 22.00 136.00
	2021016402246404	4.00	P	4.00	16.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	6.18 --
	(150)Badlapur-(889)	42874	39+	11+	50	42876	46+	16+	62	42879	46	11+	57													
		3.00	D	6.00	18.00	3.00	C	7.00	21.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075567	BANSODE PRATIK JALINDAR ARUNA	42871	32+	11+	43	42872	34+	11+	45	MEL701	--	19+	39	MEL702	--	20+	41	MEL703	--	20+	40	MEP701	--	28+	28	Successful 22.00 129.00
	2021016402261067	4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	5.86 --
	(150)Badlapur-(889)	42874	33+	18+	51	42876	32+	17+	49	42879	39	12+	51													
		3.00	D	6.00	18.00	3.00	E	5.00	15.00	3.00	D	6.00	18.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																
7075568	AMOL SHAM BHOPE REKHA	42871	41	8+	49	42872	55+	8+	63	MEL701	--	19+	39	MEL702	--	19+	37	MEL703	--	18+	38	MEP701	--	32+	32	Successful 22.00 157.00
	2021016402256751	4.00	E	5.00	20.00	3.00	C	7.00	21.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	3.00	C	7.00	21.00	7.14 --
	(150)Badlapur-(889)	42874	42+	17+	59	42876	67+	15+	82	42879	52	12+	64													
		3.00	D	6.00	18.00	3.00	O	10.00	30.00	3.00	C	7.00	21.00													
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

NO.	Mother Name PRN.	Total			Total			Total			Total			Total			Total			CR C*G	SGPI GRADE					
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR			GP	C*G			

CENTRE-COLLEGE		PAPER 7			PAPER 8			PAPER 9			PAPER 10			PAPER 11												
		Total			Total			Total			Total			Total												
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G					

7075572	MANDEEP KAUSHAL SHANTA KUMARI	42871				42872				MEL701				MEL702				MEL703				MEP701				Unsuccessful
		15F	AA		15	24F	AA		24	--	16E		31	--	14E		29	--	14E		28	--	25E		25	-- --
	2021016402261632	4.00	F	0.00	0.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	-- --
	(150)Badlapur-(889)	42874				42876				42879																
		32E	6F		38	26F	8E		34	37E	5F		42													
		3.00	F	0.00	0.00	3.00	F	0.00	0.00	3.00	F	0.00	0.00													
		Total Credit --			FINAL CGPI --			FINAL GRADE --																		

7075573	SHRIDHAR POPATRAO KHOT PRIYANKA	42871				42872				MEL701				MEL702				MEL703				MEP701				Successful
		36	8+		44	43+	8+		51	--	18+		37	--	20+		39	--	21+		40	--	35+		35	22.00 130.00
	2022016402292426	4.00	P	4.00	16.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00	3.00	B	8.00	24.00	5.91 --
	(150)Badlapur-(889)	42874				42876				42879																
		34+	9+		43	46+	9+		55	41+	8+		49													
		3.00	P	4.00	12.00	3.00	D	6.00	18.00	3.00	E	5.00	15.00													
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																		

7075574	MHADAYE AKSHAY ANIL NAMRATA	42871				42872				MEL701				MEL702				MEL703				MEP701				Successful
		32	8+		40	37+	8+		45	--	19+		39	--	20+		39	--	19+		38	--	29+		29	22.00 112.00
	2021016402261647	4.00	P	4.00	16.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	5.09 --
	(150)Badlapur-(889)	42874				42876				42879																
		32	8+		40	32+	8+		40	32+	8+		40													
		3.00	P	4.00	12.00	3.00	P	4.00	12.00	3.00	P	4.00	12.00													
		Total Credit 22.00			FINAL CGPI --			FINAL GRADE --																		

/ - FEMALE, # - 0.229A ,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name	PAPER 1 Total	PAPER 2 Total	PAPER 3 Total	PAPER 4 Total	PAPER 5 Total	PAPER 6 Total	RESULT Total CR C*G
----------	--------------------------------------	------------------	------------------	------------------	------------------	------------------	------------------	-------------------------

CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11										
		Total				Total				Total				Total				Total										
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G			
7075580	YANKULE PRATIK SHASHIKANT SADHANA	42871	4F	13E	17	42872	AA	15E	15	MEL701	---	AA	12	MEL702	---	AA	12	MEL703	---	AA	12	MEP701	---	29+	29	Unsuccessful	22.00	--
	2021016402262496	4.00	F	0.00	0.00	3.00	F	0.00	0.00	1.00	F	0.00	0.00	1.00	F	0.00	0.00	1.00	F	0.00	0.00	3.00	D	6.00	18.00	--	--	
	(150)Badlapur-(889)	42874	32E	13E	45	42876	39E	13E	52	42879	40E	9E	49															
		3.00	E	5.00	15.00	3.00	D	6.00	18.00	3.00	E	5.00	15.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		
7075581	YADAV PRINCE UDAYSHYAM INDU	42871	40	8+	48	42872	51+	14+	65	MEL701	---	18+	35	MEL702	---	20+	38	MEL703	---	18+	38	MEP701	---	40+	40	Successful	22.00	142.00
	2018016401783672	4.00	E	5.00	20.00	3.00	C	7.00	21.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00	3.00	O	10.00	30.00	6.45	--	
	(150)Badlapur-(948)	42874	35+	12+	47	42876	32+	13+	45	42883	32+	16+	48															
		3.00	E	5.00	15.00	3.00	E	5.00	15.00	3.00	E	5.00	15.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		
7075582	GAIKWAD RUSHIKESH MANOHAR MINAL	42871	27F	8+	35	42872	34+	8+	42	MEL701	---	20+	39	MEL702	---	18+	35	MEL703	---	19+	37	MEP701	---	41+	41	Unsuccessful	22.00	--
	2021016402406154	4.00	F	0.00	0.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00	3.00	O	10.00	30.00	--	--	
	(152)kumbhivali-(990)	42873	32+	10+	42	42877	38+	8+	46	42885	33+	9+	42															
		3.00	P	4.00	12.00	3.00	E	5.00	15.00	3.00	P	4.00	12.00															
		Total Credit 22.00				FINAL CGPI --				FINAL GRADE --																		

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, ---:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG /aC
 MARKS : 0 to 39.99 P 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E.(with credits) - Regular - CBCS(Mechanical Engineering)- B.E. C-Scheme - Sem VII HELD IN Summer 2025 Result Declaration Date:05 Jul 2025

42871-Design of Mechanical System: ThUA 80/32 ThCA 20/8 100/0 | 42872-Logistics and Supply Chain Management: ThUA 80/32 ThCA 20/8 100/0 | MEL701-Design of Mechanical System: PrCA 25/10 TwCA 25/10 50/0 |
 MEL702-Maintenance Engineering: PrCA 25/10 TwCA 25/10 50/0 | MEL703-Industrial Skills: PrCA 25/10 TwCA 25/10 50/0 | MEP701-Major Project I: TwCA 50/20 50/0 |
 42873-Automotive Power Systems: ThUA 80/32 ThCA 20/8 100/0 | 42874-Renewable Energy Systems: ThUA 80/32 ThCA 20/8 100/0 | 42875-Vehicle Systems: ThUA 80/32 ThCA 20/8 100/0 |
 42876-Machinery Diagnostics: ThUA 80/32 ThCA 20/8 100/0 | 42877-Vibration Controls: ThUA 80/32 ThCA 20/8 100/0 | 42878-Advanced Vibration: ThUA 80/32 ThCA 20/8 100/0 |
 42879-Product Lifecycle Management: ThUA 80/32 ThCA 20/8 100/0 | 42880-Reliability Engineering: ThUA 80/32 ThCA 20/8 100/0 | 42881-Management Information System: ThUA 80/32 ThCA 20/8 100/0 |
 42882-Design of Experiments: ThUA 80/32 ThCA 20/8 100/0 | 42883-Operation Research: ThUA 80/32 ThCA 20/8 100/0 | 42884-Cyber Security and Laws: ThUA 80/32 ThCA 20/8 100/0 |
 42885-Disaster Management and Mitigation Measures: ThUA 80/32 ThCA 20/8 100/0 | 42886-Energy Audit and Management: ThUA 80/32 ThCA 20/8 100/0 | 42887-Development Engineering: ThUA 80/32 ThCA 20/8 100/0 |

SEAT NO.	NAME OF THE CANDIDATE	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT					
		Total				Total				Total				Total				Total				Total		CR C*G							
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	SGPI	GRADE
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11													


```

-----
7075589 PATIL RUCHIT DINESH |42871 |42872 |MEL701 |MEL702 |MEL703 |MEP701 | Successful
SUJATA |32 8 40 |36 15 51 |--- 18 36 |--- 19 38 |--- 19 38 |--- 45 45 | 22.00 150.00
| | | | | | | | | | | | | |
2021016402407753 |4.00 P 4.00 16.00 |3.00 D 6.00 18.00 |1.00 B 8.00 8.00 |1.00 A 9.00 9.00 |1.00 A 9.00 9.00 |3.00 O 10.00 30.00 | 6.82 --
-----
(152) kumbhivali-(990) |42873 |42877 |42885 | | | |
|45 12 57 |55 10 65 |57 12 69 | | | | | | | | | |
| | | | | | | | | | | | |
|3.00 D 6.00 18.00 |3.00 C 7.00 21.00 |3.00 C 7.00 21.00 | | | | |
| | | | | | | | | | | | |
Total Credit 22.00 FINAL CGPI -- FINAL GRADE --
-----

```

```

-----
7075590 PATIL SATYAM KAILAS |42871 |42872 |MEL701 |MEL702 |MEL703 |MEP701 | Successful
NEETA |47 11 58 |61 18 79 |--- 18 36 |--- 19 38 |--- 19 38 |--- 45 45 | 22.00 164.00
| | | | | | | | | | | | | |
2021016402395711 |4.00 D 6.00 24.00 |3.00 A 9.00 27.00 |1.00 B 8.00 8.00 |1.00 A 9.00 9.00 |1.00 A 9.00 9.00 |3.00 O 10.00 30.00 | 7.45 --
-----
(152) kumbhivali-(990) |42873 |42877 |42885 | | | |
|53 14 67 |34 15 49 |52 16 68 | | | | | | | | | |
| | | | | | | | | | | | |
|3.00 C 7.00 21.00 |3.00 E 5.00 15.00 |3.00 C 7.00 21.00 | | | | |
| | | | | | | | | | | | |
Total Credit 22.00 FINAL CGPI -- FINAL GRADE --
-----

```

```

-----
7075591 VICHARE VEDANT SANTOSH |42871 |42872 |MEL701 |MEL702 |MEL703 |MEP701 | Successful
SHARAYU |41 8 49 |64 12 76 |--- 19 37 |--- 19 38 |--- 19 38 |--- 45 45 | 22.00 169.00
| | | | | | | | | | | | | |
2021016402394514 |4.00 E 5.00 20.00 |3.00 A 9.00 27.00 |1.00 B 8.00 8.00 |1.00 A 9.00 9.00 |1.00 A 9.00 9.00 |3.00 O 10.00 30.00 | 7.68 --
-----
(152) kumbhivali-(990) |42873 |42877 |42885 | | | |
|44 15 59 |44 10 54 |70 14 84 | | | | | | | | | |
| | | | | | | | | | | | |
|3.00 D 6.00 18.00 |3.00 D 6.00 18.00 |3.00 O 10.00 30.00 | | | | |
| | | | | | | | | | | | |
Total Credit 22.00 FINAL CGPI -- FINAL GRADE --
-----

```

```

-----
/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
aC:sum of credit points GPA: aCG /aC
MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
GRADE : F P E D C B A O
GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00
-----

```